Air Cylinder
CG1 Series

Female rod end
available as
standard

Rod end types

suitable for the
application can
be selected.

Easy fine adjustment of auto switch position

Fine adjustment of the auto switch position
is possible by simply loosening the screw
attached to the auto switch.

Transparent switch bracket improves
visibility of indicator LED.

(Fine adjustment of auto swilch

LED color indicator,

No trunnion mounting female thread

added to basic type variation

No foreign matter accumulation due

to the simple construction

No trunnion mounting female thread
:
!
!
!
K

.
P =

’g‘

()
=
@

oll=zl=ll=s]o
= =
NP

oo
Al
N || =



Part numbers with rod end bracket and/or pivot bracket available

Not necessary to order a bracket for the applicable cylinder separately
Note) Mounting bracket is shipped together with the product, but not assembled.

example) CDG1[D] N20-50Z- N W -M9BW
Mounting —l_ —l_

Pivot bracket N: Kit of pivot bracket | Kit of pivot bracket | [Li{JslIleleTE:To (3 With rod end bracket

Nil | None and clevis and trunnion Nil | None V: Single W: Double
knuckle joint knuckle joint
Pivot bracket is

shipped together

| il ‘" V | Single knuckle joint
| o - - -
N with the product, | Q )’1 «s o W | Double knuckle joint . p ‘i
but not assembled. |
| o

w D) Dl
P G52 5=
. : K | o
+ Applicable to only mounting D, _

UandT.

-

Various mounting bracket options -

« Suitable mounting brackets can be selected for “
the installation condition.

* Improved amount of mounting freedom /

T: Head trunnion

V: Single knuckle joint

% U: Rod trunnion
L: Axial foot

F: Rod flange
Basic (No trunnion mounting female thread)

Mounting brackets, accessories, and nut material: Stainless steel

The following accessories need to be prepared separately. (Please order separately.)
Refer to the “Accessories” page of each series for details.

W: Double knuckle joint

Bore size Foot Single Double |Mounting| Rod | Accessories
(mm) 00t ynuckie joint| knuckle joint|  nut end nut | page
20, 25, 32, 40, >:< -
50, 63, 80, 100 O ©] ©] O O p. 309-1

* Except bore size 20 and 25.

No environmental hazardous

Easy fine adjustment of auto switch position substances used

Fine adjustment of the auto switch set position can be performed by loosening the Compliant with EU RoHS directive.
auto swlit_ch_attached screw withogt loosening the auto syvitch mountling band. Lead free bushing is used as sliding material.
Operability improved compared with the current auto switch set position
adjustmen}, where thg complete switch mounting Screw attached to auto switch Specifications, performance and
band requires loosening. mounting method are same as the
l \ Auto switch current product.
g ¢¢ Grease is selectable. (Option)
- l © Grease for food pre ing equi (XC85)
Switch holder © PTFE grease (X446)

Visibility of the indicator
LED improved with the - Water resistant compact auto

transparent resin switch bracket switch now available
(Standard specification) . N
® Solid state auto switch D-M9[JA(V)

£\
w 4 Auto switch mounting screw

® 288



Stroke Variations

(mm)
Bora aize (mm) Standard stroke |
25 50 75 100 125 150 200 250 300
20 ¢ b d - b d - b d ’ [ I
25 | b d - - - - - - -
32 [ - - - ¢ - - - -
40 — - - - - - - - -
50 — N - N - - - - @ [t
63 — - - - - - - - - CJP
80 — - - - - - - - -
100 o9 9 9 9 9 9 9 9 [
Series Variations  For details about the clean series, refer to the “Pneumatic Clean Series” (CAT.E02-23). JCM
5 | Bore size (mm) Variations
Series @ Type  Cushion PER R e e e b ro:;{::q , Aihydro ;:::;,; Page cMm2
Standard = Rubbel cM3
oz < | 999999090 909 o3
» Page 292 m
Air
cushion * 0 ‘ Q 0 ‘ Q Q “ ch
Rubber
bumper Q Q ‘J Q Q Q Q Q ' “ Q JMB
Page 310
A MB
asion| 9999999 Q@
_ L MB1
'_‘; Single (SS::iglere:uor: Rubber Page 318
] = Y ﬂ Imgem) bumper e ee 9 CA2
Non-rotating rod Rubbe!
CG1K-Z . mumper| @ 9999 @ Cs1
B acting | Single rod Page 325
B _ Lw» A CS2
;/":"/ cusI:;on Q v Q
L ‘
% ing Doted P O O Q@ Q@ Page 330
6 —_—
Direct mount |
CGIRZ - o J= S5 S SRS RS S
;_- / I:!:;:Ige Single rod Page 334
R | @ @999 Q@
Direct mount |
" . Double| . Rubbe
go(r;‘lr?&t‘l_nzg ::.: = a'::"ge Single rod b:mpe: QOO Page 339
- |
With end lock Rubbe
cBGI \ umer| @ € €9 Q0 Q9O @
“ o ':2::': Single rod Page 343
) amon| @ @ 9 9 QOO O @
%rrgle.%ylindér' =2 I:z::lge Singlerod‘ :::,‘;Z’, Q ‘ 0 Q ‘ “ Q ‘ Best 'I::fﬂzj_rgatics
=Y
Low friction
cGgida N Use the new series “Smooth Cylinder CG1Y Series”
. e - to realize both-direction low friction and low-speed operation.
.ég o (Refer to the Best Pneumatics No. 2-3.)
D-(1
CG3 series _J @
Shorttype == ponel | Rubber| e _
Standard 53] acng 19 bumper 9 e9eeeOeQ age T
= ald
289

4 S\NC



Combinations of Standard Products and Made to Order Specifications
CG1 series

@ : Standard CG1 CG1K
© : Made to Order (Standard type) (Non-rotating rod type)
E Special ‘product (Please contact SMC for details.) Action/ Double acting Singe atng Double acting
: Not available TVpe . - -
Single rod Double rod Single rod Single rod Double rod
Rubber [ Air | Rubber | Air | Rubber | Rubber | Air | Rubber
Page 292 Page 310 Page 318 Page 325 Page 330
Specifications Applicable bore size 20 to 2100 020 to 040 | 820 to 863 | 640 to 663 | 820 to 263

Standard Standard [ ) [ ] [ ] [ ) [ ] [ ] [ ] [ ]
Long st Long stroke 20 to 100 [ ) [) [ [ @) @ @ @
D Built-in magnet [ ) [ ) [ ) [ ) [ ] [ ] [ ] [ ]
CG10F | With One-touch fittings Nt 15) 02010063 | @ O O O O O ®) o
CG10-00% | With rod boot 220 to 8100 @' @ @t @t O (@) @) O
CG10OH Air-hydro type 220 to 263 [ ) — (] — — — — —
10-, 11- Clean series 020 to 2100 [) o) @ " O —_ —_ —_
25A-Note9) | Copper (Cu) and Zinc (Zn)-free Note 15) 220 to 2100 [ ] [ ] O O O O O O
20- Note 9) Copper No© 8) and Fluorine-free 020 to 2100 [ ] [ ] [ ] [ ] O [ ) @) [ )
CG1 EI\'} Water resistant 32 to 2100 [ ) ) ) [ ] O —_ —_ —_
CG10OM Cylinder with stable lubrication function (Lube-retainer) | 820 to 2100 () O O O — — — —
XB6 Heat resistant cylinder (-10 to 150°C) Note 7) Ol © Ovd O O —_ —_ —
XB7 Cold resistant cylinder (~40 to 70°C) Note 7) o2 O e O @) — — —
XB9 Low speed cylinder (10 to 50 mm/s) 020100100 (@) O O O — — — —
XB13 Low speed cylinder (5 to 50 mm/s) © (@) O O — — — _
XCa With heavy duty scraper 032 to 063 © © O O O — — —
XC6 Made of stainless steel 220 to 2100 (@) (@) (@) (@) © — — —
XC8 Adjustable stroke cylinder/Adjustable extension type © (@) — — O @) O —
XC9 Adjustable stroke cylinder/Adjustable retraction type (@) (@) —_ —_ O (@) O —_
XC10 Dual stroke cylinder/Double rod type 220 to 963 (@) (@) — — O (@) (@) —
XC11 Dual stroke cylinder/Single rod type © (@) — — — O O —
XC12 Tandem cylinder © O _ _ _ o™ O 0
XC13 Auto switch rail mounting 220 to 2100 (@) (@) (@) (@) O (@) O O
XC20 Head cover axial port 020 to 063 © (@) — — (@) @) O —
XC22 Fluororubber seal ov O ov) O O O O O
oz [ooecemsmemenen)| Lo lelo]o]e]e]o]o
XC29 Double knuckle joint with spring pin (@] O @) @] O" O @] O
XC35 With coil scraper (@) (@) O O @) — — —
XC37 Larger throttle diameter of connection port 200,063 © (@) O O O O (@) (@)
XC42 sBi:Zt-m shock absorber in head cover o o _ _ 0 0 0 _
XC85 Grease for food processing equipment | 20 to 2100 (@) (@) (@) (@) (@) O O O
X446 PTFE grease 220 to 2100 (@) (@) @) O O — — —

Note 1) 240 to 863 only

Note 2) Without bumper

Note 3) 832 to 8100 only

Note 4) SV type only (Heat resistant grease is used.)

Note 5) 20 to 863 only

Note 6) Single acting/spring return type (S) only

Note 7) The products with an auto switch are not compatible.

® 290



CG1 series

Use the new series “Smooth Cylinder CG1Y Series”
to realize both-direction low friction and low-speed operation.
(Refer to the Best Pneumatics No. 2-3.) ‘|

~ CGIR e, | CBGTYe | CG1OYMe™ | cGI0Q
(Direct mount type) Non-rotating rod t‘y pe) (With end lock) |(Smooth Cylinder) | (Low friction type)
Double acting Double acting Double acting Double acting Double acting
Single rod Single rod Single rod Single rod Single rod
Rubber |  Air Rubber Rubber | Air = =
Page 334 Page 339 Page 343 Best Pneumatics No. -3 Page 354
220 to 063 220 to 063 220 to 2100 220 to 2100 220 to 2100 bo
o [ ] o o o [ ] [ ) Standard
O O O [ ) [ ) @\oe 10 o Long st
(] [ [ ] [ ] [ ] [ [ ] D
o [©) O O O ©) O CG10F
O O O [ [ ] O O CG10-00%
®) — — — — — — CG1OH
(] O — O O — — 10-, 11-
®) O ©) O O O ©) 25A- Note 9)
o | o o o | o — — 20-Noed)
O [®) — ) ) — — cG1t
O @) — — | = — — CG1OM
o* o — 0 0 — — XB6
el O — - | = — — XB7
ol O _ O @) — — XB9
o=t O _ — — — — XB13
o | o — o] o — — XC4
o | o — o | o o o XCé
© O ©Nots 15) OMMS} O?hl!ﬂ\ O O XC8
@ O © Note 15) omm Ommw O O XC9
o [©) O ©) O [©) O XC10
O O O O O O ©) XC11
®) [©) ©) O O — — XC12
©) O ©) ©) ©) o O XC13
©) O QMee™ | O O ©) O XC20
o%) O O [©) ©) — — XC22
@) O O O O ©) @) Xc27
(@] @) (@] O (@] @) (@] Xc29
®) O — O O — — XC35
o [©) O ©) O ©) O XC37
@) O O O O — — XC42
©) © ©] ©) O — — XC85
O O — — — — — X446

Note 8) Copper-free for the externally exposed part. For details, refer to the Web Catalog.
Note 9) For details, refer to the Web Catalog.

Note 10) Long stroke is beyond the performance guarantee.

Note 11) Female rod end is available as a special order.
Note 12) For details about the smooth cylinder, refer to the Best Pneumatics No. 2-3.

Note 13) Available only for locking at head end.

Note 14) Available only for locking at rod end.
Note 15) The shape is the same as the current product.

O
3

291

[z NN x]
= || C=
0 || =

5
C—
N

2|5
=
N=

H:

[
D
wW

MB1

[x)
>
N

oo
Al
N || =



Air Cylinder: Standard Type
Double Acting, Single Rod

G 1 Series
020, 925, 232, 340, 850, 963, 280, 100

How to Order

] CG1BIN20] -0
Mcnmmnzon |—|1oo| Z-T 1T

-MOBW| - |

With auto swnch -
(Built-in magnet) Bore size Pivot bracket Made to Order
Mounting 0] 20mm Nil None For details, refer to page 293.
B Basic 5 25 mm N| | Fivotbacketis sipped togeter Number of auto switches
Z* |Basic (without trunnion mounting female thread) 2| 32 mm Vith the product butnot assembled Nil 2 pcs.
L Axial foot 40| 40 mm # Only for D, U, T mounting types S 1 pc.
F Rod flange * Pivot bracket is shipped together IR
G Head ﬂangge g Zg Qm with the product, but not assembled. n n_pcs.
uU* Rod trunnion 0| 80 mm Rod end bracket Auto switch
T* Head trunnion 100] 100 mm Nil None [_Nil [ without auto switch
D Clevis V| Single knuckle joint |  * For applicable auto switches,
* Not available for 680 and ¢100. Type W__ | Double knuckle joint refer to the table below.
* Mounting bracket is shipped together with [N [ Rubber bumper « No bracket is provided for the female rod end.
the product, but not assembled. . LA [ Aircushion « Rod end bracket is shipped together with the product, but not assembled.
* The cylinder for F, G, L, D mounting types is Z: # A knuckle joint pin is not provided with the single knuckle joint.
Basic (without trunnion mounting female thread). . .
Port thread type e—— —— o Suffix for cylinder (Rod boot)
Rubber bumper Air cushion dRod end thread Nil Without rod boot
J Nylon tarpaulin
Nil Rc 02010 0100 [M5X0.8 | 020,025 [ Nil [Male rod end K H yion larp i
Rc 232 to 8100 [ F_[Female rod end eat resistant tarpaulin
TN NPT 020t0 2100 || NPT* | 032to 8100 * In the case of w/rod boot, and a foot bracket or
M5 x 0.8 220, 325 G* 032 to 2100 cylind trok rod flange as a bracket, those parts are to be
TF ) ylinder stroke (mm)
G 032 t0 8100 |« Not available for 820 and 025. Refer to “Standard Strokes” on page 293. assembled at the time of shipment.

+ For female rod end, no rod boot is provided.

= Refer to “Ordering of Cylinder A y” on page 294.

Applicable Auto SWItChes/Hefer to pages 1575 to 1701 for further information on auto switches.
= Load voltage Euits Suiigh BEie Lead wire length (m)
Type Special Electrical g Wiring Applicable bore size Pre-wired |  Applicable
s function entry | 8| (Output) DC AC 220 to 663 80,2100 | 0.5 | 1| 3 | 5 |None|connector load
2 Perpendicular In-line In-line (Nil) [(M)[ (L) [(Z) [(N)
) MINV M9N = ® @@/ O|—| O
. sv.i2v WMOPV_|__Wop e Teleol=1 oo
) — — circui
- Grommet 3-wire (PNP) — — G5P e — e O 6
= M9BV M9B = ®|®/®/O|—| O
£ 2-wire 12V — — K59 ® —|®O0|—| O —
H Connector — H7C — o —0o/0/0 —
° ) MINWV MONW = ®|®/®/O|—| O
E] W il U IS = = G59W | @ [—|®|O(—| O | IC |Relay,
2 | Diagnostic indication ° 3-wire (PNP) ' MOPWV | M9PW = ® (®0/@[O[—| O circuit| PLC
% (2-color indicator) — — G5PW ® | —|®@/O0|—| O
] >-wire 12V MOBWV M9BW — ® |®/®/O|—| O _
° Grommet = = K59W ® —|®O0|—| O
@ 3-wire (NPN) 5V 12V MONAV*! | MONA*! — O|@|O|—] O IC
Water resistant 3-wire (PNP) ' M9PAV*! | M9PA*! — O|0|@|O|— @] circuit
2-color indicator . gl il —
(@c cator) omuire 12v M9BAV<T | M9BA — oo :: 8 = 8 _
[ ) 4-wire (NPN) 5V,12V H7NF G59F ® —|® O|—| O |lCcircui
= v 3-vire (Equiv. O NPN)|  — 5V — A‘GV A = o —| 0 — — |[ICcircuit| —
S | 100 V A93V*#2 A — D oo — —
H Grommet [No| 100Vorless| A90V A = ® |—(®|—|—| — |(Ccircuit
o _ Yes| 100V, 200V = B54 o — 00— —
‘é No|  2-wire 24v | 12V [200Vorless = B64 ) | — (@ |—|—| — — H:II_?"
3 Connector] ) — — C73C = ) —|eje[0| —
K] No 24V orless = C80C = D | — (@ ®(®| — |(Ccircuit
Diagnostc ndalion (2<olorindealn) | Grommet | Yes| — — — B59W ) — @ —|— —

1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

A water-resistant type cylinder is recommended for use in an environment which requires water resistance. However, please contact SMC for water-resistant cylinder of 220 and 25.
*2 1 m type lead wire is only applicable to D-A93.
* Lead wire length symbols: 0.5 m-- Nil (Example) MONW

5m- - Z (Example) MONWZ

= Solid state auto switches marked with “O” are

im
3m

M (Example) MONWM
L (Example) MONWL

Non

- N (Example) H7CN produced upon receipt of order.

* Since there are other applicable auto switches than listed above, refer to page 361 for details.
* For details about auto switches with pre-wired connector, refer to pages 1648 and 1649,
* The D-A9000)/M90IOIC] auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

292



Air Cylinder: Standard Type .
Double Acting, Single Rod CG 1 Series

=-XALO | Change of rod end shape

-XB6_| Heat resistant cylinder (~10 to 150°C)1 =i Cylinder sizes 880 and 6100 do not have basic (without trunnion mounting female thread), rod
-XB7 | Cold resistant cylinder (=40 to 70°C)*2 trunnion and head trunnion types. Foot, flange and clevis types of cylinder sizes from 220 to CA2
-XB9 | Low speed cylinder (10 to 50 mm/s) 263 do not have trunnion mounting female thread. Operate the cylinder within the allowable

-XB13 | Low speed cylinder (5 to 50 mm/s) kinetic energy.

-XC4 | With heavy duty scraper
-XC6 | Made of stainless steel .
-XC8 | Adjustable stroke cylinder/Adjustable extension type Accessories/refer to page 309 for part numbers and dimensions.
-XC9 | Adjustable stroke cylinder/Adjustable retraction type

# R: Rod side, H: Head side

Specifications
= —————
Bore size (mm) 20 [ 25 [ 32 [ 40 [ 50 | 63 | 80 | 100
. Action Double acting, Single rod
2 Lubricant Not required (Non-lube)
/
-« Fluid Air c J1
J Proof pressure 1.5 MPa
)
e / i operating pressure 1.0 MPa CJP
a' é}i‘ ,.ﬁ:b Minimum operating pressure 0.05 MPa
=
Ambient and fluid Without auto switch: =10°C to 70°C .
Symbol temperature With auto switch  : =10°C to 60°C (No freezing) CJZ
ymbo Piston speed 50 to 1000 mm/s ‘ 50 to 700 mm/s JCM
Rubber bumper Air cushion Stroke length tolerance Up to 1000 st 5" mm, Up to 1500 st 5% mm
f Cushion Rubber bumper, Air cushion
[ [ cm2
‘ q M ‘ q M Basic, Basic (without trunnion mounting female thread),
Mounting™* Axial foot, Rod flange, Head flange, Rod trunnion, Head cm3
‘ ‘ ‘ ‘ trunnion, Clevis
Made to Order: Individual Specifications Rubber | rodend | 028 | 041 066 1.20) 200 340 590 9.90
(For details, refer to page 362.) bumper cﬁs
A Female
‘ Symbol ‘ Specifications ‘ Kinetic rod end 0.11 | 0.18| 029 | 0.52 | 0.91 154 | 271 | 454
X446 | P goase ‘ o Male |R:035|R:056| o1 | 4 a0 340 4901180 | 1670 | [UMB
Made to Order (S Ar | rodend |H:042 |H:065| © : : - : :
Click here for details cushion | Female MB
Symbol SpeoHEalons rodend | O-11| 018 | 029 | 052| 091 | 1.54 | 271 | 454
MB1

(5]
(7]
—

(5]
n
N

-XC10 | Dual stroke cy\?nder/D‘ouble rod type ountin e i | s | oeen | e | e oo
-XC11 | Dual stroke cylinder/Single rod type g ot || o || T ot et

-XC12 | Tandem cylinder

-XC13 | Auto switch rail mounting Standard Rod .end. nut [ [ ] [ ] [ ] [J [J [ ]
-XC20 | Head cover axial port Clevis pin — — — — — — °
-XC22 | Fluororubber seal*! Single knuckle joint [ ) ) ° ° ° °
-XC27 | Double clevis and double knuckle joint pins made of stainless steel Double knuckle joint

-XC29 | Double knuckle joint with spring pin Option (with pin)*2 L4 L4 ° ° L4 (] °
-XC35 | With coil scraper Pivot bracket™! — — — — o o e
-XC37 | Larger throttle diameter of connection port Rod boot ° ° ° ° ° ° °

-XC42 | Built-in shock absorber in head cover side
-XC85 | Grease for food processing equipment

#1 Not available for 80 and ¢100.

%2 A double knuckle joint pin and retaining rings are shipped together.
#1 Cylinders with rubber bumper have no bumper. 3 Stainless steel mounting brackets and accessories are also available.
Only compatible with cylinders with rubber Refer to page 309-1 for details.

bumper, but has no bumper.

Standard Strokes

Refer to pages 355 to 361 for cylinders (mm)

with auto switches. -
Bore size Standard stroke Note1) Maximum manufacturable stroke Note 2)

* Auto switch proper mounting position 20 25, 50, 75, 100, 125, 150, 200 201 to 1500

(detection at stroke end) and its mounting 25

height
* Minimum stroke for auto switch mounting 32
« Auto switch mounting brackets/Part no. 40 25, 50, 75, 100, 125, 301 to 1500
* Operating range 50, 63 150, 200, 250, 300
* Cylinder mounting bracket, by stroke/Auto 80

switch mounting surfaces 100

Note 1) Intermediate strokes not listed above are produced upon receipt of order. Manufacture of D'D
intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)

Q P t' Note 2) The maximum manufacturable stroke shows the long stroke.

recau |Ons Note 3) Applicable strokes should be confirmed according to the usage. For details, refer to “Air -X|:|
P e e ey Cylinders Model Selection” on front matter pages. In addition, the products that exceed -
I Refer to page 362-1 before handling. 1 the standard stroke might not be able to fulfill the specifications due to the deflection etc. Eealigllltﬂ

L T i |
293 ©



http://www.smcworld.com/products/en/custom.do

CG1 series

Ordering Example of Cylinder Assembly

Clevis

Cylinder model: CDG1DN20-100Z-NW-M9BW

Auto switch

A
~
"‘ Pivot bracket

Double knuckle joint

Mounting D: Clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

*Pivot bracket, double knuckle joint and auto
switch are shipped together with the product, but
not assembled.

Mounting Brackets/Part No.

Rod Boot Material

Symbol| Rod boot material VeI T
temperature
J Nylon tarpaulin 70°C
K Heat resistant tarpaulin 110°C*

+ Maximum ambient temperature for the rod
boot itself.

IMounting brack-| Order Bore size (mm)

tent:
et qty [ 20 25 32 40 50 63 100 GBI
Axialfoot  |2No®)| CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L0SO | CG-L063 | CG-L080 | CG-L100 |2 fO0!S:
8 mounting bolts
Flange 1 | CG-F020 | CG-F025 | CG-FO32 | CG-F040 | CG-F050 | CG-F063 | CG-Foso | ca-Fioo | 1 flange.
4 mounting bolts
Trunnionpin | 1 | CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063 _ |2 trunnion pins, 2 trunnion bolts,
2 flat washers
Clevis 1| cG-D020 | CG-D025 | CG-D032 | CG-D040 | CG-DO50 | CG-D063 | CG-DO8O | CG-D100 | Clevis 4 mounting bolls,

1 clevis pin, 2 retaining rings

Pivot bracket 1 | CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | CG-080-24A | CG-100-24A | 1 pivot bracket

Note) Order two foots per cylinder.

Mounting Brackets, Accessories/Material, Surface Treatment

Segment Description Material Surface treatment
Foot Carbon steel Nickel plating
Flange Carbon steel (220 to 963) Nickel plating
Cast iron (280, 100) Nickel plating
Mounting Clevis Carbon steel (220 to 963) Nickel plating
brackets Cast iron (280, 8100) Nickel plating
Trunnion pin Carbon steel Salt-bath nitrocarburizing
Trunnion pin Trunnion bolt Carbon steel Nickel plating
Flat washer Carbon steel Nickel plating
Rod end nut Carbon steel Zinc chromated
. . Carbon steel (220 to 232) Nickel plating
Single knuckle joint Cast iron (240 to 8100) Zinc chromated
. Carbon steel (220 to 932) Nickel plating
Double knuckle joint Cast iron (240 to 2100) Zinc chromated
Accessories Knuckle pin Carbon steel —
Clevis pin Carbon steel —
. Carbon steel (220 to 263) Nickel plating
Pivot bracket Cast iron (280, 2100) Nickel plating
Mounting bolt Carbon steel Nickel plating
Retaining ring Carbon tool steel Phosphate coating

Mounting Procedure

Mounting procedure for trunnion
Follow the procedures below when mounting a
pivot bracket on the trunnion. Trunnion bolt (With

goolch grip) 4 or 5
times remounting

20 to 263 Cylinder body possible
st 61 b=
| | 1 Flat washer

:L,[Jw

Trunnion pin
(Put grease on the exterior.)
Pivot bracket

294

Mounting procedure for clevis
Follow the procedures below when mounting a pivot bracket on the clevis.

220 to 063

Retammg CIeVIS in
s

280, 2100

Retaining Clevis pin ‘ Cylmder Retammg
Cyinderbody Retainin
ring ring ;Pm grease) body
— l
U

o fing

Q,

]

|
I—l&f E Pivot bracket



Air Cylinder: Standard Type
Double Acting, Single Rod

CG1 series

Weights
——
(kg)
Bore size (mm) 20 25 32 40 50 63 80 100
- Basic (B) 0.11 0.17 0.24 0.44 0.79 1.06 2.07 3.16
jg,, Basic (2) 0.11 0.17 0.25 0.45 0.80 1.09 - —
g Axial foot 0.21 0.29 0.40 0.67 1.26 1.77 3.04 4.91
% Flange 0.18 0.26 0.38 0.65 1.16 1.64 2.78 4.44 cJ‘l
3 Trunnion 0.12 0.19 0.28 0.49 0.88 1.20 — —
Clevis 0.17 0.25 0.39 0.68 1.19 1.78 2.77 4.44 CJP
Pivot bracket 0.08 0.09 0.17 0.25 0.44 0.80 0.98 1.75
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22 0.39 0.57
Double knuckle joint (with pin) 0.05 0.09 0.09 0.13 0.26 0.26 0.64 1.31 CJZ
Additional weight per 50 mm of stroke 0.05 0.07 0.09 0.14 0.21 0.25 0.35 0.50
Additional weight for switch magnet 0.01 0.01 0.01 0.01 0.01 0.02 0.02 0.04 JCM
Additional weight with air cushion 0 0.01 0.04 0 0.01 0.04 0 0.04
Weight reduction for female rod end -0.01 -0.02 -0.02 -0.05 -0.10 -0.10 -0.19 -0.27 CMZ
Additional weight for long stroke 0.01 0.01 0.02 0.03 0.06 0.12 0.21 0.31
Calculation (Example) CDG1FN20-100Z *Basic weight 0.18 kg (Flange, 920) CM3

(Built-in magnet, Flange, 820, 100 stroke)

* Additional weight for stroke
 Air cylinder stroke

* Additional weight for switch magnet-

0.05 kg/50 mm

0.18 + 0.05 x (100/50) + 0.01 = 0.29 kg

Built-in One-touch Fittings (The shape is the same as the current product.)

CG1 | Mounting type | N | Bore size| F- | Stroke|

Built-in One-touch fittings

This type has the One-touch fittings integrated in a cylinder, which enables
to reduce the piping labor and installing space dramatically.

Dimensions (Dimensions other than those shown below are the same as the standard type.)

Specifications

Bore size (mm)

20, 25, 32, 40, 50, 63

Action Double acting
Fluid Air
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa
Piston speed 50 to 750 mm/s
Cushion Rubber bumper
Basic, Axial foot, Rod flange,
Mounting Head flange, Rod trunnion, Head

trunnion, Clevis (used for

changing the port location by 90°)

Bore size
(mm) GA| GB HDHH|PD
20 [12] 12 [13]242] &
25 [12[10(12)] 13[26.7] 6
32 12]10(12) 13 ]30.2| 6
40 [12]10(12) 16 |34.6| 8
50 [13]| 13 [20]406] 10
63 [13] 13 [20]47.1[ 10

Note) ( ): Long stroke

Clean Series

* Auto switch can be mounted.

* Female rod end is not available.

* Use the current seal kit.

Applicable Tubing 0.D./I.D.

20

Bore size (mm)

25 [ 32 | 40 [ 50 | 63

Applicable tubing O.D. (mm)

6/4 | 64 | 6/4 | 866 [107.5]10/75

Applicable tubing material

Can be used for either nylon,
soft nylon or polyurethane tubing.

10-CG1 | Mounting type ||Type (Cushion) || Bore size | - | Stroke || Rod end thread | Z

Clean Series (With relief port)

The type which is applicable for using inside the clean room graded ISO
Class 4 by making an actuator’s rod section a double seal construction
and discharging by relief port directly to the outside of clean room.

Specifications

Bore size (mm)

20, 25, 32, 40, 50, 63, 80, 100

For details about the clean series, refer to the “Pneumatic Clean Series”
(CAT.E02-23).

Action Double acting

Fluid Air
operating pressure 1.0 MPa

Minimum operating pressure 0.05 MPa

Cushion

Rubber bumper, Air cushion

Piston speed

30 to 400 mm/s

Relief port size M5x 0.8
. Basic, Axial foot, Rod flange,
Mounting Head flange**

# Auto switch can be mounted.

+x The basic type is B type only. However, no trunnion mounting female

thread is provided.

295

[
D
wW

QIO |=
DRI >|wm
N || = [N || =

-XO

Technical
Data



CG1 series

Air-hydro
——
CDG1 | Mounting type| H |Bore sizel - | Stroke | | Rod end thread| Z —| Pivot bracket | | Rod end bracket | - |Auto switch| =
‘ Air-hydro Made to Order
LN Wit gt XAL
Ul magnet Y -
¢ Specifications
Low pressure hydraulic cylinder of 1.0 MPa or less Bore size (mm 20, 25, 32, 40, 50, 63
When using together with the CC series air-hydro unit, constant and low " {om) e
N N N . ha N N Action Double acting
speed actuation and intermediate stopping similar to hydraulic units are — - .
possible with the use of valves and other pneumatic equipment. Fluid Turbine oil
Proof pressure 1.5 MPa
Dimensions (Dimensions other than those shown below are the same as the standard type.) i operating p e 1.0 MPa
77 Minimum operating pressure 0.18 MPa
£% Boesie iGpirpl S i o Piston speed 15 to 300 mm/s
T HHH ) thread  thread Cushion Rubber bumper (Standard equipment)
7%{ B _ B 20 [12|11] 77/114] 92 Ambient and fluid temperature 5 to 60°C
25 |12|11] 77119 93 Basic, Axial foot, Rod flange, Head
= 32 [12|11] 79/121] 95 Mounting flange, Rod trunnion, Head trunnion,
S + Stroke =7 40 [13[12] 87[139]104 Clevis
2Z + Stroke 50 |14|13[102/162|120 Made to Order Change of rod end shape
63 |1413]102]162|120 * Auto switch can be mounted.

Water Resistant

CDG1 | Mounting type | | Bore size | | Port thread type | - | Stroke | | Rod end thread | zZ- | Pivot bracket | | Rod end bracket | - | Auto switch | -

Water resistant 2-color indicator,

[ Nil [ Without magnet | . . solid state auto switch
(o Teuinmagnet | e WSOV
seals (Nitrile rubber) G5BAL

‘ \' ‘ FKM seals (Fluororubber)‘

Made to Order
. ificati XC6
ACautlon Specifications
Since the scraper is press-fit into the rod cover, it cannot be replaced. Bore size (mm) 32, 40, 50, 63, 80, 100
Action Double acting, Single rod
Cushion Rubber bumper/Air cushion
Auto switch mounting Band mounting type
Applicable for use in an environment with water splashing Made to Order XC6: Made of stainless steel

such as food processing and car wash equipment, etc. * Specifications other than above are the same as standard type.

Dimensions (Dimensions other than those shown below are the same as the standard type.)

With rubber bumper With air cushion
GA g g
i "g\ u
g > & ¢
(F1) ||TA (F1)_|[TA
S + Stroke F S + Stroke F
2Z + Stroke ZZ + Stroke
(mm)
Bore o . GA 2z
size |(E)E7|(FI) F Rc[NPT[ G S |TAIWA e e  Ferabtret
32 |[17]18] 2 [ 2| 18 |165] 77(85) [17]22]119 (127)] 93 (101)
40 [21]25[ 2 | 2] 19 [19 | 84(93) [ 1823136 (145)[101 (110)
50 [26(30] 2 | 2| 21 |21 | 97(109)[ 20 | 25 [157 (169)[115 (127)
63 2632 2 |2 | 21 |21 | 97(109)[ 20 | 25 [157 (169)[115 (127)
80 [32[40] 3 | 3| 28 255116 (130) — | 32190 (204)|138 (152) -
100 [37[50] 3 | 3| 29 [265]117 (131)] — | 33 191 (205)[142 (156) Refer to page 1125 for details.

* Dimensions marked with “«” are the same as the standard type.
# (): Denotes the dimensions for long stroke.

® 296



Air Cylinder: Standard Type
Double Acting, Single Rod

Cylinder with Stable Lubrication Function (Lube-retainer)

CG1 series

CDG1 | Mounting |N| Bore sizelM— | Siroke” Rod end thread |Z -| Pivot bracket || Rod end bracket |—| Auto switch |

With auto switch Cylinder with Stable Lubrication Function
(Built-in magnet) (Lube-retainer)
Specifications

o
G
pry

Bore size (mm)

20, 25, 32, 40, 50, 63, 80, 100

Action

Double acting, Single rod

(x]
C—
-}

Minimum operating pressure

[y
G
N

Cushion Rubber bumper
+ Specifications other than the above are the same as the JCM
standard type.
Dimensions (Dimensions other than those shown below are the same as the standard type.) CM3
+ No trunnion mounting female thread is provided on the rod side. (For B: Basic) (mm) m
Bore size GA P
20 14 M5 x 0.8 CG3
GA 2xP 25 13 M5 x 0.8
Cy 32 (12) (Rc 1/8) JMB
i Ty
Y ! 40 (13) (Rc 1/8)
Py 50 (14) (Re 1/4) MB
St Wﬂl 63 (1) (Re 1/4)
80 (20) (Rc 3/8) MB1
100 (20) (Rc 1/2)

+ When female thread is used, use a washer, etc. CAZ

to prevent the contact part at the rod end from
being deformed depending on the material of the cs1

workpiece.
Refer to the Web Catalog for details. ‘ P

(): Same as the standard model.

* The mounting dimensions of the mounting brack- csz

et are the same as the standard type.

HHH



CG1 series

Construction

With rubber bumper @80, 2100

MRER
|

Long stroke

w

Long stroke
1001 to 1500

With air cushion

11/

OS]

Long stroke
Component Parts

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy Hard anodized 15 | Cushion seal A Urethane 232 or larger is
2 | Tube cover Aluminum alloy Hard anodized 16 | Cushion seal B Urethane common.
3 | Piston Aluminum alloy 17 | Head cover Aluminum alloy Hard anodized
4 | Piston rod Stainless steel | For 920 or 025 with built-in magqet 18 | Cylinder tube Aluminum alloy Hard anodized
Carbon steel® Hard chrome plating* 19 | Rod seal NBR
5 | Bushing Bearing alloy 20 | Piston seal NBR
6 p Resin 232 or larger is 21 | Tube gasket NBR
7 p! Resin common. 22 | Valve seal NBR
8 | Retaining ring Stainless steel Except @80 and 100
9 | Wear ring Resin Replacement Parts: Seal Kit
10 | Rod end nut Carbon steel Zinc chromated Bore size (mm) Kit no. Contents
11 | Cushionring A Aluminum alloy 20 CG1N20Z-PS
12 | Cushion ring B Aluminum alloy 25 CG1N25Z-PS —
13 | Seal retainer Rolled steel Zinc chromated 32 CG1N32Z-PS Set of the nos. )
14 Cushion [o400rsmaller]  Carbon steel | Electroless nickel plating 40 CG1N40Z-PS
valve |050 orlarger Steel wire Zinc chromated Note) As sizes 850 and larger cannot be disassembled, the seal cannot be
Note) For cylinders with auto switches, the magnet is installed in the replaced.
piston. Note) Refer to the Specific Product Precautions on page 362-1 for
* The material for 820, 925 cylinders with auto switches is made of stainless Disassembly/Replacement. Order with the kit number according to
steel. the bore size.

* The seal kit includes a grease pack (10 g).
Order with the following part number when only the grease pack is
needed. Grease pack part number: GR-S-010 (10 g)

® 298



Air Cylinder: Standard Type .
Double Acting, Single Rod CG 1 Series

Basic: CG1BN

F_GA 2xP

Width across flats KA
V(Rc, NPT, G)

MM H,

2xTC

118

oD

a

N
o
!

9D,

QTJ

sEEgEREeEe

I
@ -

oE 005
o
[

= %q}
=
m

—
m

C
)
oE o0

Width across flats B1

AL
\8xd A ITA| \axTC 18| i

NA H S + Stroke F NA

ZZ + Stroke

TC thread detail
With air cushion

(Rc, NPT, G)
Cushion valve, Width across flats WH

10°_Wee WA

e =

MB1
Basic (Without trunnion mounting female thread): CG1ZN
GB CA2
Width across flats KA F GAV(ZRZPNPT S F_’ N7
! ! <
MM Hi a H ‘ CS1
[S)
of SN L T - 9
Sl s R CS2
il e u
Width across flats B1 g.‘
AL <
A K
H S + Stroke F
ZZ + Stroke
(mm)
Bore |Strokerange| Rc, NPT port G port AlaLlBilc|pl|E HIH J K lkal mm

size [Stendard] Longstke| GA| GB | P |GA[ GB [ P
20 UpthOO\ZOHMSOO 12 |10(12)] 1/8 |12 [10(12) |M5x08| 18 |15.5| 13 |14 8|12

35| 5| 26| M4x0.7depth7 | 5 6 | M8x1.25

F
) 2
25 UptoSOO‘J{JHolSOO 12 |10(12)] 1/8 | 12.5]10(125)M5x 08| 22 |19.5| 17 |16.5| 10 |14 | 2 |40 | 6| 31| M5x0.8depth7.5 | 55/ 8 |[M10x1.25
32 UptoSDD‘SﬂHMEGO 12 |10(12)] 1/8 |10.5]10(10.5) 1/8 | 22 |19.5| 17 |20 |12 |18 | 2 |40 | 6| 38| M5x0.8depth8 | 55| 10 |[M10x1.25
40 UptaSOD‘MHDIEOO 13 [10(13)] 1/8 |13 |10(10) | 1/8 | 30 |27 |19 |26 |16 |25 | 2 |50 | 8 | 47| M6 x1depth12 6 | 14 | M14x15
50 UplaiOD‘SﬂHoWSOO 14 [12(14)] 1/4 |14 [12(14) | 1/4 | 35 |32 27 |32 |20 |30 | 2 |58 | 11| 58| M8x1.25depth16 | 7 | 18 | M18x 1.5
63 UpIOEOD‘SﬂHDIEOO 14 [12(14)] 1/4 |14 [12(14) | 1/4 | 35 |32 27 |38 |20 |82 | 2 |58 |11 | 72| M10x1.5depth16| 7 | 18 | M18x1.5
80 UpIOSOD‘EﬂHMEOO 20 |16(20)| 3/8 |17.5(16(17.5) 3/8 | 40 |37 [ 32 |50 | 25|40 | 3 |71 | 13 | 89| M10x1.5depth22 |10 | 22 | M2x15
100 UptcSOO‘ 3ito1500) 20 |16 (20)| 1/2 | 17.5]16(17.5) 1/2 | 40 |37 | 41 |60 | 30 | 50 | 3 | 71 | 16 [110|M12x 1.75depth 22|10 | 26 | M26x 1.5
(mm) With Air Cushion (mm) TC Thread (mm)
Bore Bore Rc, NPT port Bore
pr NA S TA| TB zz size [GA] GB P WA| WB |W6 WH . TC TD | TE | TF | TG
20 [24 [69(77) [11 [ 11 [106(114) 20 [12 [10(12) [M5x08] 16 [15 (16) 25° [ 1.5 20 [ M5x0.38 89" 4 |05 | 55
25 |29 | 69(77) | 11 11 (111 (119) 25 |12.5[10(12.5)[M5x0.8| 16 |[14.5(16) 25° | 1.5 25 M6x0.75 | 10%%®| 5 |1 6.5
32 [355] 71(79) | 11 [10(11)[113(121) 32 [12 [10(12) | 1/8 | 16 [14 (16) 25° [ 1.5 32 | M8x1.0 | 129%] 55]1 75
40 [44 | 78(87) | 12 [10(12)[130(139) 40 [13 [10(13) | 1/8 | 17 [15 (17)/ 20°[1.5 40 [ M10x1.25 | 14%%] 6 [1.25] 85
50 |55 | 90(102) 13 |12 (13)[150 (162) 50 [14 [12(14) | 1/4 | 18 [16 (18) 20° |3 50 | M12x1.25 | 169®] 7.5[2 10
63 [69 [ 90(102) 13 [12(13)[150 (162) 63 [14 [12(14) | 1/4 |18 [17 (18] 20°[3 63 | M14x15 | 18%%[11.5]3 145 |D-]
80 [86 [108(122) — | — [182(196) 80 [20 [16(20) | 3/8 |24 [20 (24) 20° [ 4 80 — — | =1=1=
100 [106 [108 (122 — | — [182(196) 100 [20 [16(20) | 1/2 [ 24 [20 (24) 20° |4 100 = - I=T=T="|xO
Note) ( ): Denotes the dimensions for long stroke. # Cylinder sizes 80 and 2100 do not have

trunnion mounting female thread on the width |Technical
across flats NA. Data

299



CG1 series

Basic: CG1BN

With rod boot

=

2

Female rod end

300

olJ
oe

@[é
<<

olJ
oe

e T [
Ll i

¢ f ¢ f
h+¢ h+¢
ZZ + ¢ + Stroke ZZ + ¢ + Stroke
220 to 263 280, 2100
With Rod Boot (mm)
Bore JH |JW
size e flh|l [Reference)| Refernc) ¢ z
20 |30|18|55|27|15.5|10.5 126 (134)
25 |30/19|62|32|16.5/10.5 133 (141)

32 |35/19|62|38|18.5/10.5
40 [35]19|70|48|21.5/10.5
50 [40[19|78|59|24 |10.5
63 |40|20(78|72|24 [10.5
80 |52/10/80|59| — | — 191
100 [62] 7(80|71| — | — 191
* The minimum stroke with rod boot is 20 mm.

1/ stroke
@
o
@
©o

Female Rod End (mm)
Bore
i A1 H MM zz
20 8 | 13 | M4x07 | 84(92)
25 8 | 14 | M5x08 | 85(93)
32 | 12 14 M6 x 1 87 (95)
40 | 13 | 15 | M8x1.25 | 95(104)
50 | 18 | 16 | M10x1.5 |108(120)
H 63 | 18 | 16 | M10x1.5 [108(120)
e 80 | 21 | 19 | M14x1.5 [130(144)
2Z + Stroke 100 | 25 | 22 | M16x15 |133(147)

+ When female thread is used, use a washer etc.
to prevent the contact part at the rod end from
being deformed depending on the material of
the workpiece.



Air Cylinder: Standard Type .
Double Acting, Single Rod CG 1 Series

Axial Foot: CG1LN

H S + Stroke
8xdJ Width across flats KA | ‘G_A—L/(ZR):;?NPT, 5 Width across flats NA [9_3_7
s |k T
B i & c
S
O T ] . CJP
T| S \‘ % / Wit across fts B L]

x
=
€
s |8
=™~

T
= :
c AL y_VJ 2xoLC
X | YN krock o positon LY

4xoLD LX A K Y (Knock pin position)
Lz r4 LS + Stroke
ZZ + Stroke CMZ
With air cushion & Wer WA 2xP wB CM3
g GA |/ (Re, NPT, G) GB
=]/ Cushion valve, Width across flats WH
yd AN

[
D
wW

!,7 L

With rod boot h+¢ h+¢ ME1
SR T e CA2
*E | LR H
A — W CS1
% 38 l:Hthﬁ 38
)\ = el ﬁ I ) sz
SR \ — n
JW| ¢ f ‘ ‘ e || f
- Z+¢ | Z+¢
ZZ + ¢ + Stroke ZZ + ¢ + Stroke
280, 100
(mm)
B e A g b TGAT a5 {AAL[B|B1|C|D|H || 1| J |KKALCLDLH LS |LTLX|LZ|M| MM
20 |Upto200{201t01500| 12 |10 (12)] 1/8 |12 [10(12) [M5x0.8] 18|15.5( 34 [13]14 | 8|35| 5| 26| M4x 0.7 |5 | 6| 4 | 6|20|45(53)|3 | 32| 44|3 |M8x1.25
25 |Upto300]301101500| 12 |10 (12)| 1/8 [12.5 |10 (12.5)M5x 0.8| 22 [19.5] 385/ 17 165/ 10| 40| 6| 31| M5x 0.8 | 55 8| 4 | 6]22|45(53)|3 | 36| 49(3.5M10x1.25
32 |Upto300] 301101500 12 |10 (12)| 1/8 [10.5[10(105) 1/8 |22 [19.5/ 45 |17[20 |12|40| 6| 38] M5x 0.8 | 55 10| 4 | 7|25|45(53)|3 | 44| 58/3.5M10x1.25
40 |Upto300]301101500| 13 |10 (13)| 1/8 [13 |10(10) | 1/8 |30 [27 | 545/19[26 |16|50| 8| 47| M6 x 1 6 [14| 4| 7|30|51(60)[3 | 54| 71]4 |M14x15
50 [Upto300] 301101500 14 |12 (14)| 1/4 [14 |12(14) | 1/4 3532 | 705/27 (32 |20|58|11| 58 M8 x 1.25 | 7 |18| 5 [10|40|55 (67)|4.5| 66| 865 |M18x1.5
63 [Upto300] 301101500 14 |12 (14)| 1/4 [14 [12(14) | 1/4 |35(32 | 825/27 (38 |20|58|11| 72| M10x 1.5 |7 |18| 5 [12]45|55 (67)|4.5| 821065 |[M18x1.5
80 |Upto300] 301101500 20 |16 (20)| 3/8 [17.5|16(17.5) 3/8 |40 (37 |101 |32[50 |25|71|13| 89| M10x 1.5 |10 |22| 6 |11 |55 |60 (74)[4.5/100[125|5 |[M22x1.5
100 Up\OSOO‘SOHOWSUﬂ 20 |16 (20)| 1/2 [17.5[16(175) 1/2 |40 37 |121 |41]60 |30|71]16|110|M12x 1.75[10 |26| 6 |14 |65|60 (74)|6 [120/150|7 |M26x1.5
(mm) With Air Cushion (mm) With Rod Boot (mm)
Bore Bore Rc, NPT port
e NAl s (Wi x|Y|z| zz Bttt wal we (we(wH 50l e |t h W ) Zz] zz
20 (24 | 69(77) |10 |15 | 7 (47 |110 (11§) 20 (12 |10(12) [M5x0.8] 16 |15 (16)] 25° | 1.5 20 [ 30| 185527 |15.5/10.5] 67 [130 (138)
25 (29 | 69(77) |10 |15 | 7 |52 |1155(1235) 25 [12.5]10(12.5)M5x 0.8| 16 |14.5(16)| 25° | 1.5 25 (30| 19|62 |32 |16.5/10.5] 74 |1375(145.5)
32 [ 355) 71(79) |10 |16 | 8 |53 |117.5(1255) 32 [12 [10(12) 1/8 16 (14 (16)| 25° | 1.5 32 [ 35|19 6238 |18.5/10.5] ] 75 |139.5(147.5)
40 |44 | 78(87) |10 |16.5| 8.5(63.5/135 (144) 40 [13 [10(13) 1/8 17 |15 (17)] 20° | 1.5 40 [35]19|70 |48 [21.5/10.5] © | 83.5/155 (164)
50 |55 | 90 (102)175[22 [11 [755[1575(1695) 50 |14 [12(14) | 1/4 | 18 [16 (18) 20° |3 50 4019|7859 [24 [105] @ [ 95.5[775(1895)
63 |69 | 90(102)[17.5/22 |13 |75.5|157.5(169.5) 63 |14 [12(14) 1/4 | 18 [17 (18)] 20° | 3 63 [40]20]78[72 24 [105|~ 95.5/177.5 (189.5)
80 [ 86 [108(122)20 [28.514 |95 |1885(2025) 80 |20 [16(20) | 3/8 | 24 [20 (24) 20° | 4 80 [52[10[80]59 | —|[—]| [104 [1975(2115)
100 [106 [108 (12220 [30 |16 |95 [192 (206) 100 [20 [16(20) | 1/2 | 24 |20 (24)20° [4 100 |62] 7|80 |71 |—|—| |04 201 (a15) ‘D'D
* For female rod end, since the wrench flap (K and KA portions) will be inside of the bracket # The minimum stroke with rod boot is 20 mm.
when the piston rod is retracted at the stroke end, extend the piston rod to tighten the nut 'XD
using a tool, and mount a workpiece on the rod end.
+ Refer to the basic type for the female rod end. Technical
Note) ( ): Denotes the dimensions for long stroke. ala

301



CG1 series

Rod Flange: CG1FN

4xoFD 8xdJ Width across flats KA~ F_ FT GA 2xP GB
(Re, NPT, G) 9
MM — Qp
H \a T i
0 w — A1 _ 9
|3 o] LR 3 CH e I
LA T Y e F
N = ﬁ} Width across flats Bt
A 1 {}/ - AL
] Width across flats NA
[o] A K
FX+0.15 H S + Stroke F
B ZZ + Stroke

With air cushion

WA 2xP

* End boss is machined on the flange for oE.

wB

GA |/ (Rc, NPT, G) GB
—] Cushion valve, Width across flats WH F"
ira N
Tt i
With rod boot
LI P [N
S8 < - 1
L1 Rk _
u |l I
fan 2le ale
/ al @ al @
: I
2 5 G E, _ -
ONEEES
av) N L
JW ¢ f e ||t
= h+¢ h+¢
ZZ + ¢ + Stroke ZZ + ¢ + Stroke
280, 0100
(mm)
Bore Stroke range Rc, NPT port G port
size |Standard| Longstroke |GA|GB | P |[GA| GB | P AL B =] @ | B = | F | FE]iFv ] Wb 0 J S
20 |Upto200] 201to 1500 | 12 [10(12)| 1/8 |12 [10(12) [M5x08| 18 [15.5] 40| 13 [14 8|12 2 |55 6| 28/35| 5| 26| M4x0.7 5
25 |Upto300] 301to 1500 | 12 |10 (12)| 1/8 | 12.5|10(125)|M5x 08| 22 [19.5| 44| 17 [16.5/10 |14 | 2 | 55| 7| 32/ 40| 6| 31| M5x0.8 515
32 |Upto300] 301to 1500 | 12 [10(12)| 1/8 | 10.510(105) 1/8 | 22 [19.5| 53| 17 [20 |12 |18 | 2 | 6.6 7| 38/ 40| 6| 38| M5x0.8 55
40 [Upto300] 301to 1500 | 13 [10(13)| 1/8 |13 [10(10) | 1/8 |30 (27 | 61|19 (26 |16 |25| 2 | 6.6 8| 46|50 | 8| 47| M6x1 6
50 |Upto300] 301to 1500 | 14 [12(14)] 1/4 |14 [12(14) | 1/4 |35 (32 | 76|27 |32 |20|30| 2 |9 9| 58|58 |11 | 58] M8x1.25 | 7
63 |Upto300| 301to 1500 | 14 [12(14)| 1/4 |14 [12(14) | 1/4 |35 (32 | 92|27 (38 |20 32| 2 |11 9] 70|58 11| 72| M10x15 | 7
80 |Upto300] 301to 1500 | 20 |16 (20)| 3/8 | 17.5(16(17.5)| 3/8 | 40 [37 |104|32 |50 |25 |40| 3 [11 |11 | 82|71 |13 | 89| M10x 1.5 |10
100 |Upto300| 301 to 1500 | 20 [16(20) 1/2 | 17.5|16(17.5| 1/2 | 40 |37 |128| 41 |60 |30 |50 | 3 |14 |14 [100| 71 | 16 [110| M12x 1.75 [10
(mm) With Air Cushion (mm) With Rod Boot (mm)
Bore Bore Re, NPT port Bore JH | JW
- KAl MM |[NA| S zz size [GA| GB P WA| WB | W6 |WH size | © flh|il [ ¢| ZZ
20| 6[M8x1.25[ 24 | 69(77) [106(114) 20 [12 [10(12) |[M5x08] 16 [15 (16)] 25° [ 1.5 20 [30]18]55[27] 155 | 10.5 126 (134)
25 | 8|M10x1.25] 29 | 69 (77) [111(119) 25 [12.5(10(12.5)|M5x0.8| 16 [14.5(16)| 25° | 1.5 25 |30|19(62|32| 16.5 | 10.5 133 (141)
32 | 10 [M10x 1.25( 35.5) 71 (79) [113 (121) 32 |12 [10(12) 1/8 16 [14 (16)| 25° [ 1.5 32 [35/19|62|38| 18.5 | 10.5 o 135 (143)
40 |14 | M14x1.5| 44 | 78(87) [130(139) 40 |13 [10(13) 1/8 17 (15 (17)] 20° | 1.5 40 [35/19|70 (48| 21.5 | 10.5 g 150 (159)
50 | 18 | M18x 1.5 | 55 | 90 (102)[150 (162) 50 (14 [12(14) 1/4 18 [16 (18)| 20° |3 50 [40[19|78|59 | 24 10.5 | £ {170 (182)
63 |18 | M18x 15| 69 | 90 (102)[150 (162) _ 63 |14 [12(14) | 1/4 | 18 [17 (18)[ 20° |3 63 [40[20(78|72| 24 [ 105 |~ [170(182)
80 [ 22| M22x1.5] 86 [108(122)[182(196) 80 [20 |16(20) | 3/8 | 24 [20 (24)[ 20° | 4 80 [52[10]80|59] — | — 191 (205)
100 | 26 | M26 x 1.5 [106 [108 (122)[182(196) 100 [20 [16(20) | 1/2 [ 24 [20 (24)] 20° | 4 100 [62] 7[80|71[ — | — 191 (205)

+ For female rod end, since the wrench flap (K and KA portions) will be inside of the bracket
when the piston rod is retracted at the stroke end, extend the piston rod to tighten the nut
using a tool, and mount a workpiece on the rod end.

= Refer to the basic type for the female rod end.

Note) ( ): Denotes the dimensions for long stroke.

302

= The minimum stroke with rod boot is 20 mm.



Head FIange: CG1GN

Air Cylinder: Standard Type
Double Acting, Single Rod

With air cushion

Width across flats KA F_GA 2xP
(Rc, NPT, G)
MM
Hi1 a T
L Q ¥
-8 % T 1] s
o o s |
Width across flats B1 QQ\?‘
AL Width across flats NA [
A K
H S + Stroke FT|_.F
ZZ + Stroke
2xP
wWB
GB

|

Cushion valve, Width across flats WH

o

\

o

B
FX+0.15
[

4xoFD

CG1 series

FX+0.15

* End boss is machined on the flange for oE.

sEEgEREEEe

J MB1
With rod boot CA2
s & 8_
T Y
/é%\ 7{7 L _ e
D) 2s FH B : 3e : e
Q
z - 1
3 el lh "
M‘ ¢ f ¢ f
h+¢ h+e¢
ZZ + ¢ + Stroke ZZ +¢ + Stroke
280, 2100
(mm)
Bore Stroke range Rc, NPT port G port
size |Standard] Longstroke |GA| GB | P |[GA| GB | P AR =] €D |3 | F|Fw]eu) ) 6 ||m ) J 3
20 |Upto200 201 to 1500 12 ]10(12)] 1/8 |12 [10(12) [M5x08| 18 |15.5] 40| 13 |14 8|12 |2 | 55 6| 28/35| 5| 26| M4x0.7 | 5
25 |Upto300 301 to 1500 12 |10 (12)] 1/8 |12.5[10(12.5)M5x 08| 22 |19.5| 44| 17 [16.5/ 10 |14 | 2 | 55| 7| 32/ 40| 6| 31| M5x0.8 | 55
32 |Upto300] 301 to 1500 12 [10(12)| 1/8 |10.5[10(10.5) 1/8 | 22 [19.5| 53| 17|20 |12 |18 | 2 | 66| 7| 38/ 40| 6| 38| M5x0.8 | 55
40 |Upto300] 301 to 1500 13 [10(13)] 1/8 |13 [10(10) | 1/8 |30 (27 | 61| 1926 |16 |25 | 2 | 6.6 8| 46/50 | 8| 47| M6x1 6
50 |Upto300] 301 to 1500 14 [12(14)] 1/4 |14 [12(14) | 1/4 |35 (32 | 76|27 (32 |20 30| 2 |9 9| 58{ 58|11 | 58| M8x125| 7
63 |Upto300] 301 to 1500 14 |12 (14)| 1/4 |14 [12(14) | 1/4 |35 (32 | 92|27 |38 |20 |32 | 2 |11 9| 70{ 58 | 11| 72|M10x1.5]| 7
80 |Upto300 301 to 1500 20 |16 (20)| 3/8 |17.5|16(17.5)| 3/8 | 40 |37 |104| 32 |50 |25 |40 | 3 |11 11] 82|71 |13 | 89| M10x 15|10
100 |Upto300 301 to 1500 20 [16 (20)| 1/2 |17.5|16(17.5)| 1/2 | 40 |37 |128] 41 |60 |30 |50 | 3 |14 | 14 [100| 71 | 16 [110|M12x 1.75[10
(mm) With Air Cushion (mm) With Rod Boot (mm)
Bore Bore Rc, NPT port Bore JH | JW
size KA| MM INA S z size |GA| GB P WA| WB | W6 |WH size | © flhW (Referenc) | (Reference) zZ
20 | 6|M8x1.25|24 | 69(77) [112(120) 20 |12 [10(12) [M5x0.8] 16 |15 (16)| 25° [1.5 _ 20 |30 1855 |27] 155 | 105 132 (140)
25 | 8 |M10x1.25[ 29 | 69(77) [118(126) _ 25 |12.5[10 (12.5)|M5x0.8] 16 |145(16)| 25° [ 1.5 25 |30/ 19|62 32| 165 105 140 (148)
32 | 10 [M10x 1.25| 35.5] 71 (79) |120 (128) 32 (12 [10(12) 1/8 16 (14 (16)] 25° | 1.5 32 |35/19(62|38]| 18.5 | 10.5 | 4, |142(150)
40 [ 14 [M14x1.5[ 44 [ 78(87) [138(147) _ 40 [13 [10(18) | 1/8 |17 |15 (17)[20°[1.5 _ 40 |35]19[70[48] 21.5 [ 10.5 | & [158 (167)
50 | 18 [M18x1.5] 55 | 90 (102)[159 (171) 50 |14 [12(14) | 1/4 [ 18 [16 (18] 20° |3 50 [40[19]78(59| 24 | 105 | @ [179(191) D-O
63 | 18 [M18x 15|69 | 90 (102)[159 (171) 63 [14 [12(14) | 1/4 [ 18 [17 (18] 20° |3 63 [40[20(78[72| 24 [105 |~ [179.(191)
80 |22 [M22x 15| 86 [108(122)[193(207) 80 |20 [16(20) | 3/8 | 24 |20 (24)| 20° [ 4 80 [52[10]80[59] — | — 202 (216) |-X[]
100 | 26 | M26x 1.5 [106 |108(122)[196 (210) 100 |20 [16(20) | 1/2 | 24 |20 (24)[20° |4 100 |[62] 7[80]71] — | — 205 (219)

= Refer to the basic type for the female rod end.
Note) ( ): Denotes the dimensions for long stroke.

* The minimum stroke with rod boot is 20 mm.

303

Technical
Data



CG1 series

Rod Trunnion: CG1UN

2xoTDe8
(Pin 0.D)

H S + Stroke F
TR A K |[GA 2xP Width across flats NA GB
B MM AL F |TA | /(Rc, NPT, G) ng
H1
™ al || T i
°
9 %ﬁf, . 5
\ Elma 2\ s 2
\ 1 ) w
4} {é} Widih across flats Bt - Y
R &
Width across
kv4 flats KA z
ZZ + Stroke

* Constructed of a trunnion pin, flat washer and hexagon socket head cap bolt.

With air cushion 2xP
WA /R, NPT, G) w8
|GA | /Gushion valve, Width across flats WH FE
i T
N V2
[ I L N %
With rod boot h+¢
¢ f
@ } 2o TR T
o
3 S %A H
rl i [
&
gl gl
Z+¢
ZZ + ¢ + Stroke
(mm)
Bore Stroke range Rc, NPT port G port
size [Siandard] _Longstroke _|GA| GB | P [GA[GB [ P |~ |AL|B'|[D|E|F | H Hi| 1K KA MM |NA| S
20 |Upto200 201 to 1500 12 |10 (12)] 1/8 |12 [10(12) [M5x08| 18 [155[ 13| 8|12 | 2 |35| 5|26 |5 6| M8x1.25 |24 |69(77)
25 |Upto300 301 to 1500 12 |10 (12)] 1/8 | 12.5 [10(12.5)|M5x 08| 22 |19.5{ 17 |10 |14 | 2 |40 | 6|31 |55 | 8| M10x1.25 |29 |69 (77)
32 |Upto300 301 to 1500 12 |10 (12)] 1/8 | 10.5|10(105)| 1/8 |22 |19.5{17 |12 |18 | 2 |40 | 6|38 |55 |10 | M10x1.25 |35.5|71(79)
40 |Upto300] 301 to 1500 13 [10(18)] 1/8 | 13 [10(10) | 1/8 |30 |27 |19 |16 25| 2 |50 | 8|47 |6 14| M14x1.5 |44 |78(87)
50 |Upto300] 301 to 1500 14 [12(14)| 1/4 |14 [12(14) | 1/4 |35 |32 |27 |20 |30 | 2 |58 | 11|58 |7 18| M18x1.5 [55 |90 (102)
63 |Upto300] 301 to 1500 14 [12(14)| 1/4 |14 [12(14) | 1/4 |35 |32 |27 |20 |32 | 2 |58 |11 |72 |7 18 | M18x1.5 |69 [90 (102)
(mm) With Air Cushion (mm) With Rod Boot (mm)
Bore Bore Rc, NPT port Bore JH |[JW
size |TA| TDe8 | TR | TZ | Z | 2Z size [GA| GB P WAl WB (Wo \WH "ie|f| h|l z :t zZ| 2z
20 | 11 856 39 476 46 [106 (114) 20 |12 [10(12) [M5x0.8| 16 |15 (16)] 25° | 1.5 20 |30|18|55|27|15.5/10.5 66 |126 (134)
25 | 11| 103585 (43 | 53 |51 [111(119) 25 [12.5/10(12.5)M5x0.8| 16 |14.5 (16)] 25° | 1.5 25 |30[19|62|32|16.5[10.5| 4 |73 [133 (141)
32 [11]123%% |54.5] 67.7] 51 [113(121) 32 [12 [10(12) | 1/8 [ 16 |14 (16)[25° [1.5 32 [35]19]62]38]18.5/10.5| S | 73[135 (143)
40 | 12| 1438% |65.5| 78.7| 62 |[130(139) 40 [13 |10(13) 1/8 17 (15 (17) 20° [ 1.5 40 |35]|19|70|48|21.5/10.5 ? 82 |150 (159)
50 | 13| 162%% |80 | 98.6| 71 [150(162) 50 |14 [12(14) | 1/4 | 18 [16 (18)| 20° |3 50 |40[19]78|59]24 [10.5|~ |91][170 (182)
63 | 13 ] 183%% |98 [119.2] 71 [150(162) 63 [14 [12(14) [ 1/4 | 18 [17 (18) 20° |3 63 |40[20]78|72[24 [105 91170 (182)

+ Refer to the basic type for the female rod end.
Note) ( ): Denotes the dimensions for long stroke.

304

# The minimum stroke with rod boot is 20 mm.



Air Cylinder: Standard Type .
Double Acting, Single Rod CG 1 Series

Head Trunnion: CG1TN

H S + Stroke F
A K |[GA 2xP TR
MM AL E>7+ (Rc, NPT, G) % . «
\ Hi a|Q
a i klo
El e x|.E
R I J
8 I 5 u
R [
Width across flats B1 ng
Width across flats KA Width across flats NA
Z + Stroke B TZ
ZZ + Stroke
* Constructed of a trunnion pin, flat washer and hexagon socket head cap bolt.
With air cushion 2xP
wB
B

Cushion valve, Width across flats WH

=

e |
L

i

With rod boot

olJ
oe
|

& 18
Z +¢ + Stroke
ZZ + ¢ + Stroke

S )
& e

(mm)
Bore Stroke range Rc, NPT port G port
size | Standard Long stroke GA|GB |P|GA|GB | P AL E ]| D] E ] 65| 0] K] 1L o5 S
20 |Upto200 201 to 1500 12 {10(12)[ 1/8 |12 [10(12) [M5x0.8| 18 |155/ 13 | 8 12| 2 | 35 5126 |5 6 | M8x1.25|24 |69 (77)
25 |Upto300 301 to 1500 12 |10 (12)[ 1/8 | 12.5 |10 (12.5)M5x0.8| 22 [19.5| 17 | 10 | 14 | 2 | 40 631|55| 8 |M10x1.25/29 |69 (77)
32 |Upto300 301 to 1500 12 {10 (12)[ 1/8| 10.5 [10(105) 1/8 | 22 |19.5| 17 [12 |18 | 2 |40 | 6|38 |5.5| 10 I[M10x 1.25( 35,5 |71 (79)
40 |Upto300 301 to 1500 13 [10(13)[1/8| 13 [10(10) | 1/8 |30 |27 |19 |16 25| 2 |50 | 8|47 |6 14 | M14x1.5 |44 |78 (87)
50 |Upto300 301 to 1500 14 [12(14)[1/4 |14 [12(14) | 1/4 | 35|32 |27 |20 |30 | 2 |58 |11 |58 |7 18 | M18x 1.5 |55 |90 (102)
63 |Upto300 301 to 1500 14 [12(14)[1/4|14 [12(14) | 1/4 [ 35|32 |27 |20 |32 | 2 |58 |11 |72 |7 18 | M18x 1.5 |69 |90 (102)
(mm) With Air Cushion (mm) With Rod Boot (mm)
Bore Bore Rc, NPT port Bore JHJW
i TB| TDe8 (TR |TZ| Z zz size [GA | GB P WA WB (W6 WH  ~“le|f|h|lJ ¢ Z |22

20 | 11| 83% |39 |47.6/93(101)106(114) 20 [12 [10(12) [M5x0.8| 16 [15 (16) 25° |1.5 20 [30|18|55|27[15.5[10.5]  [113(121)[126(134)
25 |11 [ 1038 [43 [ 53 |98(106)[111(119) 25 |12.5[10 (12.5|M5x0.8| 16 [14.5(16)[ 25° [1.5 25 [30]19]|6232[16.5[105] o [120(128)[133 (141)

( ( (

( o (2021350
32 [10(11)] 12353 [545] 67.7101 (108)[113 (121) 32 |12 [10(12) | 1/8 | 16 |14 (16)] 25° [1.5 32 |35|19 62|38 18,5105 S [123(130)[135 (143)
40 _[0(12) 142335 [65.5] 78.7118 (125)[130(139) _40 |13 [10(13) | 1/8 | 17 [15 (17)|20° [1.5 _ 40 |35|19|70 48 [215[10.5] @ [{38 (146)[f50 (159)
50 [12(13] 16353 [80 | 98.6[136 (147)[150 (162) _ 50 |14 [12(14) | 1/4 | 18 [16_(18)| 20° |3 50 |4019 7859 (24 [10.5= [i56(167)[f70 (182
63 [12(13] 18353 [98_[119.2[136 (147)[150 (162) _63 |14 [12(14) | 1/4 | 18 |17 (18)| 20° |3 63 | 4020787224 [105] [is6(i67)[70 (182

S5 EgEREEEe

=
o
—

o
=
)

(]
(7]
—

(5]
n
N

« Refer to the basic type for the female rod end. * The minimum stroke with rod boot is 20 mm.
Note) ( ): Denotes the dimensions for long stroke.

305



CG1 series

Clevis: CG1DN (220 to 263)

S + Stroke

A GA 2xP 0CDH10 (Hole dia.) TT
AL V(Rc, NPT, G) d9 (Shaft dia.)
H = 1
— £
= s o I
L ; ¢ 1=
~ T
Width across Qg? Iy
flats B1 Width across flats NA 8xJ
ZZ + Stroke
With air cushion
2xP
With rod boot h+e
£
ﬁ ) = )
S}
@/ 5
S (S]
M‘
Z + ¢ + Stroke
ZZ + ¢ + Stroke
(mm)
Rc, NPT port
Bore size GB | P |GA A F|H|Hi|1I L MM |NA
20 10(12)] 1/8 |12 M5 x 0.8 18 2 35| 5[26 14| M8 x 1.25 |24
25 10(12)] 1/8 | 12.5 .5)|M5 x 0.8 22 2 |40| 6|31 16 |[M10 x 1.25|29
32 10 (12)] 1/8 | 10.5 22 2 40| 6|38 0 IM10 x 1.25|35.5
40 10(13)] 1/8 |13 30 2 |50| 8|47 22 | M14x 15 |44
50 12(14)] 1/4 |14 35 2 |58[11]58 25| M18x 1.5 |55
63 12(14)] 1/4 |14 35 2 |58 11|72 30 | M18 x 1.5 |69
(mm) Air Cushion mm) With Rod Boo! (mm)
Bore Applicable Rc, NPT port Bore JW|
size z z Ipin part no. GB WH size e ) ¢ z zz
20 .4(118 (126)|129 (137) | CD-G02 10 (12) 1.5 20 |30 10.5 138 146]‘149 (157)
25 8 125 (133)|138 (146)| CD-G25 10 (12.5) 1.5 25 |30 105 o, [147 (155]‘160 (168)
32 (139)]146 (154) | CD-G03 10 (12) 15 32 |35 10.5] & [153 (161168 (176)
40 160 (159)[168 (177)|CD-Go4 10 (13) 15 40 |35 105  [{70 179]188 (197
50 6 [m3 (185)|193 (205) | CD-GO5 12 (14) 3 50 |40 10.5] = [193 (205)213 (225)
63 .4[178 (190)[200 (212) | CD-GOB 12 (14) 3 63 |40 105]  [198(210)220 (232)

+ Refer to the basic type for the female rod end.

Note) ( ): Denotes the dimensions for long stroke.

306

# The minimum stroke with rod boot is 20 mm.



Air Cylinder: Standard Type .
Double Acting, Single Rod CG 1 Series

Clevis: CG1DN (280, 2100)

H S + Stroke L _RR TZ
F_|GA 2xP GB| _V cz
A K (Re, NPT, G) 0CDw1o0 (Hole dia.) o]
AL d9 (Shatt dia.) CJ1
LN T T e
" ™ i ) ST e cJP
N ] el | 5 ¢
o PEH 5 a7 of L CJ2
. &7 TP
> z Q| [© |om
< —
Width across flats KA Width across flats NA 8xdJ cXi63 CMZ
Width across flats B1
Z + Stroke CM3
ZZ -+ Stroke m
L . CG3
With air cushion 24P
X
(Re, NPT, G) 5 JMB
Cushion valve, Width across flats WH W67, 10°
MB
MB1
H CA2
= CS$1
CS2
With rod boot
i
3 e 2
Q
¢ f
Z + ¢ + Stroke
ZZ + ¢ + Stroke
(mm)
Bore | Stroke range Rc, NPT port G port
i ongstok| GA| GB | P |[GA[GB | P A |AL|B1| C [CD|CX|CZ|D |E|F|H|Hi|I J K|KA|L| MM |NA
80 |Upto300|301t01500| 20 |16 (20)| 3/8 | 17.5 16(17.5)‘ 3/8 140(37|32|50|18|28|56|25[40| 3 |[71|13| 89| M10x15]10|22|35 |M22x 1.5 86
100 |Upto300{301t01500| 20 [16 (20)] 1/2 | 17.5 16(17.5)‘ 1/2 |40|37|41|60|22|32]64|30|50| 3 |71 |16|110|M12x1.75| 10 | 26 | 43 |M26 x 1.5| 106
(mm) With Air Cushion (mm) With Rod Boot (mm)
Bore Applicable  Bore Rc, NPT port Bore
size |RR S [TZ|V| Zz | 2z bnpaino.  size | GA| GB P WA WB (W6 WH o ~le flh|ilM ¢ V4 zz @
80 | 18108 (122) 64 | 26 [214 (228)|232 (246)|IY-G08 80 | 20 |16 (20)| 3/8 | 24 |20 (24)[ 20° | 4 80 [52[10[80 (59| /4 |223(287)241(255)

= Refer to the basic type for the female rod end. * The minimum stroke with rod boot is 20 mm.

Note) ( ): Denotes the dimensions for long stroke. Technical
Data

307

100 | 22 [108 (122) 72 | 32 222 (236)[244 (258)[IY-G10. 100 | 20 [16(20)| 1/2 | 24 |20 (24)[20° | 4 100 |62] 7]80 |71 stroke [231 (245)|253 (267) X0
i



CG1 series

With Pivot Bracket [(): Denotes the dimensions for long stroke.]

Rod Trunnion (U) with Pivot Bracket

Bracket mounting range

Ts

-
E
Male Thread (mm) Female Thread (mm)
Bore size B TE TF TH TS T TV W X TY Z Bore size Z
20 38 0 55 | 25 28 | 32 | 358 | 4 6 8 4 20 24
25 455 0 55 | 30 33 | 32 | 398 | 4 0 8 5 25 25
32 54 0 66 | 35 40 | 45 | 494 | 4 2 8 5 32 25
40 63.5 0 6.6 | 40 49 | 45 | 584 | 56 30 0 62 40 27
50 79 20 9 50 60 | 6 724 | 64 36 6 71 50 29
63 96 20 | 11 60 74 | 8 904 | 74 46 46 71 63 29
L] N
TW TEmw
Z + Stroke v 9 0
ZZ + Stroke
Male Thread (mm) Female Thread (mm)
Bore size B TE TF TH TS T TV TW X TY z Bore size Z zz
20 38 10 55 | 25 28 | 32 | 358 | 42 16 28 | 93(101)[114(122) 20 71(79)| 92(100)
25 455 | 10 55 | 30 33 | 32 | 398 | 42 20 28 | 98(106)[119 (127) 25 72(80)| 93(101
32 54 10 6.6 | 35 40 | 45 | 494 | 48 22 28 [101(108)[125 (132) 32 75(82)| 99(106
40 63.5 | 10 6.6 | 40 49 | 45 | 584 | 56 30 30 |18 (125)[146 (153) 40 83 (90) [111(118)
50 79 20 9 50 60 | 6 724 | 64 36 36 _|136 (147)[168 (179) 50 94 (105) |126 (137)
63 96 20 | 11 60 74 | 8 904 | 74 46 46 [136 (147)[ 173 (184) 63 94 (105) [131 (142)
Clevis (D) with Pivot Bracket
220 to 263
LIy
™
Z + Stroke
ZZ + Stroke
Male Thread (mm)
Bore size B TE TF TH T TV | TW | TX TY z 2z Bore size 4 2z
20 38 0 55 | 25 2 | 358 | 4 6 8 |18 (126)[139 (147) (
25 455 0 55 | 30 2 | 39.8 | 4 0 8 [125( (154) (
32 54 0 66 | 35 | 45 | 494 | 4 2 8 |131( (163) (
40 63.5 0 66 | 40 | 45 | 584 | 56 0 0 [150( (187) (
50 79 0 9 50 | 6 724 | 64 6 6 |173(185)[205 (217) (
63 96 0 | 11 60 | 8 90.4 | 74 46 46 [178(190)]215 (227) (
Clevis (D) with Pivot Bracket Py
080, 0100
Z + Stroke
ZZ + Stroke
Male Thread (mm) Female Thread (mm)
Bore size B TF TH 1T TV | TW | TX TY z 2z Bore size z 2z
80 995 11 55 1 110 | 72 85 | 45 [214(228)[2725 (2865) 80 162 (176)| 2205 (234.5)
100 120 | 135 | 65 12 130 | 93 | 100 | 60 |222(236)[2985 (3125) 100 173 (187)[249.5 (263.5)

308




CG1 series

Dimensions of Accessories

Single Knuckle Joint

Double Knuckle Joint

1-G02, G03 1-G04, G05, G08, G10 Y-G02, G03 Y-Go04, G05, G08, G10
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
MM @NDuo MM oNDiro @« CcJ1
. 4 €3 —& “ cJp
MM oND hole H1o
ALY M MM oND hole H1o Axis d9 cJZ
=L Axis d9
A A (mm) — P
— &) T8 .EL S Jcm
Part no. y;\ze(mm) A |A1|E1|Li| MM |[R1|U1|NDH1o| NX =< k
1-G02 | 20 |34 85|016| 25 | M8x1.25 103115] 8% | 8% AUy 12 A1lUs Cm2
1-GO3 | 25,32 | 41 [10.5/020] 30 [M10x1.25]12.8[14 | 10'**| 10 LL1 | L1
1-G04 | 40 [42[14 [022] 30 [M14x15 |12 [14 | 10%°®] 18 A A cM3
1-GO5 | 50,63 [ 56 [18 | 028] 40 [M18x15[16 [20 | 14'3°°[ 221 (mm)
1-GO8 | 80 [ 7121 [038]50 [Me2x15 (21 [27 | 18%°°] 28 Part [Awlcabl]
1-G10 | 100 [ 79 [21 [o44] 55 [M26x15[24 [31 | 2279 [ 327 no. || A [A1|Er|Li| MM |Ri|UrND| NX INZ| L p:gg:ﬁe:o m
. Y-G02| 20 |34 85|016]25 |M8x1.2510.3]11.5| 8| 81|16 |21 |IY-G0O2
Knuckle Pin Y-G03|25, 32| 41 [10.5]020] 30 [M10x1.25[12.8[14_| 10| 10153 | 20 [25.6] IV-G03 ‘063
Y-G04| 40 [42]16 [022] 30 [M14x15[12 [14 [10]18:33] 36 [41.6] IY-G04
Y-GO5|50,63] 56 [20_| 028] 40 [Miax15 16 |20 |14 |22:33] 44 [sos|v-Gos |[JMB
Y-G08| 80 | 7123 [038]50 |Me2x15 21 [27 [18]28:33|56 [64 [1v-Go8
Y-G10] 100 [79]24 [o44]55 [Ma6x15[24 [31 [22]32:53[64 72 [IY-Gio |[VIB
Material: Carbon steel (mm) = A knuckle pin and retaining rings are included. MB1
Applicable bor Incli
Partno. pgi::l()rﬁrr?)oe Dds | L1 d|Lx|m|t retaifulf%eﬁng Pivot Bracket
1Y-G02 20 8002 |21 | 7.6/162]1.5 |0.9 |TypeC8foraxs T ——. CA2
1Y-GO03 | 25,32 | 102332 [25.6] 9.6]20.2[1.551.15]Type C10foraxis 220 to 063
1Y-G04 40 102052 [41.6] 9.6] 36.2[1.55[1.15Type C10 for axis Material: Carbon steel r&yﬂd cS1
1Y-GO5 | 50,63 | 1438 [50.6]13.4] 44.2 [2.05]1.15] Type C14 foraxis oTR
1Y-G08 80 18353 |64 |17 | 56.2 |2.55(1.35 | Type C18 for axs
IY-G10 | 100 | 223% |72 |21 | 64.2|2.55]1.35 TypeCo2lorais o) - €S2
* Retaining rings are included. ':l}\_ oTE*8!0
. . | = Knock pin hole
Clevis Pin .
— v
™w
280, 6100 oTR oTd
Material: Cast iron
Material: Carbon steel (mm)
li I
Part no. Apzizc:?ﬁng)ne Dds Li|d|L|m t retlgicr#[:;eﬁng \kl,
CD-G02 20 8:3%2 | 43.4| 7.6(38.6(/1.5 0.9 |TypeC8foraxis
CD-G25 25 103852 | 48 | 9.6/42.6(1.55[1.15 | Type C10for axis ]
CD-G03 32 128628 | 59.4/11.5/54 | 1.55|1.15 | Type Ct2foraxis LTy | ¥ axotF 1R
CD-G04 40 14388 | 71.4]13.4]65 [2.05[1.15 [ Type Ct4 foraxis ™w Tz
CD-G05 50 16353 | 86 |15.2[79.62.05(1.15 | Type C16 for axis (mm)
— ;
*%Z;grg:g ring:zre indlz,e;% 105.4[17 |97.8]2.45]1.35 Type C18 for axis cg%r;on;“ Apmmah‘e?gm(mm .gg T g Tg TET TR TN TR T
N bl o ) -020- 55] 25 [(29.3)] 13 | 3.2
+ A clevis pin and a knuckle pin are common for the bore size @80 and 2100. CG-025-24A 25 43 [ 10 | 10| 55] 30 [@31) 15 | 3.2
Rod End Nut CG-032-24A 32 50 | 12 | 10 | 6.6] 35 |40.4)] 17 | 4.5
— CG-040-24A 40 58 | 14 | 10 | 6.6] 40 |(49.29)| 21 | 45
o d CG-050-24A 50 70 [ 16 | 20 | 9 | 50 |(60.4)] 24 | 6
A CG-063-24A 63 82 | 18 [ 20 [11 | 60 [(74.6)] 26 | 8
TSy CG-080-24A 80 73 |18 | — [11 | 55 | 283 36 |11
8 N/ CG-100-24A 100 90 [ 22 | — [13.5] 65 [323i] 50 [12
Part no. TU | TV |[TW | TX | TY | TZ |Applicable pin O.D.
Material: Carbon steel (mm) CG-020-24A 20 (18.1)[(35.8)| 42 | 16| 28 | 38.3]  8dsBsid
Part no. | Applicable bore size (mm) d H1 | B1 (9 D CG-025-24A 25 (20.7)[(39.8)| 42 | 20| 28 | 42.1| 10ds:567%
NT-02 20 M8x125| 5 |13 | (15 [125 CG-032-24A 32 (236)[(49.4)| 48 | 22 28 | 53.8] 12ds 350 D-J
NT-03 25,32 M10x1.25] 6 | 17 | (19.6) [16.5 CG-040-24A 40 (27.3)[(58.4)| 56 | 30 30 | 64.6] 14ds3%%
NT-G04 40 M14x15| 8 | 19 | (21.9) |18 CG-050-24A 50 (29.7)[(724)| 64 | 36| 36 | 79.2 16ds:35% X
NT-05 50, 63 M18x1.5 | 11 | 27 [ (31.2) |26 CG-063-24A 63 (34.3)[(904)| 74 | 46| 46 | 97.2] 18ds 352
NT-08 80 M22x 1.5 | 13 | 32 | (37.0) |31 CG-080-24A 80 — | — [ 72| 85] 45 |10 | 18ds:$%8 Technical
NT-10 100 M26x 1.5 | 16 | 41 | (47.3) |39 CG-100-24A| 100 — | — ] 93]100] 60 [130 | 22ds %5 Data

309



CG1 series

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No.

B‘zr"fr:i)ze Axial foot*! Single knuckle joint | Double knuckle joint#! Rod end nut
20 — 1-G02SUS Y-G02SUS NT-02SUS
25 —

1-G03SUS Y-G03SUS NT-03SUS
32 CG-L032SUS
40 CG-L040SUS 1-G04SUS Y-G04SUS NT-G04SUS
50 CG-L050SUS

1-GO5SUS Y-G05SUS NT-05SUS
63 CG-L063SUS
80 CG-L080SUS 1-G08SUS Y-G08SUS NT-08SUS
100 CG-L100SUS 1-G10SUS Y-G10SUS NT-10SUS

«1 A knuckle pin and retaining rings are shipped together. Refer to the XC27 for details on stainless steel double clevis pins and
double knuckle pins. The accessories need to be ordered separately from the cylinder.

Dimensions

The single knuckle joint, double knuckle joint, mounting nut, and rod end nut are the same as the standard type.

Axial foot

F\ M
LX
LZ 4xoLD ZZ + Stroke
(mm)
Bore size B LD LH LT LX Lz M X Y z zz
32 44 72 | [25] 3] [44] 60 | 35 | [16] 6 53] [117.5(125.5)]
40 53.5 72 | [30] [3] [54] 75 | [4] [16.5] | 65 | [63.5] [135(144)]
50 69 [10] 140] 4 [66] 90 55 | 215 | 115 | [755] | [157.5(169.5)]
63 81 [12] [45] 4 82] | 110 7 215 | 115 | [755) 159(171)
80 995 | 12 55 4 [100] | 130 7 28 17 [95] 190(204)
100 125 [14] [70] [6] [120] 160 8 [30] 15 [95] 193(207)

#1 []: Same as the standard type ( ):
x2 Supplied with 4 mounting screws.

® 309-1

Denotes the dimensions for long strokes



Air Cylinder: Standard Type
Double Acting, Double Rod

CG1W series

020, 925, 032, 940, 050, 063, 280, 100

How to Order

] ce1w —-[100]
Mcnm -100

With auto swnch
(Built-in magnet)

Z_
Z-M9BW| |- |

|

Number of
Auto switch i

Double acting, e l ! _ auto switches
Double rod type Mounting Type [ Nil_[Without auto switch Nil_[ 2 pos.
n + For applicable auto switches, S 1 pe.
B ] Basic [ N [Rubber bumper refer to the table below. pe
Z* | Basic (without trunnion mounting female thread) LA [ _Aircushion | n n”pcs.
L Axial foot Suffix for cylinder (Rod boot)
F Flange . T T Note) In the case of w/rod boot,
U* Trunngion Bore size Nil Without rod bo_m and a foot bracket or rod
20] 20 mm |[ 50| 50 mm One| J Nylon tarpaulin _ flange as a bracket, those
* Not available for 80 and ¢100. side | K |Heat resistant tarpaulin parts are to be assembled
* Mounting bracket is shipped together with the | 25 | 25 mm || 63| 63 mm Both | JJ Nylon tarpaulin at the time of shipment.
product, but not assembled. 32| 32mm 80/ 80 mm sides| KK [Heat resistant tarpaulin| * FOr female rod end, no rod
= The cylinder for F, L mounting types is Z: Basic | 40 | 40 mm |[{100| 100 mm P boot is provided.
(without trunnion mounting female thread). Rod end thread
Built-in Magnet Cylinder Model [ Nil_ [ Male rod end
If a built-in magnet cylinder without an auto switch is required, [_F | Female rod end
there is no need to enter the symbol for the auto switch. Cylinder stroke (mm) Made to Order
(Example) CDG1WFA32-100Z Refer to “Standard Strokes” on page 311. For details, refer to page 311.
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
£ Load voltage Auto switch model Lead wire length (m) |
: . Electrical | 5 | Wiring Applicable bore size Pre-wired .
Type| Special function entry ‘_§ (Output) DC AC z20 to 963 280, 2100 (?\ﬁ) (,\1,” (E) (% f\é(’?\;v)e connector Applicable load
< F In-line In-line
3-wire MONV M9N = ® ®® O —| O
(NPN) 5V 12V — — G59 ® | —®O|—| O IC
Grommet 3-wire ! M9PV M9P = ®|®@ ® O/—| O |ocircuit
—_— (PNP) = = G5P ® —|0/O|—| O
< M9OBV M9B = ® ®® O —| O
£ 2-wire 12V — — K59 ® —|®O|—| O —
H Connector — H7C = o — 000 —
o 3-wire MONWV | MINW — ® /0 O|—| O
3 . . (NPN) — — G59W | @ |— @ /O|—| O IC | Relay,
© — - ’
g| Dmonoste o e |24V V12V MOPWV | M9PW | — | @ (@ @O O | circuit | PLC
% (2-color indicator) (PNP) = — GPW | @ |—|@.0 — Q
° 2.wire 12v M9BWV | M9BW — ® 0 O|— O _
3 Grommet — — Ksgw @ |— /@O |—| O
@ 3-wire (NPN) 5V 12V MONAV*'| MONA*! = Ol|0|®@O[—| O IC
Water resistant 3-wire (PNP) i M9PAV*!| MOPA*! — OO @[O|—] O | circuit
(2-color indicator) . M9BAV*'| M9BA*! — O|0|@|O|—] O
2-wire 12V — — G5BAY | — |— @O | — 0
Diagnostic auput (2color indicator) 4-wire (NPN) 5V,12V — H7NF — ® | — 1@ O|—| O |[[Ccircuit
P Yes 3ire Equi oNPN)| — [ 5V — A96V A96 = ® —|®|—|—| — |[ICcirouit| —
2 | 100V | A93V*2 A93 — o 000 — — —
H Grommet | No | 100Vorless| A90V A90 = ® —|®|—|—| — |Ccircuit
o — [Ves | 100V, 200V  — B54 o —ejo|—| —
E to| 2wie [24v| 2V [200Vorkess] — B64 o — (@[ —[— — | — R;fg’
] Connector & — = C73C — o — 006 —
o No 24Vorless| — Cc80C = ® | —® ® ® — |(Caircuit
gt dedion o) | Grommet | Yes — — — B59W o —o/—|—| — —
+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
#2 1 m type lead wire is only applicable to D-A93.
* Lead wire length symbols: 0.5 m Nil (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.

M (Example) MONWM

L (Example) MONWL

Z (Example) MONWZ

N (Example) H7CN

* Since there are other applicable auto switches than listed above, refer to page 361 for details.

or details about auto switches with pre-wired connector, refer to pages 1648 and 1649.

he D-A90)/M90IOIC] auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

® 310




Air Cylinder: Standard Type .
Double Acting, Double Rod CG1 W Series

Specifications
————
Bore size (mm) 20 [ 25 [ 32 [ 40 [ 50 | 63 | 80 | 100
Action Double acting, Double rod
Lubricant Not required (Non-lube)
Fluid Air c J 1
Proof pressure 1.5 MPa
i p ing pressure 1.0 MPa CJP
Minimum operating pressure 0.08 MPa
Ambient and fluid Without auto switch: —~10°C to 70°C .
temperature With auto switch - ~10°C to 60°C (N 1eZn0) CJ2
Symbol Piston speed 50 to 1000 mm/s ‘ 50 to 700 mm/s JCM
Stroke length tolerance Up to 1000 st “b* mm, Up to 1500 st *5° mm
Rubber bumper Cushion Rubber bumper, Air cushion CMZ
M . Basic, Basic (without trunnion mounting female thread),
ounting : )
Axial foot, Flange, Trunnion CM3
Male | o8| 0.41| 066 | 1.20| 2.00| 340 | 590 | 9.90
Rubber | fod end m
bumper
Air cushion Allowable Female | 14| 18| 0.20| 052 | 091 | 154 | 271 | 454
kinetic rod end CG3
energy Male |R:0.35|R:0.56
) Air rodend | H: 042 | H: 0.65 091 | 1.80 | 3.40 | 4.90 |11.80 | 16.70
cushion | Female JMB
rod end 0.11 0.18 | 029 | 0.52 | 0.91 154 | 2.71 4.54 MB
vy Rod side, H: Head side
Made od trunnion type is not available for @80 and 2100.
Order M.ade to Order . Foot and flange types of cylinder sizes from 820 to 63 do not have trunnion mounting female MB1
==gpr= Click here for details thread. Operate the cylinder within the allowable kinetic energy.
Symbol Specifications CAZ

-XA[O | Change of rod end shape
-XB6 | Heat resistant cylinder (-10 to 150°C)*!

(5]
(7]
—

-XB7 | Cold resistant cylinder (40 to 70°C)*2 Accessories/refer to page 309 for part numbers and dimensions.

-XC6 | Made of stainless steel csz
-XC13 | Auto switch rail mounting Mounting Basic Axial foot | Rod flange |Rod trunnion

-XC22 | Fluororubber seal™! Standard Rod end nut ° ° ° °

-XC37 | Larger throttle diameter of connection port Single knuckle joint ° PY ° PY

-XC85 | Grease for food processing equipment

Double knuckle joint™2

#1 Cylinders with rubber bumper have no bumper. X o [ ] [ ] [ ] [ )
#2 Only compatible with cylinders with rubber Option (with pin)
bumper, but has no bumper. Pivot bracket*! — _ _ o
Rod boot [ ] ) Y )

Rod Boot Material

#1 Not available for 680 and 100.
#2 A double knuckle joint pin and retaining rings are shipped together.

N =3 Stainless steel mounting brackets and accessories are also available.
) Maximum operating ;
Symbol| Rod boot material temperature Refer to page 309-1 for details.
J Nylon tarpaulin 70°C
K |Heat resistant tarpaulin 110°C* Standard Stl’O kes
# Maximum ambient temperature for the rod boot ——————————————
itself.
Bore size (mm) Standard stroke (mm) Note) Maximum manufacturable stroke (mm) Note 2)
Refer to pages 355 to 361 for cylinders 20 25, 50, 75, 100, 125, 150, 200 201 to 1500
with auto switches. 25
 Auto switch proper mounting position 32
(detection at stroke end) and its mounting
height 40 25, 50, 75, 100, 125, 301 10 1500
* Minimum stroke for auto switch mounting 50, 63 150, 200, 250, 300
* Auto switch mounting brackets/Part no. 80
* Operating range
« Cylinder mounting bracket, by stroke/ 100
Auto switch mounting surfaces Note 1) Intermediate strokes not listed above are produced upon receipt of order. Manufacture of
intermediate strokes at 1 mm intervals is possible. (Spacers are not used.) D'

= Note 2) The maximum manufacturable stroke shows the long stroke.
A Preca utlons Note 3) Applicable strokes should be confirmed according to the usage. For details, refer to “Air |}
Cylinders Model Selection” on front matter pages. In addition, the products that exceed
FpEEEEEmEmm—_EmEm—m—_m—m=—=—=a the standard stroke might not be able to fulfill the specifications due to the deflection etc.  [Tauical
1 Refer to page 362-1 before handling. 1 Daa

311 ©


http://www.smcworld.com/products/en/custom.do

CG1W series

Weights
—
(kg)
Bore size (mm) 20 25 32 40 50 63 80 100
£ Basic 0.13 | 022 | 0.33 | 0.55 1.02 1.37 | 2.64 | 4.09
[=2]
2 Axial foot 024 | 035 | 049 | 077 | 150 | 2.09 | 3.60 | 5.84
2 Flange 0.21 032 | 047 | 0.75 1.36 1.87 | 335 | 544
©
o Trunnion 0.14 0.24 0.36 0.60 1.16 1.51 — —
Pivot bracket 0.08 | 0.09 | 0.17 | 025 | 0.44 | 0.80 —_ -
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22 0.39 0.57
Double knuckle joint (with pin) | 0.05 | 0.09 | 0.09 | 0.13 | 026 | 0.26 | 0.64 | 1.31
Additional weight per 50 mm of stroke | 0.07 | 0.10 | 0.13 | 0.23 | 0.34 | 0.38 | 0.54 | 0.77
Additional weight with air cushion | O 0.01 004 | 0 0.01 004 | O 0.04
Weight reduction for female rod end | -0.02 | -0.04 | -0.04 | -0.10 | -0.20 | —-0.20 | -0.38 | -0.54
Calculation (Example) CG1WLN32-100Z *Basic weight - 0.49 (Foot, 832)
(Foot, 32, 100 stroke) * Additional weight 0.13/50 stroke
*Air cylinder stroke:- 100 stroke
0.49 x 0.13 x 100/50 = 0.75 kg
Mounting Brackets/Part No.
—
Mounting | Order Bore size (mm) Contents
bracket qty. 20 25 32 40 50 63 80 100
Axial foot 2 Note)| CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063 | CG-L080 | CG-L100 2 foots, .
8 mounting bolts
Flange 1 | CG-F020 | CG-F025 | CG-F032 | CG-FO40 | CG-F050 | CG-F063 | CG-F080 | CG-Fioo | | flande,
4 mounting bolts
Trunnionpin | 1 | CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063 |  — — |2 trunnion pins, 2 trunnion bolts,
2 flat washers
Pivot bracket 1 CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A — —_ 1 pivot bracket

Note) Order two foots per cylinder.

Air-hydro

CDG1W|Mounting typelHl Bore size |—| Stroke

|| Rod end thread | Y4 —| Auto switch

Air-hydro
[ Nil_[ Without magnet
“ Built-in magnet

Low pressure hydraulic cylinder of 1.0 MPa or less

Specifications

Bore size (mm)

20, 25, 32, 40, 50, 63

When using together with the CC series air-hydro unit, constant and low Action Double acting, Single rod
speed actuation and intermediate stopping similar to hydraulic units are Fluid Turbine oil
possible with the use of valves and other pneumatic equipment. Proof pressure 1.5 MPa
. ) il pressure 1.0 MPa
Dimensions: Same as the standard type Minimum pressure 0.18 MPa
Piston speed 15 to 300 mm/s
Cushion Rubber bumper (Standard equipment)
Ambient and fluid 5 to 60°C
Mounting Basic, Axial foot,

® 312

Flange, Trunnion

* Auto switch can be mounted.




Construction

With rubber bumper

Air Cylinder: Standard Type .
Double Acting, Double Rod CG1 W Series

~
[z AN x]
= || C=
0 || =

With air cushion

[=)
=
~

o
=
)

[
D
wW

A

PR

MB1
CA2
CS1
CS2
Component Parts Replacement Parts: Seal Kit
No. Description Material Note Bore size (mm) Kit no. Contents
1 | Rod cover Aluminum alloy Hard anodized 20 CG1WN20Z-PS
2 | Cylinder tube Aluminum alloy Hard anodized 25 CGiWNzszps | Setofthe
3 | Piston Aluminum alloy 32 CGI1WN32Z-PS ]Z"%S )
. Stainless steel | For 20 or 825 with built-in magnet 40 CGIWN40ZPS | ' "
4 | Piston rod = o
Carbon steel” Hard chrome plating™ Note) As sizes 950 and larger cannot be disassem-
5 Bearing alloy bled, the seal cannot be replaced.
6 | Bump Resin . Note) Refer to the Specific Product Precautions on
7 | Bump Resin 232 or larger is common. page 362-1 for Disassembly/Replacement.
8 | Rod end nut Carbon steel Zinc chromated Order with the kit number according to the
9 | Cushion ring Aluminum alloy * The sbeoarlekistl?r?éludes a grease pack (10 g)
10 | Cushion valve } z:oozrrslr:ragl;‘:: Cg:l;:r\;lrzel Electzrtijrl‘iscshr:;izltiatmg Order with the following part number when only
- the grease pack is needed.
11 | Cushion seal Urethane Grease pack part number: GR-S-010 (10 g)
12 | Rod seal NBR
13 | Piston seal NBR
14 | Tube gasket NBR
15 | Valve seal NBR
Note) For cylinders with auto switches, the magnet is installed in the piston.
= The material for 820, @25 cylinders with auto switches is made of stainless steel.
D-O
X0



CG1W series

Basic with Rubber Bumper: CG1WBN

0
9E 05

Width across flats B1

Width across flats KA F GA 2xRcP GA F  Width across flats KA
MM Hq Hi
o T o
o ! o
g = = 1
o i Ee SRR
PR ajm RS
\y &
With across flats Bt & &
- | AL AL
C 8xd A ‘ K |TA| \4xTC \TA| K A
NA H S + Stroke H + Stroke

ZZ + 2 Stroke

<With rod boot on one side>

olJ
oe
[

h+¢
ZZ + ¢ + Stroke

<With rod boot on both sides>

Female rod end

—

ZZ + 2 Stroke

g .8 8 8
T R
E' Tk (R ul
ﬁ% 5 o AT Fimam
s 8 e R
I
%ﬁ ﬁl Bl st e =
W ¢ |_f f ¢ + Stroke
h+¢ S + Stroke h + ¢ + Stroke
ZZ + 2 (¢ + Stroke)
(mm)
Bore Stroke range
size |Standard| Long stroke A |AL|Bi|C | D | E|F |GA|H I J K | KA MM NA| P | S
20 |Upto200| 201to 1500 | 18 |15.5| 13 |14 8 | 12 2 12 5 26 | M4x0.7 depth 7 5 6 | M8x1.25 | 24 | 1/8 | 77
25 |Upto300| 301to 1500 | 22 [19.5| 17 [16.5] 10 | 14 2 12 6 31| M5x0.8depth75 | 55| 8 | M10x1.25 | 29 | 1/8 | 77
32 |Upto300| 301to 1500 | 22 [19.5| 17 |20 12 |18 | 2 12 6 | 38| M5x0.8depth8 55| 10 | M10x1.25 | 355/ 1/8 | 79
40 |Upto300| 301to 1500 | 30 |27 19 |26 16 | 25 | 2 13 8 | 47| M6x1depthi2 6 14 | M14x15 | 44 | 1/8 | 87
50 |Upto300| 301to 1500 | 35 |32 27 |32 20 [ 30 | 2 14 | 11 58 | M8 x1.25depth 16 | 7 18 | M18x1.5 | 55 | 1/4 | 102
63 |Upto300| 301to 1500 | 35 |32 27 |38 20 [ 32 | 2 14 | 11 72 | M10x 1.5depth 16 | 7 18 | M18x1.5 | 69 | 1/4 | 102
80 |Upto300| 301to 1500 | 40 |37 32 |50 25 [ 40 | 3 | 20 | 13 | 89| M10x1.5depth22 | 10 22 | M22x1.5 | 86 | 3/8 | 122
100 |Upto300| 301to 1500 | 40 |37 41 |60 30 | 50 3 20 | 16 | 110 [M12x1.75depth 22| 10 26 | M26x 1.5 [106 | 1/2 | 122
; ; - With rod boot*
Bore A . Without rod boot With rod boot on one side on both sides Female Rod End (mm)
size JH | J Bore
H|{ZZ|e | f|h | (o) e ¢ | ZZ zz - A1 H MM zz
20 | 11| M5x0.8 |35| 147 |30 | 18|55 |27 | 155 | 10.5 167 187 20 8 13 M4 x 0.7 103
25 11| M6x0.75 |40 | 157 | 30 | 19 | 62 | 82 | 16.5 | 10.5 179 201 25 8 14 M5x0.8 105
32 11 M8 x 1.0 40 | 159 | 35 | 19 | 62 | 38 | 18.5 | 10.5 ) 181 203 32 12 14 M6 x 1 107
40 12 | M10x1.25 | 50 | 187 | 35 | 19 | 70 | 48 | 21.5 | 10.5 g 207 227 40 13 15 M8 x 1.25 17
50 13| M12x1.25 |58 | 218 | 40 | 19 | 78 | 59 | 24 10.5 :’: 238 258 50 18 16 M10x 1.5 134
63 13| M14x15 |58 | 218 |40 |20 |78 |72 | 24 105 | = 238 258 63 18 16 M10x 1.5 134
80 — — 71264 | 52| 10|80 |59 | — — 273 282 80 21 19 M14x1.5 160
100 = — 711264 | 62| 7|80 | 71| — — 273 282 100 25 22 M16x 1.5 166

* The minimum stroke with rod boot is 20 mm.

#+ Cylinder sizes 80 and 8100 do not have trunnion mounting female thread on the width across flats NA.

314



Basic with Air Cushion: CG1WBA

Air Cylinder: Standard Type
Double Acting, Double Rod

CG1W series

WA 2xRcP WA
Width across flats KA F_IGA | /Gushion valve, Width across flats WH | GA| F Width across flats KA ‘0 Weg
MM H H
1\ g [ F7 2 ' G
Q Q
L =aarNi i R cJP
W) TR
e c2
Width across & '907 CJ2
flats B1|_ AL AL Width across flats B1
c oxd A ‘ K [TA| \4xTC TA| K A Jcm
NA H S + Stroke H + Stroke
ZZ + 2 Stroke CMZ
CM3
* For the one with rod boot, refer to w/rubber bumper. (mm) m
Bore size Stiokalrangd A|AL|Bi | C | D | E|F |GA|H |H |1 J K | KA
Standard | Long stroke 063
20 Up to 200 | 201 to 1500 | 18 15.5 13 14 8 12 2 12 35 5 26 M4 x 0.7 depth 7 5 6
25 Up to 300 | 301 to 1500 | 22 19.5 17 16.5 10 14 2 12.5 40 6 31 | M5x0.8 depth 7.5 515 8
32 Up to 300 | 301 to 1500 | 22 19.5 17 20 12 18 2 12 40 6 38 M5 x 0.8 depth 8 5.5 10 JMB
40 Up to 300 | 301 to 1500 | 30 27 19 26 16 25 2 13 50 8 47 M8 x 1 depth 12 6 14
50 | Upto300|301to1500 | 35 | 32 27 | 32 20 | 30 2 |14 58 | 11 58 | M8x1.25depth16 | 7 18 |MB
63 Up to 300 | 301 to 1500 35 32 27 38 20 32 2 14 58 1" 72 | M10x 1.5 depth 16 7 18
80 Up to 300 | 301 to 1500 40 37 32 50 25 40 3 20 71 13 89 | M10x1.5depth22 | 10 22 MB1
100 Up to 300 | 301 to 1500 | 40 37 41 60 30 50 3 20 71 16 110 |M12x1.75depth22| 10 26
j . # For mounting brackets, refer to page 309. CAZ
Bore size MM NA P S TA TC* ZZ | WA | W6 | WH .. Gylinder sizes 980 and 2100 do not
20 |[M8x125| 24 | M5x08 | 77 | 11 | M5x08 | 147 | 16 | 25° | 15 have trunnion mounting female thread
25 |M10x125] 29 | M5x08 | 77 | 11 | M6x075| 157 | 16 | 25° | 15 on the width across flats NA. Cs1
32 M10x1.25| 35.5 Rc1/8 79 1 M8 x 1.0 159 16 25° 1.5
40 | M14x15| 44 Rc1/8 87 | 12 | Mi0x1.25| 187 | 17 | 20° | 15 cS2
50 M18x1.5| 55 Rci1/4 102 13 M12x1.25 | 218 18 20° 3
63 M18x1.5 | 69 Rc1/4 102 13 M14x1.5 | 218 18 20° 3
80 M22 x 1.5 86 Rc3/8 122 — — 264 24 20° 4
100 M26x 1.5 | 106 Rc1/2 122 = = 264 24 20° 4
* Refer to w/rubber bumper for the female rod end.
D-O



CG1W series

With Mounting Bracket

Axial foot: CG1WL[

— S
o e 7}
@ 1=H=LD”—£ L
3 15 I
s ol  ——
5
LX
Lz W 2x0LC W
4xoLD X |y (Knock pin position) Y| X M
4 LS + Stroke

(mm)
Bore size f;'r?é‘: B [LC|LD|LH|LS |LT|LX|LZ| M| W]/ X Y z
20 |Upto1500| 34 4 6 20 53 | 3 32 | 44 | 3 10 15 7 47
25 |Upto1500| 38.5| 4 6 22 53 | 3 36 | 49 | 35 | 10 15 7 52
32 |Upto1500| 45 4 7 25 53 | 3 44 | 58 | 35 [ 10 16 8 53

40 |Upto1500| 54.5] 4 7 30 | 60 | 3 54 | 71| 4 10 165 | 85 | 635

50 |Upto1500| 70.5] 5 10 40 67 | 45 66 | 86 | 5 175 [ 22 [ 11 75.5

63 Upto1500| 82.5| 5 12 45 67 4.5 82 | 106 | 5 17.5 | 22 13 7515
80 | Upto 1500 | 101 6 11 55 74 | 45 | 100 | 125 | 5 20 | 28514 95
100 [Upto 1500] 121 6 14 65 | 74 | 6 120 | 150 | 7 20 [30 |16 95

= Other dimensions are the same as basic type.

Flange: CG1WFO
4 x oFD F FT

A T
& 1 T
H
B
(mm)
Boresize| '€ | g | E | F | FX | FD | FT | H
range

20 |Upto1500| 40 | 12 2 28 55| 6 | 35
25 |Upto1500| 44 | 14 2 32 55| 7 | 40
32 |Upto1500| 53 | 18 2 38 66| 7 | 40
40 [Upto1500| 61 [ 25 2 46 66| 8 | 50
50 |Upto1500| 76 | 30 2 58 9 9 | 58
63 |Upto1500| 92 | 32 2 70 | 11 9 | 58
80 Upto 1500 | 104 | 40 3 82 | 11 11 71
100 Upto1500| 128 | 50 3 100 | 14 14 71

* End boss is machined on the flange for oE.
= Other dimensions are the same as basic type.

316



With Mounting Bracket

Trunnion: CG1WUL

Air Cylinder: Standard Type
Double Acting, Double Rod

CG1W series

TR
TS Bracket mounting range @
@~ )
é’ a ‘ + CJP
5|2 TS 0 i T )z
£ N i \ i
T
] il (S . 72| B v S
- H e ) AP = iem
{c) /
F : 3 M2
- . x . — é
A g TR R
cm3
TY
o N s oot
TV z
1z oTE'S" CG3
MB1
(o) CS1
. Stroke 4
Boresize | e B TDe8 | TE | TF | TH | TR | TS | TT | TV | TW | TX | TY | TZ qoe ‘CSZ
20 Up to 1500 | 38 839% 10 55| 25 | 39 28 | 32 [(35.8)] 42 16 | 28 | 476 46 66 +¢
25 Upto 1500 | 45.5 | 10883 10 55| 30 |43 33 | 32 [(39.8)] 42 | 20 | 28 | 53 51 73+¢
32 Up to 1500 | 54 12352 10 6.6 | 35 | 545 | 40 4.5 [(49.4)| 48 22 28 | 67.7 51 73+¢
40 Upto 1500 | 63.5 | 1458% 10 6.6 | 40 | 655 | 49 45 |(58.4)| 56 30 30 | 787 62 82+¢
50 Up to 1500 79 16005 20 9 50 | 80 60 | 6 |(724)] 64 | 36 | 36 | 986 71 91+¢
63 Up to 1500 | 96 18382 20 |11 60 | 98 74 | 8 [(904)] 74 | 46 | 46 [119.2 71 91+¢
= Constructed of a pin, flat washer and hexagon socket head cap bolt.
« Other dimensions are the same as basic type.
D-(1



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

G 1 Series

020, 925, 032, 040

How to Order

Action Pivot bracket

[ 'S [Single acting, Spring return| Nil | None |

\ T \Sing\e acting, Spring exlend\ \ N \ Pivot bracket is shipped together with the product. \

# Only for D, U, T mounting types

+ Pivot bracket is shipped together with the product, but not
assembled.

Cylinder stroke (mm)
Refer to “Standard Strokes” on page 319.

Type
m Rubber bumper

BN cG1BINRS
IR coet BN 25

Z- -IM9BW||_|-| I_|

With auto switch
(Built-in magnet) " . Rod end thread yﬁtﬂz‘xi:ﬁhes
. ounting [ Nil [ Male rod end .
B Basic G Head flan.ge Female rod end Nil | 2 pcs.
z Basic (without trunnion || U Rod trunnion i S 1 pc.
mounting female thread)| [ T Head trunnion Bore size Rod end bracket® n_ |’ pes.
L Axial foot D Clevis 20 |20 mm Nil None
F Rod flange 25 | 25 mm Vv Single knuckle joint -
* Mounting bracket is shipped together with the product, but not assembled. | 32 | 32 mm w Double knuckle joint N out auto switch
# The cylinder for F, G, L, D mounting types is Z: Basic 40 | 40 mm N ) = For applicable auto switches, refer
. . # No bracket is provided for the female rod end. 1o the table bel
(without trunnion mounting female thread). «Rod end bracket is shipped fogether with the o the table below.
ilt-i i product, but not assembled.
Bu"t in Magnet cy"nder MOdeI = A knuckle joint pin is not provided with the sin- Made to Order
If a built-in magnet cylinder without an auto switch is required, gle knuckle joint. For details, refer to page 319.
there is no need to enter the symbol for the auto switch.
(Example) CDG1FN32-100TZ * Refer to “Ordering Example of Cylinder Assembly” on page 320.
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
£ Load voltage Auto switch model Lead wire length (m)
’ : Electrical | 5 Wiring Applicable bore size Pre-wired )
Type Special function % 50 1 5 [None Applicable load
entry | 8| (Output) DC AC 920 10 040 i || © | @) [y ©meeer
= F In-line
3-wire (NPN) 5V, 12V MONV M9N ® ®¢® O/—| O Ic
. Grommet 3-wire (PNP) ! M9PV M9P ® ®/® O/—| O circuit
£ 2-wire 12V M9BV M9B ® ®® O/—| O _
E Connector — H7C o — o000 —
2 3-wire (NPN) MONWV | MONW | @ (@ ® O|—| O Ic
2 i ic indicati 5V, 12V P
-~ [ Yes| 3wire (PNP) | 24V —  [mM9PWV | M9PW | @ [@[@[O|—| O | cirauit | RO
k] 2-wire 12V MOBWV | MOBW | @ (@ ® O|—| O —
- Water resistant Grommet 3-wire (NPN) SV 12V MONAV*'| M9NA*' | O [O|@|O[—| © IC
3 ater resstan 3-wire (PNP) ' M9PAV*'| MPA*' | O [O[@|O|—| O | dircuit
»n (2-color indicator) > "
2-wire 12V M9BAV*!'| M9BA*' | O |O |@ |O|—]| O —
Diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V = H7NF ® —| e O O IC circuit
3-wire IC
- ves| (Equiv.tonpny| — | BV - A9V A% | @ |— @ ——| — || —
E Grommet |—| 100V | A93V+#2 A93 o |ojo0 || — —
H No 100V orless| A0V A% | ®|—|@|—|—| — [iCoiuut
° [0
Y — — — —
E | Ves| _ py 100V.200V B54 | @ 0 Relay,
o No 2-wire 24V 200 V or less = B64 o —\®|—|—| — — pLC
¢ Connector Hes) = = C730 o|—elele —
= No 24V or less — c8oC [ ] ®| ® ®| — |(Ccircuit
Diagostic ndicaon (2-colorndicator) | Grrommet | Yes — — — B59W [ o —|—| — —
+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
#2 1 m type lead wire is only applicable to D-A93.
Nil (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.

* Lead wire length symbols: 0.5 m
im M (Example) MONWM

L (Example) MONWL

Z (Example) MONWZ

N (Example) H7CN

+ Since there are other applicable auto switches than listed above, refer to page 361 for details.

For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.

The D-A900/M9010I0 auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

® 318




L Spring extend

Symbol
Spring return, Rubber bumper

Spring extend, Rubber bumper

to
Meder’ | Made to Order

=uger= Click here for details

Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Specifications

CG1 series

Bore size (mm)

20 [ 25 [ 32 [ 40 | 20 [ 25 [ 32 [ 40

Action Single acting, Spring return Single acting, Spring extend
Lubricant Not required (Non-lube)

Fluid Air

Proof pressure 1.5 MPa

Maximum operating pressure 1.0 MPa

Minimum operating pressure

0.18 MPa 0.23 MPa

Ambient and fluid tempera-
ture

Without auto switch: —10°C to 70°C

With auto switch  + ~10°C to 60°C (© €€2ing)

Piston speed

50 to 1000 mm/s

Stroke length tolerance

+1.4

Upto 200 st '¢" mm

[z NN x]
= || C=
0 || =

Cushion Rubber bumper
Basic, Basic (without trunnion mounting female thread),
Mounting Axial foot, Rod flange, Head flange,

Rod trunnion, Head trunnion, Clevis

Accessories/referto page 309 for part numbers and dimensions.
——

==
@ ||

Symbol Specifications

-XC6 | Made of stainless steel

-XC20 | Head cover axial port*2

-XC27 | Double clevis and double knuckle joint pins made of stainless steel

-XC29 | Double knuckle joint with spring pin*!

-XC85 | Grease for food processing equipment

1 Applicable only to single acting, spring return type.
For single acting, spring extend type, please
contact SMC.

*2 Only compatible with cylinders with rubber bumper.

Refer to pages 355 to 361 for cylinders
with auto switches.

* Auto switch proper mounting position
(detection at stroke end) and its mounting
height

* Minimum stroke for auto switch mounting

* Auto switch mounting brackets/Part no.

* Operating range

* Cylinder mounting bracket, by stroke/
Auto switch mounting surfaces

A\ Precautions

1 Refer to page 362-1 before handling. 1

Mountin Basic Axial Rod | Head | Rod | Head Clevis
9 foot | flange | flange |trunnion|trunnion JMB
Rod end nut [ J [ [ J o o [ J [ J
Standard —— MB
Clevis pin — — — — — — [J
Single knuckle joint [ ] [ ) [ ) [ [ ] MB1
it
Option unble_ knuckle joint’ ° ° ° Y °
(with pin) c A2
Pivot bracket — — — — ® [ J [ J
#1 A double knuckle joint pin and retaining rings are shipped together. cs1
+2 Stainless steel mounting brackets and accessories are also available.

Refer to page 309-1 for details. csz
Standard Strokes Theoretical Output
—————————

(mm) ‘ Refer to page 1903. ‘

Bore size Standard stroke Note?)

20 25, 50, 75, 100, 125 Spring Reaction Force
25,32,40 25, 50, 75, 100, 125, 150, 200 Refer to page 1900. ‘
Note 1) Manufacture of intermediate strokes at 1 mm
intervals is possible. (Spacers are not used.)
Note 2) Applicable strokes should be confirmed
according to the usage. For details, refer to “Air
Cylinders Model Selection” on front matter
pages. In addition, the products that exceed the
standard stroke might not be able to fulfill the
specifications due to the deflection etc.
Mounting Brackets/Part No.
—
Mounting | Order Bore size (mm) .
bracket qy. 20 25 32 40
i Note) 2 foots,
Axial foot 2 CG-L020 | CG-L025 | CG-L032 | CG-L040 .
8 mounting bolts
Flange 1 | CG-FO20 | CG-F025 | CG-Fo32 | cG-Fodo | 1 flange.
4 mounting bolts
Trunnionpin | 1 | CG-T020 | CG-T025 | CG-T032 | CG-To4o | 2 Munmion pins, 2 runnion bolts,
2 flat washers
Clevis 1| cG-D020 | CG-D025 | CG-DO32 | CG-Do4o | 1 CeviS: 4 mounting botts,
1 clevis pin, 2 retaining rings
Pivot bracket 1 |CG-020-24A| CG-025-24A | CG-032-24A| CG-040-24A | 1 pivot bracket

Note) Order two foots per cylinder.

319


http://www.smcworld.com/products/en/custom.do

CG1 series

Ordering_; Example of Cylinder Assembly

Cylinder model: CDG1DN20-100Z-NW-M9BW

Mounting D: Clevis
Pivot bracket N: Yes
Rod end bracket W: Double knuckle joint

Auto switch D-M9BW: 2 pcs.

*Pivot bracket, double knuckle joint and auto
switch are shipped together with the product, but
not assembled.

Auto switch

Double knuckle joint

Clevis

Pivot bracket

Weights
——
Spring return (kg) Spring extend (kg)
Bore size (mm) 20 25 32 40 Bore size (mm) 20 25 32 40

25 st 0.17 0.27 0.40 0.63 25 st 0.16 0.25 0.38 0.59

50 st 0.19 0.30 0.45 0.71 50 st 0.18 0.28 0.43 0.67

. 75 st 0.26 0.40 0.58 0.91 . 75 st 0.24 0.37 0.54 0.83

?vzisg'f“ 100 st 028 | 043 | 062 | 099 ?vzisg'fn 100 st 026 | 040 | 058 | 0.91

125 st 0.35 0.53 0.76 1.20 125 st 0.32 0.48 0.69 1.08

150 st — 0.56 0.81 1.28 150 st — 0.50 0.72 1.12

200 st — 0.69 0.98 1.56 200 st — 0.63 0.89 1.40

Axial foot 0.11 0.13 0.16 0.22 Axial foot 0.11 0.13 0.16 0.22

mgléztei?g Flange 008 | 010 | 0.14 | 020 ’t‘)"rgzzgpg Flange 008 | 010 | 0.14 | 020

weight Trunnion 0.01 0.02 0.03 0.05 weight Trunnion 0.01 0.02 0.03 0.05

Clevis 0.05 0.08 0.15 0.23 Clevis 0.05 0.08 0.15 0.23

Pivot bracket 0.08 0.09 0.17 0.25 Pivot bracket 0.08 0.09 0.17 0.25

Accessories | Single knuckle joint 0.05 0.09 0.09 0.10 Accessories | Single knuckle joint 0.05 0.09 0.09 0.10

Double knuckle joint (with pin) | 0.05 0.09 0.09 0.13 Double knuckle joint (with pin) | 0.05 0.09 0.09 0.13

Weight reduction for female rod end | -0.01 | -0.02 | -0.02 | -0.05 Weight reduction for female rod end | -0.01 | -0.02 | -0.02 | -0.05
Calculation (Example) CG1LN20-100SZ  ®Basic weight- 0.28 kg (220) Calculation (Example) CG1LN20-100TZ  ®Basic weight- .26 kg (020)
(Foot, 220, 100 stroke) ®Mounting bracket weigh 0.11 kg (Foot) (Foot, 220, 100 stroke) ®Mounting bracket weight .11 kg (Foot)

0.28 +0.11 = 0.39 kg

320

0.26 + 0.11 = 0.37 kg



Construction

Single acting, Spring return

Air Cylinder: Standard Type .
Single Acting, Spring Return/Extend CG1 Series

eSS

[/

o
G
pry

=

AT
E/L

(x]
C—
-}

RO R

[=)
=
~

o
=
)

[
D
wW

MB1
CA2
Component Parts Replacement Part: Seal
No. Description Material Note ® For single acting, spring return CS1
1 | Rod cover Aluminum alloy Hard anodized No.| Descrintion |Materil Part no.
2 | Tube cover Aluminum alloy Hard anodized g 20 ‘ 25 ‘ 32 ‘ 40 CSZ
3 | Piston Aluminum alloy 15 | Piston seal | NBR | CGIN20-SPS | CGIN25-SPS | CGING2-SPS | CGINAOSPS
4 | Piston rod Stainless stegl For 020 or 025 with buittn magnet Note) As sizes 650 and larger cannot be disassembled, the seal cannot
Carbon steel* | Hard chrome plating® be replaced.
5 | Bushing Bearing alloy o For single acting, spring extend
6 | Bumper Resin 032 or larger is Replacement parts/Seal kits are the same as standard type, double ‘
7 | Bumper Resin common. acting, single rod (with rubber bumper). Refer to page 298.
8 | Wearring Resin
9 | Rod end nut Carbon steel Zinc chromated Note) Refer to the Specific Product Precautions on page 362-1 for Disas-
10 | Return spring Steel wire Zinc chromated sembly/Replacement. Order with the kit number according to the
11 | Spring guide Aluminum alloy " bOfT sizé- I .
12 Sprlng seat - Aluminum alloy - Or:esresviﬂ:t Lrllceufi?lzvaviag}apsaitpizm(;grg\z\)hen only the grease pack is
13 | Plug with breathing hole Alloy steel Black zinc chromated needed.
14 | Rod seal NBR Grease pack part number: GR-S-010 (10 g)
15 | Piston seal NBR
16 | Tube gasket NBR
Note) For cylinders with auto switches, the magnet is installed in the piston.
+ The material for 820, 25 cylinders with auto switches is made of stainless steel.
D-O
-Xtd



CG1 series

Basic

Spring return: CG1BN

Width across flats KA F__GA  Plug with fixed orifice RcP  GB
MM H S
! a |
Ca S o
m 9 %’_‘:, - = 8
7N\ - i R V7@ o5
- | A =g
Width across flats B1 AL Qp?
A K |TA| \4xTC TB|
C \8 xJ H S + Stroke F
NA ZZ + Stroke
Spring extend: CG1BN
Width across flats KA F _GA RcP Plug with fixed orifice  GB
MM H1 J X
Ty ] QY
{%} % I i e
@ == : m
an) 2 1 S VeI
% W [AS4/ I
Width across AL Qg?
flats B1 A K TA| \4xTC TB|
(o] \8xJ H + Stroke S + Stroke F
NA ZZ + 2 Stroke
Female rod end
TE (
LN
ZZ + Stroke
(mm)
B . Stroke
ore size range A | AL | B1 C D E F |GA|GB| H Hi1 | J K | KA MM NA | P
20 |Upto125] 18 | 15.5] 13 | 14 8 [ 12| 2 [ 12 | 10 | 35 | 5 | 26 [M4x07depth7] 5 6 | M8x125 [24 | 1/8
25 |Upto200| 22 [195] 17 [165] 10 | 14 | 2 | 12 [ 10 | 40 | 6 | 31 [M5x08deph75| 5.5 | 8 |M10x1.25 29 [ 1/8
32 |Upto200] 22 [195] 17 [20 | 12 | 18 | 2 | 12 | 10 | 40 | 6 | 38 [M5x08depth8] 5.5 | 10 | M10x1.25 | 355| 1/8
40 |Upto200] 30 [27 | 19 [26 [ 16 | 25 | 2 | 13 [ 10 | 50 [ 8 | 47 [M6x1depth12] 6 14 [ M14x1.5 [44 [ 1/8
. 1to50st |51 to 100 st[101to 125 st[126t0200st Female Rod End (mm)
B TA | TB T
ore size < S |7z | s |7ZZ | s |2Z | S |2Z Bore | gl | pama 112250 st]51 10 100t]10110 125 5t 12610 200t
20 11 | 11 | M5x0.8 | 94 | 131 [ 119 | 156 | 144 [ 181 | — | — size 2z
25 11 | 11 | M6x0.75 | 94 | 136 | 119 | 161 | 144 | 186 | 169 | 211 20 | 813 |M4x07| 109 134 159 —
32 11 | 10 | M8x1.0 | 96 | 138 [ 121 | 163 | 146 | 188 | 171 | 213 25 | 8[14|M5x08] 110 135 160 185
40 12 | 10 [ M10x1.25 [ 103 | 155 [ 128 | 180 | 153 [ 205 | 178 | 230 32 [12[14|M6x1]| 112 137 162 187
40 [13]15|m8x125] 120 145 170 195

322




With Mounting Bracket(

Axial foot: CG1LN

Air Cylinder: Standard Type

Note) The drawings below show the single acting/spring return type,)
The rod is in retracted state for spring extend type.

e

Single Acting, Spring Return/Extend

CG1 series

o
- 1=H=Lh”—£ I CJ1
5 > 5
S = CJP
LX LW 2xeLC W CJ2
LZ X |Y| (Knock pin position) Y| X M
4xoLD LS + Stroke JCM
E— ZZ + Stroke
(mm) CMZ
Bore Stroke 1to50st | 51to 100 st | 101 to 125 st | 126 to 200 st
e range B|M|LC|LD| LH|LT|LX | LZ|W | X |Y | Z Ls|zz|Ls|zz|Ls[zz]|Ls ]| zz |CM3
20 Upto 125| 34 3 4 6 20 3 32 | 44 | 10 |15 7 47 70 |185 95 | 160 120 | 185 — —
25 Upto200| 38.5 | 3.5 4 6 22 3 36 | 49 | 10 |15 7 52 70 [140.5| 95 |165.5| 120 |190.5| 145 |215.5 m
32 Upto200| 45 3.5 4 7 25 3 44 | 58 | 10 |16 8 53 70 |[142.5]| 95 [167.5| 120 |192.5| 145 | 2175
40 Upto200| 54.5 | 4 4 7 30 3 54 | 71 10 | 16.5| 85 |63.5| 76 |160 101 | 185 126 | 210 151 | 235 ch
JMB
Rod flange: CG1FN |:
4xoFD F . FT MB
[ ‘ MB1
[
: g CA2
o 3 °9
x w
£ d) e % cs1
L €S2
FX:0.15
B
Head flange: CG1GN 4xoFD
Y
e g 1 i/ \i
] oo
[Ty % 5
K O
H FT F FXz0.15
ZZ + Stroke B
(mm) Rod Flange (mm)
Bore Stroke Bore zz
size range B E R EXJI[EDR(AET i size 1to 50 st|511t0 100 st | 10110 125st | 1260 200 st
20 Upto125 | 40 12 2 28 | 55 6 35 20 131 156 181 —
25 Upto200 | 44 14 2 32 | 55 7 40 25 136 161 186 211
32 Upto200 | 53 18 2 38 | 6.6 7 40 32 138 163 188 213
40 Upto200 | 61 25 2 46 | 6.6 8 50 40 155 180 205 230
* End boss is machined on the flange for oE. Head FIange (mm)
Bore 2z D-0
size 1 to 50 st|51t0 100 st | 101to 125 st | 126 to 200 st
20 130 162 187 — R
25 143 168 193 218 Xl:l
32 145 170 | 195 | 220 Technical
40 163 188 213 238 Data




CG1 series

With Mounting Bracket
Rod trunnion: CG1UN

ol ~ Bracket mounting range
3
[=]]=] ; s
£ : T I
NS |
| 72\ g
o FAJNN \
\
E \
: )
= .
N | ! |
z
X
TV 4xoTF ZZ + Stroke
+0.10 TY
TZ TE
£Ee ™
; TR
Head trunnion: CG1TN o~ TS Bracket mounting range
[=1=]
o - 52
| AL c
U LT Jle
] I A~
7 \ [ i
/ \ L 3 )
1 | ! \ 1 1 d |
Z + Stroke i
ZZ + Stroke TX 4xoTF
v W T
™w Tz oTE'S"
(mm)
Bore size |Strokerange | B | TDe8 |[TE|TF|TH|[TR|TS|TT| TV [TW[TX[TY |TZ
20 Upto125 |38 890 | 10[5.5] 2539 |28 [3.2((35.8)[ 42 | 16 | 28 [47.6
25 Upto200 [45.5] 1038 | 10 |5.5] 30 [43 | 33 | 3.2[(39.8)] 42 | 20 | 28 |53
32 Upto200 [54 | 1273¢% | 10 | 6.6] 35 [54.5] 40 | 4.5[(49.4)| 48 | 22 | 28 [67.7
40 Upto200 [63.5 143¢% | 10 | 6.6] 40 [65.5] 49 | 4.5[(58.4)| 56 | 30 | 30 [78.7
Rod Trunnion (mm) Head Trunnion (mm)
Bore z 74 Bore 1to 50 st |51 to 100 st 101 to 125 st| 126 to 200 st
size 110 50 st|51 o 100 st] 101 to 125 st 126to 200 st size Z |2Z| Z |(z2Z| Z |([2Z | Z | ZZ
20 46 131 156 181 — 20 118 | 139 | 143 | 164 | 168 | 189 | — —
25 51 136 161 186 211 25 123 | 144 | 148 | 169 | 173 | 194 | 198 | 219
32 51 138 163 188 213 32 126 | 150 | 151 | 175 | 176 | 200 | 201 | 225
40 62 155 180 205 230 40 143 | 171 | 168 | 196 | 193 | 221 | 218 | 246
+ Constructed of pins, flat washers and hexagon socket head cap bolts.  * Constructed of pins, flat washers and hexagon socket head cap bolts.
* Other dimensions are the same as basic type. * Other dimensions are the same as basic type.
cz
Clevis: CG1DN L RR Cios TT 8xJ
oCD hole H1o -
Axis d9 1l P
EH— - & 3| JIoeE
(& N \ ° Hur H
‘ ) T ®
1= | . z
i \ —
Z + Stroke
ZZ + Stroke 4xoTF ™ oTE'S"
. ) TY TV
(The above shows the case port location is changed by 90°.) TW Tz
Clevis (mm)
Bore Stroke 1to 50 st 51to 100 st | 101 to 125 st | 126 to 200 st
GEe range B |[CD|CZ| L |[RR|TE|TF|TH|TT| TV |[TW|TX |TY| TZ Z 77 Z 77 Z 27 Z 27

20 Upto 125|38 829 |14 |11 ]10|55]|25 3.2 )| 42 | 16 | 28 | 43.4 | 143 | 164 | 168 | 189 | 193 | 214 — —
25 Upt0200|45.5| 10 | 33 | 16 | 13 | 10 [ 5.5 | 30 | 3.2 |( )| 42 | 20 | 28 | 48 150 | 171 | 175 | 196 | 200 | 221 | 225 | 246
32 Upto200|54 |12 |40 |20 |15 |10 |6.6 |35 |4.5((49.4)| 48 | 22 | 28 | 59.4 | 156 | 180 | 181 | 205 | 206 | 230 | 231 | 255
40 Upto200|63.5] 14 | 49 | 22 | 18 | 10 | 6.6 | 40 [ 4.5 |( )| 56 [ 30 [ 30 | 71.4 | 175 | 200 | 200 | 228 | 225 | 253 | 250 | 278
+ For dimensions of pivot bracket, refer to page 309.

= Other dimensions are the same as basic type.

324




Air Cylinder: Non-rotating Rod Type
Double Acting

CG1K series

020, 925, o

32, 340, 050, 063

How to Order

Type
N | Rubber bumper
A Air cushion
(240 to @63 only)

BN cGikB
[T CDG1K Bl

_
_

Cylinder stroke (mm) Pivot bracket

o
pry

[xJ

JP

Refer to “Standard Strokes” on Nil ‘

None \

[y
N

J

page 326. N__|Pivot bracket

is shipped together with the product. \

100

# Only for D, U, T mounting types
* Pivot bracket is shipped together with the product, but not assembled. JCM

[=)
=
~

o
=
)

[
D
wW

Number of
auto switches
Nil | 2 pcs.

S 1pc.

n “n” pcs.

[
=
(-~}

Auto switch
Nil | Without auto switch

With auto switch (Built-in magnet)
Double acting, Non-rotating rod type Bore size Rod end bracket
 acting, g rod typ: 20 [20 mm Nil None
Mounting 25 [25mm v Single knuckle joint
B Basic G Head flange 32 |32 mm w Double knuckle joint
z* Basic (without trunnion || U Rod trunnion 40 |40 mm « No bracket is provided for the female
mounting female thread)| | T Head trunnion 50 |50 mm rod end.
i i * Rod end bracket is shipped together
:; chxdlafllzii;te L Clevis 63 |63 mm with the prqducl, t.)ul. not apsZempIegd. )
« A knuckle joint pin is not provided with
Note) Mounting bracket is shipped together with the product, but not assembled. the single knuckle joint. .
= The cylinder for F, G, L, D mounting types is Z: Basic (without trunnion mounting female thread).
Rod end thread
Built-in Magnet Cylinder Model [ Nil | Malerodend |
[ F [Femalerodend |

If a built-in magnet cylinder without an auto switch is required,
there is no need to enter the symbol for the auto switch.
(Example) CDG1KFA32-100Z

Applicable Auto Switches/Refer to pages 1575 to 1701 for

For applicable auto switches, re-
fer to the table below.

Made to Order
For details, refer to page 326.

+ Refer to “Ordering

of Cylinder A:

€S2

y” on page 326. ‘

further information on auto switches.

ollol[=][=
2|82 |=

£ Load voltage Auto switch model Lead wire length (m)
i = iri Applicable bore size X
Tipe|  Special function E'zﬁ“”r;a' 2 (g::m) . A S 05 | 113 | 5 lon Prowied | applicable oad
2 T inine 1 (NI (M) (L) @) | (N)
3-wire (NPN) 5V 12V MONV MON ® ®¢/® O/—| O 1c
- Grommet 3-wire (PNP) ! M9PV M9P ® ®/®@ O|—| O circuit
] o-wire 12V M9BV M9B ® @0 O|—| O _
H Connector — H7C o — o006 —
2 biagnostic indication 3-wire (NPN) 5V 12V MONWV | MONW | ® (@ | ® O|—| O C | eea
Bl D oot miosto Ves| 3-wire (PNP) | 24V |~ - MOPWV | MoPW | @ [@ @ [O[—[ O | circuit | 5%
s 2-wire 12V MOBWV | MOBW | @ (@ ® O|—| O —
; Water resistant Grommet 3-wire (NPN) 5V, 12V MONAV*'| MONA*!' | O |[O | @ | O |— O IC
S o 3-wire (PNP) ! MYPAV*#'| MGPA*' | O |O (@ |O|—| O circuit
o | (2-color indicator) " .
2-wire 12V M9BAV*!'| M9BA*' | O |O |@ |O|—]| O —
Diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V = H7NF ®  —| e O|— @] IC circuit
Wil IC
- Yes (Equ?vy\:::r?\lFN) - sV - AgsV A% ® — O~~~ Geuit| —
_-‘-E’ Grommet || 100 V A93V*2 A93 ® o 0 0 | — —
5 [No| 100 Vorless| A90V A90 ® —|®|—|—| — |ICciout
= Yes| 100V, 200 V — B54 o —|eo|0 — —
3 No| 2wire |2av| 2V [200Vorless| — Bed | @ ||| || — | — |Fea
¢ Connector [res] — — C730) e —0 00 —
& No 24Vorless| — C8C | ® |—|e[@[®] — [iCaii
Diagnosit indication (2-coorindcaior) | Grrommet |Yes| — — — B59W o —|® | —|—| — —

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guaral

Please consult with SMC regarding water resistant types with the above
*2 1 m type lead wire is only applicable to D-A93.
* Lead wire length symbols: 0.5 m-- - Nil (Example) MONW
1m M (Example) MONWM
3m-- - L (Example) MONWL

5m-
None

model numbers.

- Z (Example) MONWZ
- N (Example) H7CN

+ Since there are other applicable auto switches than listed above, refer to page 361 for details.

* For details about auto switches with pre-wired connector, refer to pages 1

* The D-A90J0J/M9010I0 auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

648 and 1649.

* Solid state auto switches marked with “O” are
produced upon receipt of order.

ntee water resistance.

=
o

325 ®



CG1K series

Symbol

Rubber bumper Air cushion f

Made

Specifications
Bore size (mm) 20 [ 25 32 | 40 | 50 | 63

Action Double acting, Single rod
Lubricant Not required (Non-lube)
Fluid Air
Proof pressure 1.5 MPa

operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa

Ambient and fluid tempera-
ture

Without auto switch: —10°C to 70°C
With auto switch

©_10°C 10 60°C (No freezing)

Piston speed

50 to 500 mm/s

Stroke length tolerance

Up to 1000 st

“5* mm, Up to 1500 st *§° mi

Cushion Rubber bumper, Air cushion (240 to 263 only)
Rod non-rotating accuracy Note) +1° +0.8° +0.5°

Basic, Basic (without trunnion mounting female thread),
Mounting Axial foot, Rod flange, Head flange,

Rod trunnion, Head trunnion, Clevis

Note) The values are for standard strokes.

Accessories/Refer to page 309 for part numbers and dimensions.
—

order | Made to Order Vountin Basic | Axial | Rod | Head | Rod | Head | o
“SgF Click here for details 9 foot | flange | flange |trunnion trunnion
Symbol Specifications Rod end nut [ [ J [J o [ [ J [J
Standard —
-XAO | Change of rod end shape Clevis pin — — —_ —_ — —_ [ ]
-XC8 | Adjustable stroke cylinder/Adjustable extension type™! Single knuckle joint [ ] [ ] [ ] [ ] [ ]
-XC9 | Adjustable stroke cylinder/Adjustable retraction type™! ioint1
. L Option Do_uble_knuckle joint ° ° ° ° °
XC10 | Dual stroke cylinder/Double rod type (With pin)
-XC11 | Dual stroke cylinder/Single rod type™! Pivot bracket _ _ _ _ ° ° °
g 1,42
LG Tandem. cyhnt{er — *1 A double knuckle joint pin and retaining rings are shipped together.
-XC13 | Auto switch rail mounting™! 2 Stainless steel mounting brackets and accessories are also available.
-XC20 | Head cover axial port* Refer to page 309-1 for details.
-XC27 | Double clevis and double knuckle joint pins made of stainless steel
#1 Only compatible with cylinders with rubber bumper. Standard Strokes
#2 The shape is the same as the current product. Use ——
the current seal kit. (mm)
Bore size Standard stroke Note 1) Maximum siroke Note2)
20 25, 50, 75, 100, 125, 150, 200 201 to 1500
Refer to pages 355 to 361 for cylinders 25
with auto switches. 32
3 N ™ 25, 50, 75, 100, 125, 150, 200, 250, 300 301 to 1500
* Auto switch proper mounting position 40
(detection at stroke end) and its mounting 50, 63

height
* Minimum stroke for auto switch mounting
 Auto switch mounting brackets/Part no.
* Operating range
 Cylinder mounting bracket, by stroke/
Auto switch mounting surfaces

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)

Note 2) The maximum manufacturable stroke shows the long stroke.

Note 3) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” on front matter pages. In addition, the products that exceed
the standard stroke might not be able to fulfill the specifications due to the deflection etc.

Ordering Example of Cylinder Assembly

A\ Precautions

I Refer to page 362-1 before handling. 1

© 326

Cylinder model: CDG1KDN20-100Z-NW-M9BW

Mounting D: Clevis
Pivot bracket N: Yes
Rod end bracket W: Double knuckle joint

Auto switch D-M9BW: 2 pcs.

+Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,
but not assembled.

Auto switch

Clevis

Pivot bracket

Double knuckle joint


http://www.smcworld.com/products/en/custom.do

Air Cylinder: Non-rotating Rod Type

CG1K series

Double Acting
Weights
——
(kg)
Bore size (mm) 20 25 32 40 50 63
= Basic 0.10 0.17 0.26 0.41 0.77 1.07
.% Axial foot 0.21 0.30 0.42 0.63 1.25 1.79
i Flange 0.18 0.27 0.40 0.61 1.11 1.57
2 Trunnion 0.11 0.19 0.29 0.46 0.91 1.21 cJ1
@ Clevis 0.15 0.25 0.41 0.64 1.17 1.75
Pivot bracket 0.08 0.09 0.17 0.25 0.44 0.80 CJP
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22
Double knuckle joint (with pin) 0.05 0.09 0.09 0.13 0.26 0.26 ch
Additional weight per 50 mm of stroke 0.05 0.07 0.09 0.15 0.22 0.26
Additional weight with air cushion — — — 0 0.01 0.04 JCM
Additional weight for long stroke 0.01 0.01 0.02 0.03 0.06 0.12
Weight reduction for female rod end | -0.01 -0.02 -0.02 -0.05 -0.10 -0.10 CMZ
Calculation (Example) CG1KLN20-100Z *Basic weight 0.21 (Foot , 820)
(Foot, 820, 100 stroke) ~ ®Additional weigh 0.05/50 stroke
Air cylinder stroke- 100 stroke cM3
0.21 +0.05 x 100/50 = 0.31 kg
Mounting Brackets/Part No. CG3
—
Mounting | Order Bore size (mm) JMB
bracket qty. 20 25 32 40 50 63 Contents
Axialfoot | 2Nete)|  CG-L020 CG-L025 CG-L032 CG-L040 CG-L050 cG-Loss | 2foots, mB
8 mounting bolts
Flange 1 CG-F020 CG-F025 CG-F032 CG-F040 CG-F050 ca-Fosa | | Mange. g bolts MB1
Trunnion pin | 1 CG-T020 CG-T025 CG-T032 CG-T040 CG-T050 CG-Tosa | 2 lrunnion pins, 2 trunnion bolts, CA2
Clevis 1 CG-D020 | CGDO025 | CG-DO32 | CGDO4O | CGDOSO | CG-DOES | | g:Zx:zvp‘tnmg‘:gtg}ﬁigg"rfﬁgs
Pivot bracket 1 CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | 1 pivot bracket CS1
Note) Order two foots per cylinder. csz
D-0

327



CG1K series

Construction

With rubber bumper

14
i

With air cushion

\W)

020 to 932

SIS o

AR

1o 09 da

Long stroke

Component Parts

Long stroke

Replacement Parts: Seal Kit

No. Description Material Note Bore size (mm) Kit no. Contents
1 | Rod cover Aluminum alloy Hard anodized 20 CG1KN20Z-PS
25 OG1KNz5z-ps | Setof the
2 | Tube cover Aluminum alloy Hard anodized
3 | Piston Aluminum allo} 32 CG1KN32Z-PS
Stainless st T For 220 or 25 with built- 1 40 CAIKNANZPS
n r r -in magn
4 | Piston rod ainless Sei or 029 or p25 with bul _I " agne Note) As sizes 950 and larger cannot be disassem-
Carbon steel Hard chrome plating bled, the seal cannot be replaced.
5 | Non-rotating guide Bearing alloy Note) Refer to the Specific Product Precautions on
6 | Bumper Resin page 362-1 for Disassembly/Replacement.
©32 or larger is common. i i i
7 | Bumper Resin g Order_wnh the kit number according to the
— . bore size.
8 | Wearring Resin # The seal kit includes a grease pack (10 g).
9 | Rod end nut Carbon steel Zinc chromated Order with the following part number when only
10 | Seal retainer Rolled steel Zinc chromated the grease pack is needed.
. ‘ 040 or smaller | Carbon steel Electroless nickel plating Grease pack part number: GR-S-010 (10 g)
11 | Cushion valve - -
‘ 50 or larger Steel wire Zinc chromated
12 | Cushion seal A Urethane .
- @32 or larger is common.
13 | Cushion seal B Urethane

14 | Cushion seal holder

Aluminum alloy

15 | Head cover

Aluminum alloy

Hard anodized

16 | Cylinder tube

Aluminum alloy

Hard anodized

17 | Rod seal NBR
18 | Piston seal NBR
19 | Tube gasket NBR
20 | Valve seal NBR

Note) For cylinders with auto switches, the magnet is installed in the piston.
* The material is stainless steel for 220 to 632.

® 328



Air Cylinder: Non-rotating Rod Type

CG1K series

Double Acting
Basic
—
With rubber bumper
220 to 263
Width across flats KA F_GA 2xRcP GB
MM H1 ‘
PN Q S
- L s 0
o] 41D 8 iﬁ* |z ot
w w
% S | S CJP
Width across AL Q\Q?
flats B1 A ITA| \4xTC 1B CJZ
o] \8xJ H S + Stroke F
NA ZZ + Stroke @
cM2
With air cushion cm3
240 to 263
m - o1
A Weo- Width across flats KA F |GA Cushion valve, Width across flats WH GB
MM Hi ! 5 CG3
E i PN,
2 T
= ] s
f=ast=z 12w e cusn M8
d oS o2 With Air hion
& A 1:5:7E: LS u it Cushio (mm)
- o° lwa| wB |we|wH |MB
> size
Width across AL S 20 17 [15(17) | 20°| 1.5
flats B A |TA| \4xTC 18 50 |18 [1608) 203 _ |MB1
c 8xJ H S + Stroke F 63 [ 18 [17(18)| 20°]| 3
NA ZZ + Stroke Note) (): Denotes the dimensions CA2
for long stroke.

CS1
Female rod end CS2
Female Rod End (mm)
Bore
o A1 H MM zz
20 8 13 M4 x0.7 84 (92)
25 8 | 14 | M5x08 85 (93)
32 12 | 14 M6 x 1 87 (95)
40 13 15 M8 x 1.25 95 (104)
50 18 16 M10x 1.5 | 108 (120)
2Z + Stroke 63 | 18 | 16 | M10x15 [108(120)
(mm)
Bore | Stokerange | » |5 (g, | ¢ | D |E|F |GA| GB | H |Hi| I J KAl MM |NA/P| S [TA|TB| TC zz
size Slandard\ Long stroke
20 UptoZDﬁ‘ZOHoﬁDU 18(155/ 13|14 [ 92{12]| 2 [12|10(12)|35| 5|26 | M4x0.7depth7 | 8| M8x 1.25 |24 |1/8]69 (77)| 11| 11 M5x 0.8 |106 (114)
25 UDIOSW‘GOHMSOD 22(19.5[ 17 [16.5(11 |[14| 2 [12]10(12)[{40 | 6|31 [M5x0.8depth 75|10 [M10x 1.25|29 [1/8|69 (77)| 11| 11 | M6x0.75 111 (119
32 UptoSUﬂ‘GOHoWSOD 22|19.5/17]20 [12 |18| 2 |12]10(12)|40| 6|38 | M5x0.8depth8 |10 |M10 x 1.25|35.5{1/8|71 (79) | 11 [10(11)] M8 x 1.0 [113(121)
40 UptoSDﬂ‘BOHoWSOU 3027 [19]26 [16 |25| 2 |13 [10(13)/50 | 8|47 | M6x1depthi12 |14 | M14x 1.5 [44 |1/8|78 (87)| 12 |10 (12)|M10 x 1.25]130 (139)
50 Up\oSUﬁ‘BOHOWSUD 35|32 |27|32 [20 |30 2 |14 [12(14)/58 | 11 |58 |[M8x 1.25depth 16| 18 | M18 x 1.5 |55 |1/4]90 (102)| 13 |12 (13)|M12 x 1.25[150 (162)
63 |Upto300[301 101500 35 [32 |27 38 |20 [32] 2 [14[12(14)[ 58 [ 1172 [M10x15depth 16| 18 | M18 x 1.5 |69 |1/4[90 (102)] 13 [12 (13)] M14 x 1.5 [150 (162)
Note 1) Dimensions for each mounting bracket are the same as those for the CG1 standard or long stroke model. Refer to pages 301 to 307.
Note 2) ( ): Denotes the dimensions for long stroke.
D-O



Air Cylinder: Non-rotating Rod Type
Double Acting, Double Rod

CG1KW series

620, 225, 332, 240, 50, 63

How to Order

-0

'L|N [25]-[100/Z-[M9BW|

BN cotKw(L
[EETETE] CDG1KW

With auto switch
(Built-in magnet) Number of
Non-rotating rod t auto switches
on-rotating rod type Nil | 2 pcs.
. S 1 pc.
Double acting, Double rod type —
n n” pcs.
Mountin .
B B 9 Auto switch
Z°* | Basic (without trunnion mounting female thread) Type ‘ il ‘ Without auto switch
y + For applicable auto switches, refer to
L Axial foot N | Rubber bumper the table below.
F Flange
u Trunnion Bore size Cylinder stroke (mm)
* Mounting bracket is shipped together with the 20 | 20 mm Refer to “Standard Strokes” on page 331.
product, but not assembled.
+ The cylinder for F, L mounting types is Z: Basic 25 |25 mm Built-in Magnet 0y|inder Model
(without trunnion mounting female thread). 32 |32 mm
If a built-in magnet cylinder without an auto
40 | 40 mm L N .
switch is required, there is no need to enter the
50 |50 mm symbol for the auto switch.
63 |63 mm (Example) CDG1KWFN32-100Z
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
£ Load voltage Auto switch model Lead wire length (m)
e o Electrical | 5 Wiring Applicable bore size Pre-wired .
Type|  Special function L 05| 1|35 [None Applicable load
ent 3 Output D Al 2 y connector
ry § (Output) C C o 0 to 963 i )
= F In-line
3-wire (NPN) 5V. 12V MONV MON ® ® ® O|—| O Ic
- Grommet 3-wire (PNP) | M9PV M9P ® | ®@®@ O|—| O circuit
£ oovire 12V M9BV | MoB |e [@|@[O|—| O _
H Connector — H7C e | — o0 |0 —
2 3-wire (NPN) MONWV | MONW | @ (@@ | O o Ic
= | Diagnostic indication - 5V, 12V . | Relay,
© - p— p—
| (2-color indicator) Yes| 3-wire (_PNF) 24V MOPWV | MSPW | @ (@ |® | O [¢) cireuit | "%
s 2-wire 12V MO9BWV | MBW | @ (@ /@ O|—| O —
- W ) Grommet 3-wire (NPN) SV 12 MONAV*' | MONA*' | O [O|@]|O|—]| O Ic
5| Nater resistant 3-wire (PNP) ' M9PAV*T| M9PA*' | O [O |@|O[—| O | circuit
o | (2-color indicator) -
2-wire 12V M9BAV*'| M9BA*' | O |O |@ |O|—| O —
Diagnostic output (2-color indicator) 4-wire (NPN) 5V,12V — H7NF ®  —|®|O O |IC circuit
3-wire IC
. ves| (Equiv.toNPN) | — | BV - Agev A% | @ |\ — @ —|—| — || T
£ Grommet 100 V A93V*2 A93 o | ojojo|—| — —
Z No 100Vorless| A90V A90 e —| 0| —|— — [IC circuit
e [Yes| — — —
g |Yes| _ 1py 100,200V B54 | @ oo Relay,
- No 2-wire 24V 200 V or less = B64 e —\ 0| —|—| — — PLC
¢ Connector Hes) — — G736 e —j0/0 0 —
= No 24Vorless| — C80C | @ [—[@[®@|®| — [iCoiout
Diagnosticndicaton (2-coorindeator) | Grommet | Yes — — = B59W e —\ 0| —|—| — —

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

*2 1 m type lead wire is only applicable to D-A93.

* Lead wire length symbols: 0.5 m Nil (Example) MONW
im M (Example) MONWM
3m-- ~ L (Example) MONWL

* Since there are other applicable auto switches than listed above, refer to page 361 for details.

* For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.

+ The D-A900/M900DO auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

® 330

Z (Example) MONWZ # Solid state auto switches marked with “O” are
N (Example) H7CN produced upon receipt of order.




Symbol

Rubber bumper

Refer to pages 355 to 361 for cylinders
with auto switches.

Air Cylinder: Non-rotating Rod Type
Double Acting, Double Rod

Specifications

CG1KW series

Bore size (mm) 20 [ 25 | 32 [ 40 [ 50 | 63

Action Double acting, Double rod
Lubricant Not required (Non-lube)
Fluid Air cJ1
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa CJP

operating pressure 0.08 MPa
Ambient and fluid Without auto switch: ~10°C 0 70°C (. ¢reein 9 CJ2
temperature With auto switch  : —10°C to 60°C J CM
Piston speed 50 to 500 mm/s
Stroke length tolerance Up to 1000 st *5* mm, Up to 1500 st "° mi CMZ
Cushion Rubber bumper
Rod non-rotating accuracy o) +1° ‘ +0.8° ‘ +0.5° cM3
Mounting iagic, Basic (without lrurjnion mounting female thread), m

xial foot, Flange, Trunnion

* Auto switch proper mounting position
(detection at stroke end) and its mounting
height

* Minimum stroke for auto switch mounting

* Auto switch mounting brackets/Part no.

* Operating range

« Cylinder mounting bracket, by stroke/

# Foot and flange types of cylinder sizes from 220 to 863 do not have trunnion mounting female

thread. Operate the cylinder within the allowable kinetic energy. Refer to page 311 for details.

Note) The values are for standard strokes.

Accessories/Rrefer to page 309 for part numbers and dimensions.
——

[=RIE=)
=@
W || »

g

Auto switch mounting surfaces Mounting Basic | Axial foot | Flange | Trunnion
Standard | Rod end nut [ ] (] [ [ ] MB1
= Single knuckle joint [ J [ ] [ ] ® CAZ
A P recautlons Option Double knuckle joint (with pin)*! [} [} [ ) [ ]
P s m - —————a Pivot bracket — — — [ ] CS1
! Eeier_to_p_ag_e 363 Lbffgre_hfn_leg a *1 A double knuckle joint pin and retaining rings are shipped together.
+2 Stainless steel mounting brackets and accessories are also available. csz
Refer to page 309-1 for details.
Weights Standard Strokes
— ————————
(kg) (mm)
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63 Bore size Standard stroke Note 1) Maximum stroke Note2)
% Basic 0.13| 0.22| 0.33| 0.55| 1.02| 1.37 20 25, 50, 75, 100, 125, 150, 200 201 to 1500
] Axial foot 0.24| 0.35| 0.49| 0.77| 1.50| 2.09 25
2 Fl 0.21| 0.32| 0.47| 0.75| 1.36| 1.87
z ang.e 32 25, 50, 75, 100, 125, 150, 200, 301 to 1500
o Trunnion 0.14]| 0.24| 0.36| 0.60| 1.16| 1.51 40 250, 300
Pivot bracket 0.08| 0.09| 0.17| 0.25| 0.44| 0.80 50, 63
Single knuckle joint 0.05| 0.09| 0.09| 0.10| 0.22| 0.22 Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible.
Double knuckle joint (with pin) 0.05] 0.09] 0.09] 0.13] 0.26] 0.26 (Spacers are not used.)
Additional weight per 50 mm of stroke | 0.07| 0.10] 0.13] 0.23| 0.34] 0.38 Note 2) The maximum manufacturable stroke shows the long stroke.
- = Note 3) Applicable strokes should be confirmed according to the usage.
Weight reduction for female rod end |-0.02|-0.04|-0.04|-0.10|-0.20|-0.20 For details, refer to “Air Cylinders Model Selection” on front matter
Calculation (Example) CG1IKWLN32-100Z Basic weight----- --0.49 (Foot, 232) pages. In addition, the products that exceed the standard stroke
(Foot, 32, 100 stroke) ®Additional weight .13/50 stroke might not be able to fulfill the specifications due to the deflection
*Air cylinder stroke-- 00 stroke etc.
0.49 + 0.13 x 100/50 = 0.75 kg
Mounting Brackets/Part No.
—
Mounting | Order Bore size (mm) Contents
bracket q'ty 20 25 32 40 50 63
Axialfoot | 2Note)|  CG-L020 CG-L025 CG-L032 CG-L040 CG-L050 cG-Los | 2foots,
8 mounting bolts
1 flange,
Flange 1 CG-F020 CG-F025 CG-F032 CG-F040 CG-F050 CG-F063 4 mounting bolts D'I:l
Trunnion pin | 1 CG-T020 CG-T025 CG-T032 CG-T040 CG-T050 CG-Togg | 2 trunnion pins, 2 trunnion bolts,
2 flat washers XO
Pivot bracket 1 CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | 1 pivot bracket

Note) Order two foots per cylinder.



CG1KW series

Construction

Component Parts

220 to 032

Replacement Parts: Seal Kit

No. Description Material Note
1 | Rod cover A Aluminum alloy Hard anodized
2 | Rod cover B Aluminum alloy Hard anodized
3 | Cylinder tube Aluminum alloy Hard anodized
4 | Piston Aluminum alloy
. Stainless steel 32 or smaller
5 | Pistonrod A . —
Carbon steel™ Hard chrome plating™ @40 or larger
. Stainless steel For 620 or 925 with built-in magnet
6 | Pistonrod B —
Carbon steel** Hard chrome plating*®
7 | Non-rotating guide Bearing alloy
8 | Bushing Bearing alloy
9 K Resin
10 | Rod end nut Carbon steel Zinc chromated
11 | Rod seal A NBR
12 | Rod seal B NBR
13 | Piston seal NBR
14 | Tube gasket NBR

® 332

* The material is stainless steel for 620 to 232.
=& The material for 20, 925 cylinders with auto switches is made of stainless steel.
==k For cylinders with auto switches, the magnet is installed in the piston.

Bore size (mm) Kit no. Contents
20 CG1KWN20Z-PS
25 CGIKWN25z-Ps| Setofthe
32 CGIKWNS2Z:PS | ) 15y i
40 CGIKWN40zPS| ' ="

Note) As sizes 950 and larger cannot be disassem-
bled, the seal cannot be replaced.

Note) Refer to the Specific Product Precautions on
page 362-1 for Disassembly/Replacement.
Order with the kit number according to the

bore size.

« The seal kit includes a grease pack (10 g).
Order with the following part number when only
the grease pack is needed.
Grease pack part number: GR-S-010 (10 g)



Air Cylinder: Non-rotating Rod Type .
Double Acting, Double Rod CG 1KW Series

Basic with Rubber Bumper: CG1KWBN

Width across flats KB F_GA 2xRcP GA F  Width across flats KA
X
MM H1 3 T a H1 MM
kS @ . °
0 /ﬁ77 .| B - 77/_\ 0
ol 1A Rl e == Al e
| W e AN 5 o
Width across AL Qg‘-x %7 AL Width across
flats B1 A TA 4xTC TA K A flats B1
C \8 xJ H S + Stroke H + Stroke
NA ZZ + 2 Stroke
(mm)
Bore size (Strokerange| A (AL | B1 | C | D |[DK| E | F [GA| H1 | | J K |KA | KB MM NA| P | S
20 Upto 1500 | 18 |15.5| 13 |14 8 9212 | 2 | 12 5| 26 | M4x0.7depth7 | 5 6 8 | M8x1.25 |24 |1/8| 77
25 Up to 1500 | 22 [19.5| 17 [16.5| 10 |11 14| 2 | 12 6 | 31 [M5x0.8depth7.5/ 55| 8 | 10 | MI0x1.25 |29 | 1/8| 77
32 Upto 1500 | 22 [19.5| 17 |20 12 |12 18 2 12 6 | 38 | M5x0.8depth8 | 55| 10 | 10 | M10x1.25 |355| 1/8 | 79
40 Up to 1500 | 30 |27 19 |26 16 (16 | 25 | 2 | 13 8 | 47 | M6 x 1depth12 | 6 14 | 14 | M14x 1.5 |44 | 1/8| 87
50 Upto1500 | 35 |32 | 27 (32 |20 |20 | 30 | 2 | 14 | 11 | 58 |M8x 1.25depth 16 | 7 18 | 18 | M18x 1.5 |55 | 1/4 | 102
63 Up to 1500 | 35 |32 27 |38 20 |20 32 2 14 | 11 | 72 |M10x1.5depth 16 | 7 18 | 18 | M18x 1.5 |69 1/4 | 102
(mm)
Note 1) Dimensions are the same as those for the CG1W standard. Refer to pages 316 and 317.
Bore size | TA TC H | 2z
20 11 | M5x0.8 | 35 | 147
25 1 M6 x 0.75 40 | 157
32 11 M8 x 1.0 40 | 159
40 12 | M10x1.25 | 50 | 187
50 13 | M12x1.25| 58 | 218
63 13 | M14x1.5 | 58 | 218

[}

sssgeREEe

=
o
—

[z}
=
N

(5]
(7]
—

(5]
n
N



Air Cylinder: Direct Mount Type
Double Acting

CG1R series

620, 525, 332, 340, 350, 63

How to Order

] CG1R|N||25|-|100|| Z-
Mcnemmnzsl—lmoll Z-

-M9BW| |-| |
L

With auto switch (Built-in magnet)
Number of auto
Type switches
[[N ]  Rubber bumper B : Rod end bracket Nil | 2 pcs.
n " ore size Nil N
[A] _ Arcushion | I one S [ 1pe.
20 |20 mm \ Single knuckle joint n_ |’ pes.
25 |25 mm w Double knuckle joint
32 |32 mm = No bracket is provided for the female )
40 | 40 mm rod end. Auto switch
50 | 50 mm * Rod end bracket is shipped together .m- Without auto switch
63 |63 mm with the product, but not assembled. - -
= A knuckle joint pin is not provided with f;r;fgl(l;:lzlaebzu::;lsuvxtchES,
Cylinder stroke (mm) the single knuckle joint. .
Refer to “Standard Strokes” on page 335. Rod end thread
. i [ Nil [ Malerodend Made to Order
Built-in Magnet Cylmder Model -: Female rod end For details, refer to page 335.
If a built-in magnet cylinder without an auto switch is required,
there is no need to enter the symbol for the auto switch. - .
(Example) CDG1RA32-100Z + Refer to “Ordering of Cylinder A: bly” on page 335.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

£ Load voltage Auto switch model Lead wire length (m)
7 1 Electrical | 5| Wiring Applicable bore size Pre-wired f
Type|  Special function entry § (Output) e AC 220 10 063 . (?\jﬁ) “\1/” (E) (% T?\T; R Applicable load
= F In-line
3-wire (NPN) 5V 12V MINV M9N ® | ®/® O —| O c
= Grommet 3-wire (PNP) ’ MOPV M9P K IK o= O circuit
£ 2-wire 12v M9BV M9B ® | ®/® O/ —| O _
H Connector — H7C o | — o006 —
2 3-wire (NPN| MONWV | MONW | @ (@ | ® O|—| O
@ | Diagnostic indication Yes| 3-wire EFNP)) 24y BV V] MOPWV | M9PW | ® (@@ |O|—| O rout | RelY.
2| (2-color indicator) ~ PLC
k] 2-wire 12V MOBWV | MOBW (@ @ @ O|—| O
S| water resistant | GTOM™Met | [S-wire (NPN) SV 12V M9NAV+'| MONA*' | O [O[e@[0[—[ O | ic
‘—% (2-color indicator) 3-wire (PNP) ! MYPAV*'| MOPA*! | O |O |@ |O|—| O circuit
2-wire 12V M9BAV*'| M9BA*!' | O (O |@|O|—| O —
|| Diagnostic output (2-color indicator 4-wire (NPN) 5V,12V — HINF | ® |—|®|O O |IC circuit
. Yool Eaumonpry | — | SV - A%V A% | @ |—|®|——| — | C | —
..g Grommet L] 100 V A93V#2 A93 e o 00— | — —
g [ No | 100 Vorless| A90V A90 ® |—|®|—|—| — |[ICcircuit
= Ye 100V, 200 V = B54 o —|o |0 — —
_"E [No|  2-wire 24V 1zv 200 V or less — B64 o —\® | —|—| — — R;lae/,
é Connector [res| — — C736 o —e0 0 —
No 24V or less — Cc80C ® |—®/®/® — |(Ccircui
|| Diagostcndicaton (2olrindeator) | Grommet | Yes — — — B59W o —|\e | —|—| — —
*1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
1 m type lead wire is only applicable to D-A93.
Nil (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.

ead wire length symbols: 0.5 m--
1 M (Example) MONWM

L (Example) MONWL

Z (Example) MONWZ

N (Example) H7CN

* Since there are other applicable auto swnches than listed above, refer to page 361 for details.

* For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.

+ The D-A900/M900D auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

® 334




The CG1R direct mount cylinder
can be installed directly through
the use of a square rod cover.

Space-saving has been realized.

Because it is a directly mounted type without
using brackets, its overall length is shorter,
and its installation pitch can be made smaller.
Thus, the space that is required for
installation has been dramatically reduced.

Air Cylinder: Direct Mount Type
Double Acting

CG1R series

Specifications
Bore size (mm) 20 [ 25 | 32 [ 40 [ 50 | 63

Action Double acting, Single rod

Lubricant Not required (Non-lube)

Fluid Air CcJ1
Proof pressure 1.5 MPa

Maximum operating pressure 1.0 MPa CJP
Minimum operating pressure 0.05 MPa

Ambient and fluid
temperature

Without auto switch: —10°C to 70°C
With auto switch

- 210°C to 6oec (NO freezing)

Piston speed

50 to 1000 mm/s

Stroke length tolerance

+1.4

Upto 300 st'c" mm

Cushion

Rubber bumper, Air cushion

=R E)
ERIEIE=RIE™
DN

[
D
wW

- -
-
a?
=
Standard Strokes
—————————
(mm)
Symbol Bore size Standard stroke*
. X 20 25, 50, 75, 100, 125, 150
Rubber bumper Air cushion
f 25, 32 25, 50, 75, 100, 125, 150, 200
[ [ 40, 50, 63 25, 50, 75, 100, 125, 150, 200, 250, 300
| |
[ [ « Please consult with SMC for strokes which exceed the standard stroke length.
‘ ‘ ‘ ‘ Note 1) Intermediate strokes not listed above are produced upon receipt of order.
Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
T Cylinders Model Selection” on front matter pages. In addition, the products that exceed
e h ) b )
Mgrdef Made to Order the standard stroke might not be able to fulfill the specifications due to the deflection etc.
Click here for details
Symbol Specifications
-XAD | Change of rod end shape Tightening Torque: Tighten the cylinder mounting bolts with the following tightening torque.
-XB6 | Heat resistant cylinder (-10 to 150°C)*2
-XB7_| Cold resistant cylinder (40 to 70°C)*". *3 Bore size (mm) [Hexagon socket head cap screw size Tightening torque (N-m)
-XB9 | Low speed cylinder (10 to 50 mm/s : 1.%3 20 M5 x 0.8 241036
5 L li t 1,
XB13 | Low speed cylinder (5 to 50 mm/s) 25 V6 42062
-XC6 | Made of stainless steel
-XC8 | Adjustable stroke cylinder/Adjustable extension type™! 32 M8 10010 15.0
-XC9 | Adjustable stroke cylinder/Adjustable retraction type™ ! 40 M10 19610294
-XC13 | Auto switch rail mounting™? 50 M12 33.6 t0 50.4
-XC20 | Head cover axial port*! 63 M16 84.81t0 127.2
-XC22 | Fluororubber seal
-XC85 | Grease for food processing equipment

1 Only compatible with cylinders with rubber bumper.

#2 Cylinders with rubber bumper have no bumper.

3 The shape is the same as the current product.
Use the current seal kit.

Refer to pages 355 to 361 for cylinders
with auto switches.

* Auto switch proper mounting position
(detection at stroke end) and its mounting
height

* Minimum stroke for auto switch mounting

* Auto switch mounting brackets/Part no.

* Operating range

« Cylinder mounting bracket, by stroke/
Auto switch mounting surfaces

A\ Precautions

1 Refer to page 362-1 before handling. 1

Ordering_j Example of Cylinder Assembly

Cylinder model: CDG1RN20-100Z2-W-M9BW

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

+ Double knuckle joint and auto switch are
shipped together with the product, but not
assembled.

Auto switch

CA2
cs1
€S2


http://www.smcworld.com/products/en/custom.do

CG1R series

Weights Accessories
(kg)
Bore size (mm) 20 25 32 40 50 63 Mounting Basic

Basic weight 014 | 023 | 035 | 057 | 104 [ 149 Standard | Rod end nut °
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22 Single knuckle joint °
Dou.b.le knuckle joint (with pin) 0.05 0.09 0.09 0.13 0.26 0.26 Option Double knuckle joint*'

Additional weight per 50 mm of stroke 0.05 0.07 0.09 0.14 0.21 0.25 (with pin) [ ]
Additional weight with air cushion 0 0.01 0.04 0 0.01 0.04

Weight reduction for female rod end | -0.01 | -0.02 | —0.02 | —0.05 | -0.10 | -0.10 *1 A double knuckle joint pin and retaining rings

are shipped together.

Calculation (Example) CG1RN32-100Z  eBasic weight..- 0.35 =2 Refer to page 309 for part numbers and
(932, 100 stroke) e Additional weight 0.09/50 stroke dimensions of the accessories.
*Air cylinder stroke....... 100 stroke +3 Stainless steel accessories are also available.
0.35 + 0.09 x 100/50 = 0.53 kg Refer to page 309-1 for details.

® 336



Construction

With rubber bumper

With air cushion

a
S

Component Parts

Air Cylinder: Direct Mount Type
Double Acting

CG1R series

[z NN x]
= || C=
0 || =

=R E)
ERIEIE=RIE™
DN

[
D
wW

No. Description Material Note No Description Material Note
1 | Rod cover Aluminum alloy Hard anodized 11 | Cushion ring B Aluminum alloy
2 | Tube cover Aluminum alloy Hard anodized 12 | Seal retainer Rolled steel Zinc chromated
Piston Aluminum alloy 13 Cushion ‘ 040 or smaller Carbon steel Electroless nickel plating
4 | piston rod Stainless stegl For 820 or 025 with built-in magnet valve ‘ 050 or larger Steel wire Zinc chromated
Carbon steel® Hard chrome plating™ 14 | Cushion seal A Urethane 032 or larger is
5 | Bushing Bearing alloy 15 | Cushion seal B Urethane common.
6 | Bumper Resin 032 or larger is 16 | Rod seal NBR
7 | Bumper Resin common. 17 | Piston seal NBR
8 | Wearring Resin 18 | Tube gasket NBR
9 | Rod end nut Carbon steel Zinc chromated 19 | Valve seal NBR
10 | Cushionring A Aluminum alloy Note) For cylinders with auto switches, the magnet is installed in the piston.

* The material for 820, 825 cylinders with auto switches is made of stainless
steel.

QIO |=
DRI >|wm
N || = [N || =

Replacement parts/Seal kit are the same as standard type, double
acting, single rod. Refer to page 298.

Note) As sizes 850 and larger cannot be disassembled, the seal cannot be

replaced.

Note) Refer to the Specific Product Precautions on page 362-1 for
Disassembly/Replacement.

D-(1
o

337 ®



CG1R series

Basic with Bottom Mounting

With rubber bumper

X
2xoLD GA_ 2xRcP GB,
Width across flats KA H1
. . " &
i AR i i T | e
EI N MM | >% - _ e
— s o
¥ (@ P o
K% A 8
T A
-1 Width across
flats B1
AL Y
LX A N
L K
H S + Stroke F
ZZ + Stroke
With air cushion WA 2x RoP
2xoLD GA Cushion valve, wWB
X Width across flats WH GB
Width across flats KA H1
i i MM i ; P
L ! BN Q[ i
N s 0
] %Hi‘ Og\
;}n—{:, w
5 Width across =
flats B1
AL Y
LX A N
L Kl
H S + Stroke F
ZZ + Stroke
Port location WD Female rod end
: i MM
- : Effective depth A1\ X
020, 925 )
LH]
ZZ + Stroke
(mm)
Bore size ?;?:: A |AL(B1|D | E|F|GAGB/H H1| | | K KA L LD LHILX| MM |[N|P|S (X |Y|ZZ
20 Upto150| 18 |155|13| 8|12| 2 |20|10|27| 5|26 |5 6 |30.4| 055,095 depth of 6 | 15|18 | MBx1.25 |27 [1/8] 75|38 | 11|104
25 Upto200 |22 [19.5(17 |10 14| 2 |22 |10|32| 6|31 |55| 8 |36.4| 066, 011depthof 7 [ 18|22 |M10x125|29 [1/8| 77|44 |12 | 111
32 Upto200 |22 |195(17 12|18 | 2 |26 |10 (32| 6|38 |55|10 |424| 09 014 depthof 9 |21]24 |M10x125|33|1/8| 83|45|13|117
40 Upto300(30(27 [19]|16[25| 2 |30[10[39| 8|47 |6 |14 |52.4] 0110175 depth of 12|26 |32 | M14x15 |37 |1/8]| 94|55 |16 | 135
50 Upto300|35(32 |27|20|30| 2 |33|12[45|11|58|7 |18 |64.5| 014 020depthof 14 |32 |41 | MI8x15 |44 |1/4|108 |62 | 17 | 155
63 Upto300[35(32 [27]|20(32| 2 |39|12|45|11|72|7 |18 |76.6| 018026 depth of 18 | 38 | 46 | M18x15 |50 | 1/4| 114 | 64 | 19 | 161
With Air Cushion (mm) Female Rod End (mm)
Bore size f;f;ee P |WA|[WB|WC|WD|Weo|WH Boesze| A H MM X 2z
20 Upto 150 M5x0.8 | 22 | 15 55| 2 25° | 15 20 8 13 M4 x 0.7 24 90
25 Upto200] M5x0.8 | 24 | 145 | 7 2 25° | 15 25 8 14 M5 x 0.8 26 93
32 Upto200] Rc1/8 28 | 14 115 — | 25° | 15 32 12 14 M6 x 1 27 99
40 Upto300] Rc1/8 32 |15 15 — | 20° | 1.5 40 138 15 M8 x 1.25 31 111
50 Upto300] Rc1/4 36 | 16 175 — [ 20° | 3 50 18 16 M10x 1.5 33 126
63 Upto300] Rc1/4 42 |17 205 — | 20° | 8 63 18 16 M10x 1.5 35 132

338



Air Cylinder: Direct Mount, Non-rotating Rod Type

CG1KR series

020, 025, 832, 340, 350, 263

T 1
[ CDG1KRN[25]-

With auto switch
(Built-in magnet)

Non-rotating rod type

Mounting

[N]

Rubber bumper

Note) Air cushion type “CG1KRA” is
a Made-to-Order product.

How to Order

OO
Cm || = || G
N || O || =

n

Rod end thread

[ Nil [ Male rod end
“ Female rod end

Rod end bracket

Nil None
\' Single knuckle joint
w Double knuckle joint

# No bracket is provided for the
female rod end.

Bore size ) -

P . * Rod end bracket is shipped

Built-in Magnet Cyllnder Model 20 |20 mm together with the product, but not
bled.
If a built-in magnet cylinder without an auto 25 |25 mm Fpions joint pin s not provided
switch is required, there is no need to enter 32 |32 mm with the single knuckle joint.
the symbol for the auto switch. 40 |40 mm
(Example) CDG1KRN32-100Z 50 [50 mm Cylinder stroke (mm)
63 |63 mm Refer to “Standard Strokes” on page 340.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

Number of

auto switches
Nil | 2 pcs.
S 1 pe.
n “n” pcs.

Auto switch
‘ Nil ‘ Without auto switch ‘

[=BIK=) =B IE=3ES
=RIE-] = =2
o (W ®IN|=

g

* For applicable auto switches,
refer to the table below.

Made to Order
Refer to page 340 for details.

£ Load voltage Auto switch model Lead wire length (m)
: ) Electrical | 5| Wiring Applicable bore size Pre-wired )
Type| Special function Gt £ Output 5| 1| 3|5 |None| connecor Applicable load
v | 8| (Output) DC AC 020 to 063 | O @ |y
£ F In-line
3-wire (NPN) 5V 12V MONV M9N ® ®® O/—| O Ic
= Grommet 3-wire (PNP) | M9PV M9P ® ®/® O|—| O circuit
£ 2-wire 12v M9BV M9B ® ®¢/® O/—| O _
H Connector — H7C o — o006 —
2 3-wire (NPN) MONWV | MONW | @ (@ ®@ [ O|—| O Ic
= |Diagnostic indication - 5V, 12V .~ . | Relay,
«© - — —
8 | (2-color indicator) Yes| 3-wire (.PNP) 24V MOPWV | MSPW | @ (@ | @ O o circuit PLC
k] 2-wire 12V MOBWV | MOBW (@ (@ @ O|—| O —
3 - -
X Grommet 3-wire (NPN) MONAV#'| MONA*' | O |O|®@|O|—]| O IC
T
§ (gvcac;ec:rﬁ?fcl;r:r) 3-wire (PNP) BV 12V MOPAV+'| MOPA* | O [O|@]o|—| o | circuit
2-wire 12V M9BAV*!'| M9BA*' | O |O | @ |O|—| O —
Diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V — H7NF ® —|@ O O |IC circuit
3-wire IC
. ves| Equiv.oNPN)| — | BV - A9sV A% | @ |— @& — | —| — | cut| T
£ Grommet L] 100V | A93V#2 A93 o|ojojo|—| — —
i o 100 Vorless| A90V A% | ®|—|®|—|—| — |[Ccircut
= [Y0)
= Yes| 100V, 200 V — B54 o —|eo |0 — —
1 |Yes| f
5 No|  2-wire 24v | "V [200Voriess — B64 o —|® ——| — - R;Iﬁ;”
& Connector [Yes| — — CI3C o —e0 0 —
= No 24Vorless| — C80C (@ | —[@[@[®] — [Cocirui
Diagnosicindiation (0o indicaloy) | Grommet | Yes| — — — B59W e — e — | — — —

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

%2 1 m type lead wire is only applicable to D-A93.
Nil
M

= Lead wire length symbols: 0.5 m --
im

(Example) MONW
(Example) MONWM
L (Example) MONWL
Z  (Example) MONWZ
N  (Example) H7CN

= Solid state auto switches marked with “O” are produced upon receipt of order.

= Since there are other applicable auto switches than listed above, refer to page 361 for details.
= For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
= The D-A90J0/M900O auto switches are shipped together, (but not assembled). (However, only auto switch mounting brackets are assembled before shipment.)

QIO |=
DRI >|wm
N || = [N || =

-XO

Technical
Data

339 ®



CG1KR series

CG1KR series direct mount,
non-rotating rod type cylinder
can be installed directly through
the use of a square rod cover.

Space-saving has been realized.

Because it is a directly mounted type without
using brackets, its overall length is shorter,
and its installation pitch can be made smaller.
Thus, the space that is required for installation
has been dramatically reduced.

n"’-;‘i- />/

Symbol Rubber bumper

to
Mader | Made to Order

Click here for details

Symbol
-XC8
-XC9
-XC20

*1 The shape is the same as the current product.
Use the current seal kit.

Specifications

Adjustable stroke cylinder/Adjustable extension type™ !
Adjustable stroke cylinder/Adjustable retraction type™1
Head cover axial port

Specifications
Bore size (mm) 20 25 322 | 40 [ 50 | 63

Action Double acting, Single rod
Lubricant Not required (Non-lube)
Fluid Air
Proof pressure 1.5 MPa

operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa

Ambient and fluid

Without auto switch: —10°C to 70°C :
C t0 60°C (No freezing)

temperature With auto switch  : —10°

Piston speed 50 to 500 mm/s

Stroke length tolerance Up to 300 st ‘B“ mm
Cushion Rubber bumper

Rod non-rotating accuracy +1° +0.8° +0.5°

Weights

(kg)
Bore size (mm) 20 25 32 40 50 63
Basic weight 0.14 0.24 0.35 0.56 1.04 1.48
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22
Double knuckle joint (with pin) 0.05 0.09 0.09 0.13 0.26 0.26
Additional weight per 50 mm of stroke 0.05 0.07 0.09 0.15 0.22 0.26
Weight reduction for female rod end | -0.01 -0.02 | -0.02 | -0.05 | -0.10 | -0.10
Calculation (Example) CG1KRN32-100Z  *Basic weight -
(232, 100 stroke) * Additional weight
® Air cylinder stroke:
0.35 + 0.09 x 100/50 = 0.53 kg
Standard Strokes
(mm)
Bore size Standard stroke*
20 25, 50, 75, 100, 125, 150
25, 32 25, 50, 75, 100, 125, 150, 200
40, 50, 63 25, 50, 75, 100, 125, 150, 200, 250, 300

 Please consult with SMC for strokes which exceed the standard stroke length.

Note 1) Intermediate strokes not listed above are produced upon receipt of order.
Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)

Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air

Accessories Cylinders Model Selection” on front matter pages. In addition, the products that exceed
— the standard stroke might not be able to fulfill the specifications due to the deflection etc.
Mounting Basic . .
Standard | Rod end nut ° Tlghtenlng Torque; Tighten the cylinder mounting bolts with the following tightening torque.
Single knuckle joint [ J
Option 9 J‘ PR R
Double knuckle joint™" (with pin)] @ Bore size (mm) |Hexagon socket head cap screw size Tightening torque (N-m)
#1 A double knuckle joint pin and retaining rings are 20 M5 x 0.8 2.4t03.6
shipped together.
2 Refer to page 309 for part numbers and dimensions 25| M6 421062
of the accessories. 32 M8 10.0 to 15.0
+3 Stainless steel accessories are also available. Refer 40 M10 19.6 10 29.4
to page 309-1 for details. 50 M12 33610504
63 M16 84.8t0 127.2

Refer to pages 355 to 361 for cylinders
with auto switches.

* Auto switch proper mounting position
(detection at stroke end) and its mounting
height

* Minimum stroke for auto switch mounting

 Auto switch mounting brackets/Part no.

* Operating range

« Cylinder mounting bracket, by stroke/
Auto switch mounting surfaces

Ordering Example of Cylinder Assembly

Cylinder model: CDG1KRN20-100Z-W-M9BW

A\ Precautions

1 Refer to page 362-1 before handling. 1

© 340

Auto switch D-M9BW: 2 pcs.

Rod end bracket W: Double knuckle joint

* Double knuckle joint and auto switch are
shipped together with the product, but not

assembled.



http://www.smcworld.com/products/en/custom.do

Non-rotating rod type/
Bottom mounting type

Construction

Air Cylinder: Direct Mount, Non-rotating Rod Type CG 1 KR Series

7

i

1

sEEgEREeEe

220 to 232
Component Parts MB1
No. Description Material Note
1 Rod cover Aluminum alloy Clear hard anodized CAZ
2 Tube cover Aluminum alloy Clear hard anodized
3 Piston Aluminum alloy CS1
. 020 to 832 Stainless steel
4 Piston rod - csz
‘ 240 to 063 Carbon steel Hard chrome plating
5 Non-rotating guide Oil sintered alloy
6 Bushing Oil-imp sintered alloy 020 to 832 only
7 Bumper Resin
8 Bumper Resin Replacement parts/Seal kit are the same as
9 Wear ring Resin double acting, non-rotating rod type. Refer to
10 | Rod end nut Rolled steel Zinc chromated FEED L,
1 Rod seal NBR Note) As sizes 250 and larger cannot be disassem-
" bled, the seal cannot be replaced.
12 Piston seal NBR Note) Refer to the Specific Product Precautions on
13 Tube gasket NBR page 362-1 for Disassembly/Replacement.



CG1KR series

Basic with Bottom Mounting: CG1KRN

With rubber bumper

X
2xoLD Width across GA 2 x RcP GB
flats KA
7 7 MM H1 7 !
N all L] b
N e
a I = o3
BN s
T | )
-
Width across, AL Y
flats B1 A N
LX H S + Stroke F
L ZZ + Stroke
Female rod end
MM
Effective depth A1\ X
j—
\—
lLH.|
ZZ + Stroke
Female Rod End mm)
Bore size
(mm) A1 | H MM X |2z
20 8|13 M4x07 [24] 90
25 8|14 M5x08 |26 93
32 12 | 14 M6 x 1 27 | 99
40 1315 M8x1.25 |31 [111
50 18] 16 | M10x1.5 |33 126
63 18] 16 | M10x1.5 |35 132
(mm)
B"(;ﬁrﬁ')ze s“?m)”ge A |AL|B1|D | E | F |GA|GB| H [H1| I |KA| L LD LH|LX| MM [N|P|S|X|Y|zz
20 |Upto150[ 18155/ 13| 9.2/12| 2 |20 [10[27 | 5[26| 8]30.4| 055 095 depth of 6 | 15| 18 [M8x1.25| 27 [1/8] 75|38 | 11 [104
25 |Upto200[22[195/17 [11 [14| 2 [22]10[ 32| 63110364 066 011 depthof 7 |18 ] 22 [wi0x1.25] 29 [1/8] 77| 44 [ 12 [111
32 |Upto200[22[195/17 [12 [18] 2 |26 | 10[ 32| 6|38 10 [42.4| 09,014 depthof 9 | 21|24 [wiox1.25| 33 |1/8] 83|45 |13 [117
40 |Upto300[30[27 [19[16 [25]| 2 |30 10[ 39| 847 | 14 [52.4] 01,0175 depth of 12] 26 | 32 [M14x1.5] 37 [1/8] 94| 55 | 16 [135
50 |Upto300]35[32 [27]20 [30[ 2 | 33| 12451158 | 18 |64.5] 04,020 depthof 14 [ 32|41 [M18x1.5] 44 |1/4]108] 62 | 17 |155
63 |Upto300/35[32 |27 20 [32] 2 |39 [ 12]45 11 [72] 18[76.6] 018,026 depth of 18 | 38| 46 [M18x1.5] 50 [1/4[114] 64 | 19 [161

Auto switch mounting position is the same as that on page 357.

342



Air Cylinder: With End Lock

CBG@G1 series

020, 925, 932, 940, 950, 063, 280, 100

CBG1|[L]
CDBG 1[L]
With auto swnch
(Built-in magnet)
Mounting Type

How

100

B Basic ['N [ Rubber bumper |

L Axial foot A ] Aircushion

F Rod flange

G Head flange Bore size

U Rod trunnion 20 [20mm || 50| 50 mm|

T Head trunnion 25 |25 mm|| 63| 63 mm

D Clevis 32 |32mm|| 80| 80 mm
+ Not available for bore size 080 and 0100. |40 | 40 mm |[100[100 mm

Besides, trunnion cannot be attached in
the side to which an end lock is attached.
Note) Mounting brackets are shipped
together, (but not assembled). on page 344.

Built-in Magnet Cylinder Model

Cylinder stroke (mm)
Refer to “Standard Strokes”

If a built-in magnet cylinder without an auto switch is required,

there is no need to enter the symbol for the auto switch.
(Example) CDBG1FA32-100-RL

to Order

[ AN BIE ]
Cm || = || G
N || "0 || =

IManual release

Non Iocklng type

- Locking type

Lock position

Auto switch

Number of
_auto switche
Nil | 2 pcs.

S 1 pc.

n “0" pos.

[ Nil_]

Without auto switch \

H | Head end lock
R Rod end lock
W | Double end lock

With rod boot

Nil Without rod boot

J Nylon tarpaulin

K Heat resistant tarpaulin

# In the case of w/rod boot, and a foot
bracket or rod side flange as a bracket,
those parts are to be assembled at the
time of shipment.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

Auto switch mounting bracket Note)

= For applicable auto switches,
refer to the table below.

Note) This symbol is indicated when the

D-A90J or M9 type auto switch is
specified.This mounting bracket
does not apply to other auto switch-
es (D-C70 and H70J, etc.) (Nil)

Made to Order
Refer to page 344 for details.

= Load voltage Auto switch model Lead wire length (m)
3 q Electrical | 5 Wiring Applicable bore size Pre-wired .
fres [Seecaiineton entry ‘:f (Output) DC AC 220 to 063 i 080, §100 (?\"ﬁ) (’\1/0 (i) (g) I\é(:\;\)e connector | APPlicable load
= F In-line In-line
3-wire MINV M9N = [ B ) Oo|l—] ©
(NPN) SV 12V = = G59 | @ |— ol—] © Ic
Grommet 3-wire ’ M9PV MoP = ® ®/® O/ —| O | circuit
S (PNP) = = G5P ® —|®/O0|—| O
- M9BV M9B = [ B ) Oo|l—] ©
K] 2-wire 12v = = K59 ® —|® O0/—| O —
H Connector = H7C = e — o000 —
° 3-wire MIONWV | MINW — ® ®/@® O|—| O
H v (NPN) 24 V|5V, 12V] _ — — G59W (e [—[@|O[—] O ICc Relay,
© | Diagnostic indication =1 3-wire ’ M9PWV | M9PW — ® (@@ |0 |—| O | circuit| PLC
2 | (2-colorindicator) (PNP) — — G5PW | @ |— @ |/O|—| O
= 2-wire 12V M9BWV | M9BW = ® ®¢/® O|—| O _
8 Grommet = = Ksw | @ |— @ | O|—| O
3-wire (NPN) 5V 12V MONAV*'| MONA*! = O 10 |@I01—=1 O |t
Water resistant 3-wire (PNP) | M9PAV*! | MOPA*! — Ol|0O|@]|O[— O
(2-color indicator) . M9BAV*'| M9BA*! = Ol|0|®@|O|— @)
2-wire 12v — — GSBAY | — | — @O — 6 —
Diagnostc utput (2-color indicator) 4-wire (NPN) 5V, 12V = H7NF = e | — [OF o IC circuit
= Ve 13-wire (Equiv. to NPN)| — 5V — A96V A96 = o — e | —|— — [ICcircuit| —
s L] 100V [ A93V+*2 | A93 — o o/o/0 | — —
H Grommet |No | 100 Vorless| A90V A90 = ® |—|® | —|—| — |ICcircuit
o —_ Yes| 100V, 200 V = B54 e —|0 e — —
5 No| 2wire |24V "2V [200Vorless] — B64 o ol — | — |fE™
B Connector [Yes| — — C73C | — e —000 —
2 No 24V or less — csoc | — ®  —®@ @ ®| — |(Ccircuit
lorndedto) | Grommet |Yes — — = B59W ®  —|®|—|—| — —

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

Please consult with SMC regarding water resistant types with the above model numbers.

%2 1 m type lead wire is only applicable to D-A93.

+ Lead wire length symbols: 0.5 m - il (Example) MONW
im - (Example) MONWM

(Example) MONWL

3m -

None -

5m -

.z
N

(Example) MONWZ
(Example) H7CN

= Since there are other applicable auto switches than listed above, refer to page 361 for details.
= For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
* The D-A900/M90O auto switches are shipped together, (but not assembled). (However, only auto switch mounting brackets are assembled before shipment.)

+ Solid state auto switches marked with “O” are produced upon
receipt of order.

343

2lg)sg
®IN|=

28

[
=
(-~}

g



CBG1 series

Symbol

Rubber bumper Air cushion

==

to
Mader' | Made to Order
Click here for details

Symbol Specifications

-XAO | Change of rod end shape
-XC13 | Auto switch rail mounting

Refer to pages 355 to 361 for cylinders
with auto switches.

* Auto switch proper mounting position
(detection at stroke end) and its mounting
height

* Minimum stroke for auto switch mounting

* Auto switch mounting brackets/Part no.

 Operating range

« Cylinder mounting bracket, by stroke/
Auto switch mounting surfaces

A Precautions

1 Refer to page 362-1 before handling. 1

© 344

Specifications

Bore size (mm) 20 [ 25 [ 32 [ 40 [ 50 [ 63 | 80 [ 100

Action Double acting, Single rod

Lubricant Not required (Non-lube)

Fluid Air

Proof pressure 1.5 MPa
operating pressure 1.0 MPa

Minimum operating pressure 0.15 MPa*

Ambient and fluid
temperature

Without auto switch: —10 to 70°C (No freezing)
With auto switch: =10 to 60°C (No freezing)

50 to 1000 mm/s

50 to 700 mm/s
Up to 1000™"5“mm

sta18

Upto 1500" "¢ mm

Piston speed

Stroke length tolerance Up to 1000°*3*mm, Up to 1200"* ;*mm

Cushion Rubber bumper, Air cushion

Basic, Axial foot, Rod flange, Head flange,
Rod trunnion, Head trunnion, Clevis

Mounting

# 0.05 MPa except locking parts.
== Rod/Head trunnion types are not available for 280 and 2100.
Trunnion is not attached for a cover on which lock mechanism is equipped.

Lock Specifications

Head end, Rod end, Double end
020 [ 025 | 032 | 040 | o050 | o063 | 080 [ 0100
215 | 330 | 550 | 860 | 1340 | 2140 | 3450 | 5390
2 mm or less

Lock position

Holding force
(Max.) (N)
Backlash

Manual release Non-locking type, Locking type

Adjust the switch position so that it operates upon movement to both the stroke end and backlash
(2 mm) positions.

Standard Strokes

Soislies Longstroke | manclaciitale

(mm) Standard stroke (mm) Note 1) ()

20 25, 50, 75, 100, 125, 150, 200 201 to 350

25 301 to 400

32 301 to 450

40 25, 50, 75, 100, 125, 301 to 800 1500
50, 63 150, 200, 250, 300 301 t0 1200

80 301 to 1400

100 301 to 1500

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
Note 2) Long stroke applies to the axial foot and rod flange types.
If other mounting brackets are used, or the length exceeds the long stroke limit, refer to
“Air Cylinders Model Selection” on front matter pages.

Rod Boot Material Accessories
———
Symbol| Rod boot material | MaXimum operating Mounting Basic
J Nylon tarpaulin 70°C Standard | Rod end nut [ ]
K [Heat resistant tarpaulin 110°C* Single knuckle j?i?t Ld
# Maximum ambient temperature for the rod Option Double knuckle joint™ (with pin)| @
boot itself. Pivot bracket [ ]
*1 A double knuckle joint pin and retaining rings are
shipped together.

=2 Refer to page 309 for part numbers and
dimensions of the accessories.

+3 Stainless steel mounting brackets and accessories
are also available.
Refer to page 309-1 for details.


http://www.smcworld.com/products/en/custom.do

Air Cylinder: With End Lock CBG1 Series

Construction: With Rubber Bumper
Head end lock

280, 3100 280, 2100

Locking type manual release: Suffix L CJ1

[=)
=
~

o
=
)

[
D
wW

Rod end lock

h\\ MB1
h CA2
Long stroke CS1
CS2
Component Parts
No. Description Material Note No. Description Material Note
1 |Rod cover Aluminum alloy Hard anodized 15 | M/O knob Zinc die-casted Black painted
2 |Head cover Aluminum alloy Hard anodized 16 |M/O bolt Alloy steel Black zinc chromated, Red painted
3 |Tube cover Aluminum alloy Hard anodized 17 |M/O spring Steel wire Zinc chromated
4 | Cylinder tube Aluminum alloy Hard anodized 18 pper ring Carbon steel Zinc chromated
5 |Piston Aluminum alloy Chromated 19 per A Resin
6 |Piston rod Carbon steel* Hard chrome plating® 20 per B Resin 40 or larger: Same as bumper A
7 ing Bearing alloy 21 | Retaining ring Stainless steel Not available for 80, 100
8 |Lock piston Carbon steel Hard chrome plating, Heat treated 22 | Piston gasket NBR
9 |Lock bushing Copper alloy 23 |Wear ring Resin
10 | Lock spring Stainless steel 24 |Rod end nut Carbon steel Zinc chromated
1 K Resin 25 |Rod seal NBR
12 | Hexagon socket head cap screw Alloy steel Black zinc chromated 26 | Piston seal NBR
13A[Cap A Aluminum die-casted Black painted 27 | Cylinder tube gasket NBR 1 pc. when using tube cover
13B|Cap B Carbon steel Oxide film treated 28 | Lock piston seal NBR 2 ps. for double end lock
14 | Rubber cap Synthetic rubber 29 | Piston holder Resin 040 to 9100, head end lock only
Note) For cylinders with auto switches, the magnet is installed in the piston.
* The material for 820, 825 cylinders with auto switches is made of stainless steel.
Replacement Parts: Seal Kit Replacement Parts: Seal Kit
(With one end lock) (With double end lock)
Series Bore size (mm) Kit no. Contents Series Bore size (mm) Kit no. Contents
CBG1ON 20 OBOIRE0PS | Setof the nos CBG1ON 20 OBOIREPSW 1 Setof the nos
Rubber bumper gg gggmig::: @, 2, 2), @ Rubber bumper gg gggmig:s:x 2,2, 2), @
type and grease pack type and grease pack
40 CBG1N40-PS 40 CBG1N40-PS-W
Order seal kit in accordance with the bore size. Order seal kit in accordance with the bore size. D'D
Note) As sizes 650 and larger cannot be disassembled, the seal cannot Note) As sizes 650 and larger cannot be disassembled, the seal cannot 'XD
be replaced. be replaced.
« The seal kit includes a grease pack (10 g). Order with the following part « The seal kit includes a grease pack (10 g). Order with the following part =
number when only the grease pack is needed. number when only the grease pack is needed. Technical
Grease pack part number: GR-S-010 (10 g) Grease pack part number: GR-S-010 (10 g) (]

345 ®



CBG1 series

Construction: With Air Cushion

With air cushion
Head end lock

Rod end lock

Component Parts

Non-locking type manual release: Suffix N

e

®

Long stroke

No. Description Material Note No. Description Material Note

1 |Rod cover Aluminum alloy Hard anodized 22 | Piston gasket NBR

2 |Head cover Aluminum alloy Hard anodized 23 |Wear ring Resin

3 |Tube cover Aluminum alloy Hard anodized 24 |Rod end nut Carbon steel Zinc chromated

4 | Cylinder tube Aluminum alloy Hard anodized 25 |Rod seal NBR

5 |Piston Aluminum alloy Chromated 26 | Piston seal NBR

6 |Piston rod Carbon steel* Hard chrome plating® 27 | Cylinder tube gasket NBR 1 pc. when using tube cover
7 i Bearing alloy 28 | Lock piston seal NBR 2 pes. for double end lock

8 |Lock piston Carbon steel Hard chrome plating, Heat treated 29 | Piston holder Resin 40 to 8100 only

9 |Lock bushing Copper alloy 30 |Cushion ring A Aluminum alloy Anodized

10 |Lock spring Stainless steel 31 |Cushion ring B Aluminum alloy Anodized

1 p Resin 32 | Seal retainer Rolled steel Only when using nickel plating, tube cover
12 | Hexagon socket head cap screw Alloy steel Black zinc chromated 33 | Cushion valve Rolled steel Electroless nickel plating
13A|Cap A Aluminum die-casted Black painted 34 | Valve retainer Rolled steel Electroless nickel plating
13B|Cap B Carbon steel Oxide film treated 35 |Lock nut Rolled steel Nickel plating

14 |Rubber cap Synthetic rubber 36 | Cushion seal A Urethane

15 | M/O knob Zinc die-casted Black painted 37 |Cushion seal B Urethane 032 or larger: Same as A
16 | M/O bolt Alloy steel Black zinc chromated, Red painted 38 | Cushion ring gasket A NBR

17 | M/O spring Steel wire Zinc chromated 39 | Cushion ring gasket B NBR 032 or larger: Same as A
18 ring Carbon steel Zinc chromated 40 |Valve seal NBR

41 | Valve retaining gasket NBR

Note) For cylinders with auto switches, the magnet is installed in the piston.
* The material for 820, 925 cylinders with auto switches is made of stainless steel.

Replacement Parts: Seal Kit
(With one end lock)

Replacement Parts: Seal Kit
(With double end lock)

Series Bore size (mm) Kit no. Contents Series Bore size (mm) Kit no. Contents
20 CBG1A20-PS Set of the nos. 20 CBG1A20-PS-W_ | st of the nos.
goBGICA 25 CBG1A25PS | ®, ®, @, B, OBGICA 25 CBGIA25PSW | @, ®, @), ®,
type 32 CBG1A32-PS @, @ Wpe 32 CBG1A32-PS-W @, @
40 CBG1A40-PS | and grease pack 40 CBG1A40-PS-W | and grease pack

Order seal kit in accordance with the bore size.

Note) As sizes 650 and larger cannot be disassembled, the seal cannot

be replaced.

« The seal kit includes a grease pack (10 g). Order with the following part
number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g)

® 346

Order seal kit in accordance with the bore size.

Note) As sizes @50 and larger cannot be disassembled, the seal cannot
be replaced.
+ The seal kit includes a grease pack (10 g). Order with the following part

number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g)



Basic with Rubber Bumper: CBG1BN

Air Cylinder: With End Lock CBG1 Series

Head end lock: CBG1BN | Bore size | —[Stroke] — HJ

Width across flats B1 GA 2xRcP GB
MM _H —fr - 1 -
T a B W
= i [
0 o - -
3 R INA 5
d| ORI
AL Fll.
A K TA 2xTC DL2
H S + Stroke
ZZ + Stroke

Non-locking type manual release: Suffix N

2

NA

TG|| TF

TA cross section

Locking type manual release: Suffix L

-1 L
B
(mm)
B"(:ﬁrﬁ')ze f;fé‘j A|AL|Bi | C | D |D2| E|F |GA|GB| H | Hi | HR (h:':)'(_) I J
20 Up to 350 18 15.5 13 14 8 125 12 2 12 12 35 5 253 | 37 26 M4 x 0.7 depth 7
25 Up to 400 22 19.5 17 16.5 10 12.5 14 2 12 12 40 6 28.3 | 40 31 | M5x0.8depth 7.5
32 Up to 450 22 19.5 17 20 12 12 18 2 12 12 40 6 31.3 | 43 38 M5 x 0.8 depth 8
40 Up to 800 30 27 19 26 16 15 25 2 13 13 50 8 38.3 | 52.5 47 M6 x 1 depth 12
50 Upto 1200| 35 32 27 32 20 16.5 30 2 14 14 58 11 445 | 58.5 58 | M8x 1.25 depth 16
63 Up to 1200| 35 32 27 38 20 16.5 32 2 14 14 58 11 45 59 72 | M10x 1.5 depth 16
80 Upto 1400| 40 37 32 50 25 19 40 3 20 20 71 13 53.5 | 68 89 | M10x 1.5 depth 22
100 Upto 1500| 40 37 41 60 30 20 50 8 20 20 71 16 64.5 | 79 110 | M12x 1.75 depth 22
B"([ﬁg')ze K | KA MM MO | NA| P |RF| S |[TA TC TD | TE | TF | TG | WL | 2Z
20 5 6 M8 x 1.25 15 24 1/8 11 81 1 M5 x 0.8 8 ® 4 0.5 55 15 118
25 5.5 8 M10 x 1.25 15 29 1/8 11 81 11 M6 x 0.75 109 5 1 6.5 15 123
32 5.5 10 M10 x 1.25 15 35.5 1/8 11 81 1 M8 x 1.0 12:3% 55 | 1 7.5 24 123
40 6 14 M14x 1.5 19 44 1/8 11 92 12 M10 x 1.25 1449 6 1.25 8.5 24 144
50 7 18 M18x 1.5 19 55 1/4 11 107 13 M12x 1.25 169 75| 2 10 24 167
63 7 18 M18x 1.5 19 69 1/4 11 107 13 M14x 1.5 18+9% 115 | 3 14.5 24 167
80 10 22 M22 x 1.5 23 80 3/8 21 130 —_ — — — — — 40 204
100 10 26 M26 x 1.5 23 100 1/2 21 130 = = = == = = 40 204

347

[x NN x]
€= || C=
0 || =

=R K
ERIEIE=RIE™
DN

[
D
wW

QIO |=
DRI 2|
N || = ([N ||



CBG1 series

Basic with Rubber Bumper: CBG1BN

Rod end lock: CBG1BN | Bore size | —[Stroke| —

‘ GB
I T
B BrEl
DL1 TB
S + Stroke
ZZ + Stroke

Double end lock: CBG1BN | Bore size | —[Stroke| —

(mm)
B‘Z[ﬁms')ze DLi| GB s B zz
20 19.5| 10 (12) 80 (88) 1 117 (125)
25 |195[10(12)| 80(88) |11 122 (130)
32 |20 [10(12)| 81(89) [10(11) | 123(131)
40 |19 [10(13)| 87(96) |10(12) | 139 (148)
50 | 23.5]12(14) | 102 (114) [12(13) | 162 (174)
63 | 235 12(14) | 102 (114) |12 (13) | 162 (174)
80 |27 |16(20)| 124(138) | — | 198 (212)
100 |30 |16(20)| 124(138) | — | 198 (212)

# (): Denotes the dimensions for long stroke.

| (mm)
i ‘ i BO(,I:[:I)ZE s | zz
2 20 92 | 129
I 25 92 | 134
32 91| 133
40 101 | 153
S + Stroke 50 | 119|179
ZZ + Stroke 63 119 | 179
80 146 | 220
100 146 | 220
With rod boot
) ¢ 8 8 ¢
i ‘ i
7‘]: T —
2l 0 E i Fa Y% i] 2o E i F%\
al © Bl @

348

=i

S N

)
)

s

h+¢

f

ZZ + ¢ + Stroke

h+¢

f

]

ZZ + ¢ + Stroke

220 to 063 280, 0100

(mm)

Bore size elflnlw JH | JW Head end lock: -HCI | Rod end lock: =RCJ| Double end lock: -WO
(mm) (Reference) | (Reference) y 44 Y44 Y44
20 |30|18|55|27| 155 | 10.5 138 137 (145) 149
25 [30[19|62|32| 16,5 | 10.5 145 144 (152) 156
32 [35]19|62|38| 185 | 10.5 o 145 145 (153) 155
40 [35[19|70(48| 21,5 | 105 | © 164 159 (168) 173
50 [40|19|78|59| 24 10.5 E 187 182 (194) 199
63 |40[20]78|72[ 24 [ 105 |~ 187 182 (194) 199
80 |52[10|80|59] — | — 213 207 (221) 229
100 62| 7|80|71 = = 213 207 (221) 229

Denotes the dimensions for long strokes.
he minimum stroke with rod boot is 20 mm.



Air Cylinder: With End Lock CBG1 Series

Basic with Air Cushion: CBG1BA

Head end lock: CBG1BA | Bore size | —[Stroke] — HJ
Rod end lock: CBG1BA | Bore size | —[Stroke] — RO

Head End Lock: -HOI (mm) Rod End Lock: -RC (mm)
Bore size Bore size
(mm) P WA wB WH Woe (mm) P WA wB WH we
20 M5 x 0.8 16 16 23 30° 20 M5 x 0.8 16 |15(16)| 23 30°
25 M5 x 0.8 16 16 25 30° 25 M5 x 0.8 16 |15(16) | 25 30°
32 Rc1/8 16 16 28.5 25° 32 Rc1/8 16 |15(16) | 285 | 25°
40 Rc1/8 16 16 33 20° 40 Rc1/8 16 |15(16)| 33 20°
50 Rc1/4 18 18 40.5 20° 50 Rci/4 18 |17(18)| 405 | 20°
63 Rc1/4 18 18 475 | 20° 63 Rc1/4 18 |17(18)| 475 | 20°
80 Rc3/8 22 22 60.5 20° 80 Rc3/8 22 |22 605 | 20°
100 Rci/2 22 22 71 20° 100 Rcl/2 22 |22 71 20°

* For dimensions other than listed above, refer to the dimensions
with rubber bumper.

dimensions with rubber bumper.

Double end lock: CBG1BA [ Bore size | — [Stroke| — W[

): Denotes the dimensions for long strokes.
For dimensions other than the listed above, refer to the

2xP wB
S + Stroke
ZZ + Stroke
(mm)
Bore size
(mm) P S WA wB WH wo 2z
20 M5 x 0.8 92 16 16 23 30° 129
25 M5 x 0.8 92 16 16 25 30° 134
32 Rc1/8 91 16 16 285 25° 133
40 Rc1/8 101 16 16 33 20° 153
50 Rc1/4 119 18 18 40.5 20° 179
63 Rc1/4 119 18 18 47.5 20° 179
80 Rc3/8 146 22 22 60.5 20° 220
100 Rc1/2 146 22 22 71 20° 220

= For dimensions other than listed above, refer to the dimensions with rubber bumper.

5
-
—

(x]
C—
o

[y
[
N

[
()
=

[=)
=
~

o
=
)

=
=
—r

[z}
=
N

(]
(7]
-

(5]
n
N



CBG1 series

With Mounting Bracket

Axial foot: CBG1LO

(For dimensions other than listed below, refer to pages 347 to 349, 301 to 303.)

LS + Stroke

ZZ + Stroke

(mm)
. Head end lock: =-HO] Rod end lock: -RCJ Double end lock: -WC]
Nt LS 2z LS 2z Ls 2z
— | Without rod boot | With rod boot — | Without rod boot |  With rod boot — | Without rod boot | With rod boot
20 57 122 142 +¢ 56 (64) | 121 (129) 141 (149) + ¢ 68 133 153 +¢
25 57 127.5 149.5 +¢ 56 (64) | 126.5 (134.5) 148.5 (156.5) + ¢ 68 138.5 160.5 +¢
32 55 127.5 1495 +¢ 55 (63) | 127.5(135.5) 149.5 (157.5) + € 65 137.5 159.5 +¢
40 65 149 169 + ¢ 60 (69) | 144 (153) 164 (173) +¢ 74 158 178 + ¢
50 72 174.5 1945+¢ 67 (79) | 169.5(181.5) 189.5 (201.5) + ¢ 84 186.5 206.5 +¢
63 72 174.5 1945 +¢ 67 (79) | 169.5 (181.5) 189.5 (201.5) + ¢ 84 186.5 206.5 +¢
80 82 210.5 219.5+¢ 76 (90) | 204.5(218.5) | 213.5(227.5) + ¢ 98 226.5 235.5+¢
100 82 214 223 +¢ 76 (90) | 208 (222) 217 (231) +¢ 98 230 239 +¢
# (): Denotes the dimensions for long stroke.
Rod flange: CBG1FO
I I
TR 1
B f B i
Head flange: CBG1GO
I I
I I
L 9§
1 N | N7
e AA
ZZ + Stroke
(mm)
. Head end lock: -HOJ I Rod end lock: -RCJ Double end lock: -WCJ
SR e ZZ (Head flange)
(mm) : : ; e ; .
Without rod boot With rod boot Without rod boot With rod boot Without rod boot With rod boot
20 124 144 + ¢ 123 (131) 143 (151) +¢ 135 155 +¢
25 130 152 +¢ 129 (137) 151 (159) + ¢ 141 163 +¢
32 130 152 +¢ 130 (138) 152 (160) + ¢ 140 162 +¢
40 152 172 +¢ 147 (156) 167 (176) + ¢ 161 181 +¢
50 176 196 + ¢ 171 (183) 191 (203) +¢ 188 208 +¢
63 176 196 +¢ 171 (183) 191 (203) +¢ 188 208 +¢
80 215 224 +¢ 209 (223) 218 (232) +¢ 231 240 +¢
100 218 227 +¢ 212 (226) 221 (235) +¢ 234 243 +¢

# (): Denotes the dimensions for long stroke.

® 350



With Mounting Bracket

Rod trunnion: CBG1UO

Air Cylinder: With End Lock CBG1 Series

(Head end lock -HI only)

(mm)

Rod end lock: -RC]

Bo(ﬁns]i)ze Z (Head trunnion) ZZ (Head trunnion) CcJ1
Without rod boot | With rod boot | Without rod boot | With rod boot
20 104 (112) | 124(132) +¢ | 117 (125) | 137 (145) +¢ ‘CJP
25 109 (117) | 131 (189) +¢ | 122 (180) | 144 (152) +¢
32 111 (119) | 133 (141) +¢ | 123 (131) | 145 (153) + ¢
i 40 127 (134) | 147 (154) + ¢ | 139 (148) | 159 (168) + ¢ CJ2
Head trunnion: CBG1TO 50 148 (159) | 168 (179) + ¢ | 162 (174) | 182 (194) + ¢
(Rod end lock -RCI only) 63 148 (159) | 168 (179) +¢ | 162 (174) | 182 (194)+¢  [JCM
—— —t # (): Denotes the dimensions for long stroke.
il Bid | cM2
O] \Z)i Cm3
Z + Stroke
ZZ + Stroke cﬁs
Clevis: CBG1DC] Ty JMB
220 to 063 T MB
el e Pl /2 BT
N | AN P
L CA2
Z + Stroke
ZZ + Stroke CS1
Clevis: CBG1DO ! My €S2
280, 6100 —t
;Hzmw; ((@
Z + Stroke
ZZ + Stroke
(mm)
B . Head end lock: -HC] Rod end lock: -RCJ
"(:ﬁ ms')ze z zz z zz
Without rod boot | With rod boot | Without rod boot| With rod boot |Without rod boot| With rod boot |Without rod boot| With rod boot
20 130 150 +¢ 141 161 +¢ 129 (137) 149 (157) + ¢ 140 (148) 160 (168) + ¢
25 137 159 +¢ 150 172 +¢ 136 (144) 158 (166) + ¢ 149 (157) 171 (179) +¢
32 141 163 +¢ 156 178 +¢ 141 (149) | 163 (171) +¢ 156 (164) 178 (186) + ¢
40 164 184 +¢ 182 202 +¢ 159 (168) 179 (188) + ¢ 177 (186) 197 (206) +¢
50 190 210+¢ 210 230 +¢ 185 (197) 205 (217) +¢ 205 (217) 225 (237) +¢
63 195 215+¢ 217 237 +¢ 190 (202) 210 (222) +¢ 212 (224) 232 (244) + ¢
80 236 245 +¢ 254 263+¢ 230 (244) | 239 (253)+¢ | 248 (262) 257 (277) +¢
100 244 253 +¢ 266 275+¢ 238 (252) | 247 (261)+¢ | 260 (274) 269 (283) + ¢
’ Double end lock: “-WJ
Bore size
(mm) 4 Y4
Without rod boot | With rod boot | Without rod boot | With rod boot
20 141 161 +¢ 152 172 +¢
25 148 170 +¢ 161 183 +¢
32 151 173 +¢ 166 188 +¢
40 173 193 +¢ 191 211 +¢ D-1
50 202 222 +¢ 222 242 +¢
63 207 227 +¢ 229 249 +¢ _Xl:l
80 252 261 +¢ 270 279 +¢
100 260 269 +¢ 282 291 +¢

# (): Denotes the dimensions for long stroke.



Air Cylinder: Low Friction Type
Double Acting, Single Rod

cGi

Q) Series

020, 925, 032, 940, 950, 063, 280, 100

] CG1Q|25|—|100| -]
 With auto switch| c:T>G1 L] Q |25|—|1oo| F]-[M9BW] ]-[C]-

With auto switch
(Built-in magnet)

Mounting

Basic

Axial foot

Rod flange

Head flange

Rod trunnion

Head trunnion

oF S eonr o

Clevis

+ Not available for 280 and 2100.

Note) Mounting brackets are shipped
together, (but not assembled).

Low friction type

Built-in Magnet Cylinder Model

If a built-in magnet cylinder without an auto
switch is required, there is no need to enter
the symbol for the auto switch.

(Example) CDG1FQ32-100B

354

Bore size ¢

How to Order

Use the new series

“Smooth Cylinder CG1Y series”

to realize both-direction low friction and low-speed operation.
(Refer to the Best Pneumatics No. 2-3.)

20

20 mm

25

25 mm

32

32 mm

40

40 mm

50

50 mm

63

63 mm

80

80 mm

100

100 mm

Number of
auto switches

Nil | 2 pcs.
S 1pc.
n “n” pcs.

Auto switch
‘ Nil ‘ Without auto switch

Direction of low friction
‘ F ‘With pressure at head side‘
‘ B ‘ With pressure at rod side ‘

Cylinder stroke (mm)

Auto switch mounting bracket Note)
Note) This symbol is indicated when the
D-A90 or M9O type auto switch is
specified.This mounting bracket
does not apply to other auto switches

(D-C700 and H70J, etc.) (Nil)

Made to Order



CG1 series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

Solid state auto switch
D-M9CI/M9IW, D-M9JA
020 to 063

A 22
(24)
(): Dimension of the D-M9LJA
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-M9C1V/M9CIWV, D-M9CJAV
020 to 63

A J20]
(22)

(): Dimension of the D-MOLJAV

A and B are the dimensions from the end of the

Reed auto switch
D-A90]
020 to 063

=Hs

o
G
pry

(x]
C—
-u

A 24.5

(2
(): Dimension of the D-A96
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-A9C1V
020 to 963
~Hs

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

head cover/rod cover to the end of the auto switch.
D-G5/K5/G5]W/G5BA D-C7/C8, D-C73C/C80C
D-K59W, D-G59F, D-G5NT 220 to 963
220 to 2100
=Hs ~Hs
N T H i HH
QoD l s chtel o=l %Lﬁf@ ]
o= & = - o
A 8] A .8
D-H70O/H70W D-B5/B6/B59W
D-H7NF/H7BA/D-H7C 020 to 5100
220 to 63
~Hs
pPOUNE, T [ Ll 7
AN T’I f S 1@
S| b3 %3 I =5 ]
i NSa Al 2 i
A B_| A ] B
Auto Switch Mounting Height (mm)
Auto switch - H
M model [DMOT(Y) DD g_gglg‘fv D-G5NT
D-MOOW(V) o TiooF” [D-C73C D-Ksow D-G59F
D-M9IA(V) D-C80C D-H7C
D-H7BA D-B5/B6
D-ASC(V)  p.c7ics D-Bsow D-GOBA
Bore size Hs Hs Hs
20 26.5 27 27.5
25 29 29.5 30
32 325 33 335
40 37 37.5 38
50 425 43 435
63 49.5 50 50.5
80 — — 59
100 — — 69.5

[y
[
N

[=)
=
~

C

Hz=H

[
=
(-~}

g

MB1

o
>
N

(BN ¥]
(7 BIN 7]
N || =



CG1 series

Auto Switch Proper Mounting_; Position (Detection at Stroke End)

Except Single Acting, Direct Mount Type (CG1R, CG1KR) and With End Lock (CBG1) (mm)
Auto switch | D-M9[] ] )
model | D-MOCIV D-H7OW pD-c70 D-G500/K59
D-H7NF D-G5CJW/K59W
D-MICIW D-A90] DHTBA D-C80 D-GSOF D-B50) D-B59W
D-M9CIWV D-A9CIV D-C73C D-B64
D-H70) D-G5NT
D-M9LIA D-HTC D-C80C D-GEBA
D-M9CIAV
Bore size A B A B A B A B A B A B A B
24 20 19.5 205 16 14.5 17.5
20 33 @) 29 (28) 285 | o7 | 295 | (g% | 25 (24) 285 | oo | 25 | 25
24.5 20.5 20 21 16.5 15 18
25 325 | 305 | 285 | ogs | 28 29) 29 (29) 245 | 045 | B (23) 26 26)
25 21 20.5 215 17 15.5 18.5
32 34 33) 30 (29) 295 | 557 | 305 | (o9 | 26 25) 245 | o5 | 275 | (26)
27 23 225 235 19 17.5 20.5
40 39 36) 35 (a) 345 | 315 | 355 | 32s | 3 28) 295 | 26 | 325 | (29'5)
32 28 27.5 28.5 24 225 25.5
50 46 ) 42 (40) 45 | a9 | 25 | (40 | B (36) 365 | 345 | 395 | @75
335 29.5 29 30 25.5 24 27
63 45 | 5y | 405 | (415 | 40 (1) 41 (42) 365 | (375 | 3 (36) 38 (39)
30.5 29 32
80 — — — — — — — — 49.5 (@4.5) 48 3) 51 @6)
31.5 30 33
100 — — — — — — — — 85 | usg | 47 (a4) 50 @)
Note 1) The values in () are for long stroke.
Note 2) Adjust the auto switch after confirming the operating condition in the actual setting.
Single Acting, Spring Return Type (S)
. . A dimensions
e e Up to 50 st 51 t0 100 st 101 to 125 st 126 to 200 st B
20 58 83 108 — 24
D-M9CI(V) 25 57.5 82.5 107.5 132.5 245
D-M9CIW(V)
D-M9DIA(V) 32 59 84 109 134 25
40 64 89 114 139 27
20 54 79 104 — 20
25 53.5 78.5 103.5 128.5 20.5
D-A9LI(V) 32 55 80 105 130 21
40 60 85 110 135 23
D-H70 20 53.5 785 103.5 — 19.5
D-H7OW
IS 25 53 78 103 128 20
D-H7BA 32 54.5 79.5 109.5 129.5 20.5
D-H7NF 40 59.5 84.5 109.5 134.5 225
D-C70 20 54.5 79.5 104.5 — 20.5
D-C80 25 54 79 104 129 21
D-C73C 32 55.5 80.5 105.5 130.5 21.5
D-C80C 40 60.5 85.5 110.5 135.5 235
20 50 75 100 — 16
D-G5NT 25 49.5 745 99.5 1245 16.5
D-G59F 32 51 76 101 126 17
40 56 81 106 131 19
20 485 735 98.5 — 14.5
D-B50 25 48 73 98 123 15
D-B64 32 49.5 74.5 99.5 124.5 15.5
40 54.5 79.5 104.5 129.5 17.5
20 51.5 76.5 101.5 — 17.5
25 51 76 101 126 18
D-B59W 32 525 775 102.5 127.5 18.5
40 57.5 82.5 107.5 1325 20.5

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

356



Auto Switch Mounting CG1 Series

Auto Switch Proper Mounting_; Position (Detection at Stroke End)

Single Acting, Spring Extend Type (T) (mm)
Auto switch model Bore size A Bllmenslons
Up to 50 st 51 to 100 st 101 to 125 st 126 to 200 st
20 33 49 74 99 —
g:mggw()v) 25 325 495 745 99.5 124.5 cJ1
D-MOCIA(V) 32 34 50 75 100 125
40 39 52 77 102 127 ‘C JP
20 29 45 70 95 —
25 285 455 705 95.5 120.5
2AIR () 32 30 6 71 9% 121 CJ2
40 35 48 73 98 123
D-H70 20 28.5 44.5 69.5 94.5 — JCM
BTew 25 28 45 70 95 120
D-H7BA 32 29.5 45.5 70.5 95.5 120.5 CMZ
D-H7NF 40 34.5 47.5 72.5 97.5 122.5
D-C70 20 29.5 455 705 95.5 —
D-C80 25 29 46 71 96 121 CM3
D-C73C 32 30.5 46.5 715 96.5 121.5
D-C80C 40 35.5 48.5 73.5 98.5 1235 m
20 25 41 66 91 —
D-G5NT 25 245 415 66.5 91.5 116.5 CG3
D-G59F 32 26 42 67 92 117
40 31 44 69 94 119
20 235 39.5 64.5 89.5 — ‘JMB
D-B50 25 23 40 65 90 115
D-B64 32 245 405 65.5 90.5 1155 MB
40 295 425 67.5 92.5 117.5
20 26.5 425 67.5 925 — MB1
25 26 43 68 93 118
D-B5SW 32 275 435 68.5 935 11855 ‘CAZ
40 325 455 705 95.5 120.5
Note) Adjust the auto switch after confirming the operating condition in the actual setting. cs1
CS2
Direct Mount Type (CG1R, CG1KR) (mm)
Auto switch | D-M9CI D-H7OW
model | D-MOCIV D-H7NF D-C70
D-M9CIW D-A90] D-H7BA D-C80 D-G59F D-B50J D-B59W
D-M9CIWV D-A9CIV D-H7O D-C73C D-G5NT D-B64
D-M9TIA - D-C80C
D-M9LIAV D-H7C
Bore size A B A B A B A B A B A B A B
20 12 24 8 20 7.5 19.5 8.5 20.5 4 16 25 145 55 17.5
25 11.5 24.5 75 20.5 7 20 8 21 35 16.5 2 15 5 18
32 13 25 9 21 8.5 205 9.5 21.5 5 17 35 15.5 6.5 18.5
40 18 27 14 23 13.5 225 14.5 235 10 19 8.5 17.5 11.5 20.5
50 20 32 16 28 15.5 27.5 16.5 28.5 12 24 10.5 22,5 13.5 25.5
63 18.5 335 14.5 29.5 14 29 15 30 10.5 25.5 9 24 12 27
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
D-(1
XOJ



CG1 series

Auto Switch Proper Mounting Position (Detection at Stroke End)

With End Lock (CBG1) (mm)
Auto switch D-G50W
model g:mggv D-H7O D-K59W T
D-MOOIW D-A90] BehIC) DHERET D-C8 D-B5
Lock | p.eOwWvV | D-A9CIV Be=W BeGo D-C73C D-B6 DeESSV
position D-M9TIA D-H7BA D-K5 D-C80C
D-H7NF D-G5NT
D-MYIAV D-G5BA
Bore size A B A B A B A B A B A B A B
Headend | 33 36 29 32 285 | 315 25 28 2905 | 325 | 235 | 265 | 265 | 295
24 20 195 16 205 145 175
20 Rodend | 44 2) 40 28) 39.5 275) 36 24) 40.5 (28.5) 345 (225) 37.5 (255)
Doubleend | 44 36 40 32 395 | 315 36 28 405 | 325 | 345 | 265 | 375 | 295
Headend | 33 36 29 32 285 | 315 25 28 205 | 325 | 235 | 265 | 265 | 295
24 20 195 16 205 145 175
25 Rodend | 44 (32) 40 (28) 39.5 27.5) 36 (24) 40.5 (28.5) 345 (225) 37.5 (255)
Doubleend| 44 36 40 32 395 | 315 36 28 405 | 325 | 345 | 265 | 375 | 295
Headend | 34 35 30 31 205 | 305 26 27 305 | 315 | 245 | 255 | 275 | 285
32 Rod end 44 % 40 2 39.5 205 36 7 40.5 215 34.5 155 37.5 185
(33) (29) (28.5) (25) (29.5) (23.5) (26.5)
Doubleend| 44 35 40 31 395 | 305 36 27 405 | 315 | 345 | 255 | 375 | 285
Headend | 39 41 35 37 345 | 365 31 33 355 | 375 | 2905 | 315 | 32 34.5
40 Rod end 48 27 44 2 43.5 225 40 19 44.5 235 38.5 175 41 205
(36) (32) (31.5) (28) (32.5) (26.5) (29.5)
Doubleend| 48 41 44 37 435 | 365 40 33 445 | 375 | 385 | 315 | 41 34.5
Headend | 46 49 42 45 415 | 445 38 41 425 | 455 | 365 | 395 | 395 | 425
32 28 275 24 285 225 255
50 Rodend | 58 (44) 54 (40) 53.5 (395) 50 (36) 54.5 (405) 48.5 (345) 51.5 (57.5)
Doubleend| 58 49 54 45 535 | 445 50 41 545 | 455 | 485 | 395 | 515 | 425
Headend | 46 49 42 45 415 | 445 38 41 425 | 455 | 365 | 395 | 395 | 425
63 Rodend | 58 82 54 28 s35 | 27 50 24 545 | 285 | 4gs | 25 | 515 | 250
(44) (40) (39.5) (36) (40.5) (34.5) (37.5)
Doubleend| 58 49 54 45 535 | 445 50 41 545 | 455 | 485 | 395 | 515 | 425
Head end 48 54 46.5 52.5 49.5 55.5
32 30.5 335
80 Rodend | — — — — — — 64 46) — — 62.5 (445) 65.5 “75)
Double end 64 54 62.5 52.5 65.5 55.5
Head end 48 54 465 | 525 | 495 | 555
32 30.5 335
100 Rodend | — — — — - — 64 (45) - — 62.5 095, 65.5 .
Double end 64 54 625 | 525 | 655 | 555

Note 1) The values in ( ) are for long stroke.
Note 2) Adjust the auto switch after confirming the operating condition in the actual setting.

358




Minimum Stroke for Auto Switch Mounting

Auto Switch Mounting CG1 Series

n: Number of auto switches (mm)

Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs.
i Different surfaces Same surface Different surfaces Same surface
n-2
D-M9O] 5 15 Note 1) 40 Note 1) 20+357— 55+35(n-2) CJ1
(N=2, 4, 6..-) Note 3) (n=2,8,4,5-) C
-2 JP
D-MOCIW 10 15 Note 1) 40 Note 1) 20+3575 (:515 +232 (2 ;2))
(n=2,4,6.)Note 3) =2,3,4,5 CJZ
(n-2)
25+35 60 + 35 (n - 2)
D-M9JA 10 25 40 Note 1) 5
2 (N=2,4,6.)Note3) (n=2,3,4,5) JCM
n-2 _
D-A9C] 5 15 30 Note 1) 15+35°— 50 +35 (n—2) cM2
(=2, 4, 6.)Noed) (n=2,3,4,5+)
n-2 _ M
D-M9CIV 5 20 35 20+35 5 35+35(n-2) C 3
(N=2, 4, 6..-) Note 3) (n=2,3,4,5)
(= ~, |
D-A9CIV 5 15 25 ( 15+35 )2N s (r215_+232 (2 52)) CG
n=2,4,6.)Note =2,3,4, 5 3
-2)
D-M9CIWV 20+350 35435 (n-2)
10 20 35 2
D-MIIAV (h=2, 4, 6. Note) (n=2,3,4,5-) JMB
D-C70 5 15 50 15+45£"—;2) 50 + 45 (n - 2) MB
D-C80 (n=2,4,6..)Note 3) (n=2,8,4,5-)
D-H70 - MB1
D-H7OW 10 15 60 15+ 45£—)2 60 + 45 (n —2)
DytZBA (n=2,4, 6. Noted) m=2,3,45-) | |CA2
D-H7NF
B3 15+ 50022 65+ 50 (n—2) Cs1
D-C73C 5 15 65 (=2 46 )ZN 03) (n=2,3,4,5-)
D-C80C n=2,4,6.)Note =234, CS2
D-G501
D-K590] 5 15 75 15 + 50£"T’2) 75 + 55 (n - 2)
D-B50 (n=2, 4, 6.) Note3) (n=2,3,4,5-)
D-B64
(n-2)
20 + 50 < 75+ 55 (n - 2)
D-B59W 10 20 75
59 (n=2,4,6.)Note3) (n=2,3,4,5+)
X . Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting
With 2 auto switches
Different surfaces Note 1) Same surface Note 1)
A 15
Auto switch model ’—H—" "‘
B
The auto switch is mounted by slightly displacing it in a
Correct auto switch mounting position is 3.5 mm from the back | direction (cylinder tube circumferential exterior) so that the
face of the switch holder. auto switch and lead wire do not interfere with each other.
EHAED Less than 20 stroke Note 2) Less than 55 stroke Note 2)
D-M9CIW 0-0]
D-M9JA Less than 20 stroke Note 2) Less than 60 stroke Note 2)
D-A90) — Less than 50 stroke Note 2) X0

Note 2) Minimum stroke for auto switch mounting in types other than those mentioned in Note 1.

359



CG1 series

Auto Switch Mounting Brackets/Part No.

Bore size (mm;
Auto switch model (mm)

20 25 32 40 50 63 80 100
Bjmgngv BMA3-020 | BMA3-025 | BMA3-032 | BMA3-040 | BMA3-050 | BMA3-063 .
D-A9C1(V) ) (Asetofa,b,c,d)|(Asetofa,b,c,d)|(Asetofa,b,c d)|(Asetofa,b,c, d)|(Asetofa,b,c,d)|(Asetofa,b,c,d)

BMA3-020S BMA3-0258 BMA3-0328 BMA3-040S BMA3-050S BMA3-063S

| Note 2)
D-MODANV) ™ (xSt of b, o, d, &) | (A set of b, c, d, &) | (A setof b, c, d, €) | (A set of b, G, d, &) | (A set of b, c, d, €) | (A set of b, c, d, &)

Switch bracket (Resin)

Auto switch
Transparent (Nylon) Nete 1)
e | White (PBT)

7

o

b

Auto switch mounting band

+ Band (c) is mounted so that the projected part is
on the internal side (contact side with the tube).

D-H7NF BMA2-020A BMA2-025A BMA2-032A BMA2-040A BMA2-050A BMA2-063A
D-C70/C80 (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)

D-C73C/C80C

BMA2-020AS | BMA2-025AS | BMA2-032AS | BMA2-040AS | BMA2-050AS | BMA2-063AS

D-H7BA (Asetof band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)

D-G5C1/K59
D-G50W/K59W
D-G5BA/G59F BA-01 BA-02 BA-32 BA-04 BA-05 BA-06 BA-08 BA-10
B-ggg'll'BG‘l (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-B59W

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform, methylamines, hydrochloric acid or sulfuric
acid is splashed over, so it cannot be used.
Please contact SMC regarding other chemicals.

Note 2) As the indicator LED is projected from the switch unit, indicator LED may be damaged if the switch bracket is fixed on the indicator LED.

Band Mounting Brackets Set Part No.
Set part no. Contents
BMAZ.DDDA(S) - Auto switch mounting band (c)
# 8: Stainless steel screw | - Auto switch mounting screw (d)
- Switch bracket (White/PBT) (e)
BJ4-1 - Switch holder (b)
- Switch bracket (Transparent/Nylon) (a)
BJ5-1 . Switch holder (b)

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating environment.
(Since the auto switch mounting bracket is not included, order it separately.)
BBA3: D-B5/B6/G5/K5 types
Note 3) Refer to page 1681 for details on the BBA3.
When the D-G5BA type auto switch is shipped independently, the BBA3 is attached.

® 360



Operating Range

Auto Switch Mounting CG1 Series

= Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change
substantially depending on the ambient environment.

Cylinder Mounting Bracket, by Stroke/Auto Switch Mounting Surfaces

st: Stroke (mm)

(mm)
. Bore size
Auto switch model 20 25 32 40 50 63 80 100
D-M9LI(V)
D-M9OCIW(V) 45 5.0 45 55 5.0 55 — — T
D-M9TIA(V)
D-A90) 7 6 8 8 8 9 — — CJP
D-C7/C80 8 10 9 10 10 11 — —
D-C73C/C80C CJZ
D-B501/B64 8 10 9 10 10 11 11 11
D-B59W 13 13 14 14 14 17 16 18
JCM
D-H7C/H7OW . . 5 s . 65 _ _
D-H7NF/H7BA - - M2
D-H7C 7 8.5 9 10 9.5 10.5 — —
D-G50/G5W/G59F
DY R =Rl 4 4 45 5 6 65 65 7 CM3
D-G5NT 4 4 45 5 6 6.5 6.5 7 m
CG3
JMB
MB

Basic, Foot, Flange, Clevis Trunnion
Auto switch model With 1 pc. With 2 pes. With 2 pes. With 1 pe. With 2 pes. With 2 pes.
(Rod cover side) | (Different surfaces) | (Same surface) (Rod cover side) | (Different surfaces) | (Same surface)
Auto switch mounting
surface Port surface Port surface Port surface 0
S S e S
& " @ k2
Auto switch type
D-M9CI(V)
D-M9CIW(V)
D-M9LIA(V) 10 st or more 15 to 44 st 45 st or more 10 st or more 15 to 44 st 45 st or more
D-A90]
D-C7/C8 10 st or more 15 to 49 st 50 st or more 10 st or more 15 to 49 st 50 st or more
D-H7O/H70W
D-H7BA/H7NF 10 st or more 15 to 59 st 60 st or more 10 st or more 15 to 59 st 60 st or more
D-H7C/C73C/C80C 10 st or more 15 to 64 st 65 st or more 10 st or more 15 to 64 st 65 st or more
D-G5/K5/B5/B6
D-G500W/K59W/G5BA 10 st or more 1510 74 st 75 st or more 10 st or more 1510 74 st 75 st or more
D-G59F/G5NT
D-B59W 15 st or more 20to 74 st 75 st or more 15 st or more 20 to 74 st 75 st or more

* Trunnion type is not available for 80 and ¢100.
* Adjust the auto switch mounting angle according to the customer’s application.

L e e e e e i i -
1 Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
I Referto pages 1575 to 1701 for the detailed specifications. 1
1 Type Model Electrical entry Features Applicable bore size 1
! D-H7A1, H7A2, H7B — !
: Solid state D-H7NW, H7PW, H7BW Diagnostic indication (2-color indicator) 220 to 063 :
1 D-H7BA Water resistant (2-color indicator) 1
1 D-G5NT Grommet (In-line) With timer 20 to 6100 1
1 D-C73, C76 — I
1 Reed D-C80 Without indicator light 02010 063 1
I D-B53 — 20 to 8100 I
L With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1648 and 1649. !
L + Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to page 1593. JI

361



CG1 series

Made to Order: Individual Specifications

Please contact SMC for detailed dimensions, specifications and lead times.

n PTFE Grease

Applicable to environments incompatible with mineral oil
PTFE grease (fluorine grease) is used as the lubricating grease.

Applicable Series

Description Model Action Note
Double acting, Except with
Standard type ca Single rod air cushion

How to Order
Standard model no. |- X446

PTFE greasel

® 362

Symbol
-X446

Specifications: Same as standard type
Dimensions: Same as standard type
+ When grease is necessary for maintenance, grease pack is available,

please order it separately.
GR-F-005 (Grease: 5 g)



CG1 series

Specific Product Precautions 1

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

<Precautions on each series>

\ Disassembly/Replacement |

Handling \

A\ Warning

1.

w

S

(4]

Do not operate the cushion valve in the fully closed or
fully opened state.

Using it in the fully closed state will cause the cushion seal to be
damaged. Using it in the fully opened state will cause the piston
rod assembly or the cover to be damaged.

. Do not turn the cushion valve the number of rotations

shown below or more from its fully closed state.
If it is turned the number of rotations shown below or more, the
cushion valve may come off.

Bore size (mm) Rotations Hexagon wrench nominal size
20 2 1.5
25 45 15
32 4.5 1.5
40 5 1.5
50 3 3
63 4.5 3
80 5 4
100 5 4

. Do not open the cushion valve after rotating it

numerous times in a row. Though uncommon, there
are cases in which the cushion valve may leak air.
The cushion valve should be adjusted by gradually opening it while
checking the operation of the cylinder cushion. In the unlikely event
that air leakage occurs, return the cushion needle to the fully-closed
state, and readjust the cushion needle to the desired position.

. Operate within the specified cylinder speed and kinetic energy.

Otherwise, cylinder and seal damage may occur.

. When a cylinder is operated with one end fixed and other

free (basic, flange types), a bending moment may act on
the cylinder due to the vibration generated at the stroke
end, which can damage the cylinder. In such a case,
install a mounting bracket to suppress the vibration of
the cylinder body or reduce the piston speed so that the
cylinder does not vibrate. Also, use a mounting bracket
to suppress vibrations when moving the cylinder body or
when a cylinder is operated horizontally and fixed at one
end at a high speed and frequency.

A\ Caution

1.

N

w

»

o

Use caution regarding the cushion performance in the
low-speed range.

There may be individual performance and effect variances when
used near 50 mm/s. Please consult with SMC about usage.

. Do not apply excessive lateral load to the piston rod.

Easy checking method

Minimum operating pressure after the cylinder is mounted to the equipment
(MPa) = Minimum operating pressure of cylinder (MPa) + {Load weight (kg)
x 9.8 x Friction coefficient of guide/Sectional area of cylinder (mm2)}

If smooth operation is confirmed within the above value, the load
on the cylinder is the resistance of the thrust only and it can be
judged as having no lateral load.

. Do not use the air cylinder as an air-hydro cylinder.

This may result in oil leak.

. Install a rod boot without twisting.

If the cylinder is installed with its bellows twisted, it could damage the bellows.

. Tighten clevis bracket mounting bolts with the

following proper tightening torque.
220: 1.5 N-m, 925 to 32: 2.9 N-m, 940: 4.9 N-m,
©50: 11.8 N-m, 963 to 80: 24.5 N-m, 100: 42.2 N-m

/A Warning

1. Only people who have sufficient knowledge and
experience are allowed to replace seals.
The person who disassembles and reassembles the cylinder is
responsible for the safety of the product. Repeatedly disassembling
and reassembling the product may cause wearing or deformation of
the screws as well as a decline in screw tightening strength. When
reassembling the product, be sure to check the cover and tubing
screws for wear, deformities, or any other abnormalities. Operating
the product with damaged screws may result in the cover or tubing
coming off during operation, which could lead to a serious accident.
Caution must be taken to avoid such incidents.

/\ Caution

1. Do not replace the bushings.
The bushings are press-fit. To replace them, they must be
replaced together with the cover assembly.

2. To replace a seal, apply grease to the new seal before
installing it.
If the cylinder is put into operation without applying grease to the
seal, it could cause the seal to wear significantly, leading to
premature air leakage.

3. Cylinders with 950 or larger bore sizes cannot be
disassembled.
When disassembling cylinders with bore sizes of 620 through 240,
grip the double flat part of either the tube cover or the rod cover with a
vise and loosen the other side with a wrench or a monkey wrench etc.,
and then remove the cover. When re-tightening, tighten approximately
2 degrees more than the original position. (Cylinders with 850 or larger
bore sizes are tightened with a large tightening torque and cannot be
disassembled. If disassembly is required, please contact SMC.)

4. When replacing seals, take care not to hurt your hand
or finger on the corners of parts.

<Precautions on the non-rotating rod type>
\ Handling

A\ Caution

1. Avoid using the air cylinder in such a way that
rotational torque would be applied to the piston rod.
© [f rotational torque is applied, the non-rotating guide will become deformed,
thus affecting the non-rotating accuracy. Refer to the table below for the
approximate values of the allowable range of rotational torque.
Allowable rotational torque 220 025,032 | 040, 650, 663
(N-m or less) 0.2 0.25 0.44
® To screw a bracket or a nut onto the piston rod, make sure to retract
the piston rod entirely, and place a wrench over the flat portion of
the rod that protrudes. Tighten it by giving consideration to prevent
the tightening torque from being applied to the non-rotating guide.

sEEgEREEs e

OIDNDN=
N AN >
N || = ([N || =

\ Disassembly/Replacement \
/\ Caution

1. When replacing rod seals, please contact SMC.

Air leakage may be happened, depending on the position in which a
rod seal is fitted. Thus, please contact SMC when replacing them.

362-1 ®

-XO

Technical
Data

)



CG1 series

Specific Product Precautions 2

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

<End Lock Cylinder Precautions>

Handling

Use the Recommended Pneumatic Circuit |

A Caution

This is necessary for proper operation and release of
the lock.

Head end lock Rod end lock
\ Handling |
A Caution
1. Do not use 3 position solenoid valves.

10.

Avoid use in combination with 3 position solenoid valves
(especially closed center metal seal types). If pressure is
trapped in the port on the lock mechanism side, the cylinder
cannot be locked. Furthermore, even after being locked, the lock
may be released after some time, due to air leaking from the
solenoid valve and entering the cylinder.

. Back pressure is required when releasing the lock.

Be sure air is supplied to the side of the cylinder without a lock
mechanism, (side of the piston rod without lock for double end
lock), before starting up, as in the above figures. Otherwise, the
lock may not be released. (Refer to “Releasing the Lock”.)

. Release the lock when mounting or adjusting the cylinder.

If mounting or other work is performed when the cylinder is
locked, the lock unit may be damaged.

. Operate with a load ratio of 50% or less.

If the load ratio exceeds 50%, this may cause problems such as
failure of the lock to release, or damage to the lock unit.

Do not operate multiple cylinders in synchronization.
Avoid applications in which two or more cylinders with end lock
are synchronized to move one workpiece, as one of the cylinder
locks may not be able to release when required.

. Use a speed controller with meter-out control.

Lock cannot be released occasionally by meter-in control.

Be sure to operate completely to the cylinder stroke
end on the side with the lock.

If the cylinder piston does not reach the end of the stroke,
locking and unlocking may not be possible.

. Do not use the air cylinder as an air-hydro cylinder.

This may result in oil leak.

. Install a rod boot without twisting.

If the cylinder is installed with its bellows twisted, it could
damage the bellows.

Adjust an auto switch position so that it operates for movement
to both the stroke end and backlash (2 mm) positions.

When a 2-color indicator switch is adjusted for green indication
at the stroke end, it may change to red for the backlash return,
but this is not abnormal.

® 362-2

AWarning

1.Do not operate the cushion valve in the fully closed or

fully opened state.

Using it in the fully closed state will cause the cushion seal to be
damaged. Using it in the fully opened state will cause the piston
rod assembly or the cover to be damaged.

2. Operate within the specified cylinder speed.

Otherwise, cylinder and seal damage may occur.

Operating Pressure

A Caution

1. Supply air pressure of 0.15 MPa or higher to the port on the lock
mechanism side, as it is necessary for releasing the lock.

Exhaust Speed

A Caution

1. The lock will be engaged automatically if the pressure applied to

the port on the lock mechanism side falls to 0.05 MPa or less. In
cases where the piping on the lock mechanism side is long and
thin, or the speed controller is separated at some distance from
the cylinder port, the exhaust speed will be reduced. Take note
that some time may be required for the lock to engage. In
addition, clogging of a silencer mounted on the solenoid valve
exhaust port can produce the same effect.

Relation to Cushion

A Caution

1. When cushion valve at lock mechanism side is fully opened or

closed, piston rod may not be reached at stroke end. Thus, lock
is not established. And when locking is done at cushion valve
fully closed, adjust cushion valve since lock may not be released.

Releasing the Lock

AWarning

1. Before releasing the lock, be sure to supply air to the side without a

lock mechanism, so that there is no load applied to the lock
mechanism when it is released. (Refer to the recommended
pneumatic circuits.) If the lock is released when the port on the other
side is in an exhaust state, and with a load applied to the lock unit, the
lock unit may be subjected to an excessive force and be damaged.
Furthermore, sudden movement of the piston rod is very dangerous.

Disassembly/Replacement

A Caution

1. Do not replace the bushings.

The bushings are press-fit. To replace them, they must be
replaced together with the cover assembly.

2. To replace a seal, apply grease to the new seal before installing it.

If the cylinder is put into operation without applying grease to the
seal, it could cause the seal to wear significantly, leading to
premature air leakage.

3. Cylinders with 050 or larger bore sizes cannot be disassembled.

When disassembling cylinders with bore sizes of 820 through
240, grip the double flat part of either the tube cover or the rod
cover with a vise and loosen the other side with a wrench or a
monkey wrench etc., and then remove the cover. When re-
tightening, tighten approximately 2 degrees more than the
original position. (Cylinders with @50 or larger bore sizes are
tightened with a large tightening torque and cannot be
disassembled. If disassembly is required, please contact SMC.)



CGT1 series
Specific Product Precautions 3

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

Working Principle \

Manual Release \

H * The figures below are the same as those for CBA2 series.
A Caution o i1
1. Non-locking type manual release ®Head end lock (Rod end lock is the same.)
Insert the accessory bolt from the top of the rubber cap (it is not 1.When the piston rod is getting closer to the stroke end, the taper part (+) cJP

necessary to remove the rubber cap), and after screwing it into the lock of the piston rod edge will push the lock piston up.
piston, pull it to release the lock. If you stop pulling the bolt, the lock will
return to an operational state.

Thread sizes, pulling forces and strokes are as shown below.

Spring
Lock piston

N

. Locking type manual release

Bore size (mm) Thread size Pulling force Stroke (mm)
20, 25,32  |M25x045x25L ormore 49N 2
40, 50,63  |M3x0.5x30L ormore 10N 3 CMZ
80, 100 M5 x 0.8 x 40 L or more 245N 3 Pressure[— M3

Remove the bolt for normal operation.
It can cause lock malfunction or faulty release.

[
D
wW

Rubber cap

=
o
—

3. The lock piston is pushed up into the groove of the piston rod to lock it.
(The lock piston is pushed up by spring force.) At this time, it is csz
exhausted from the port on the head side and introduced into the
atmosphere.

While pushing the M/O knob, turn it 90° counterclockwise. The lock is 3
released (and remains in a released state) by aligning the amark on |
the cap with the 'WOFF mark on the M/O knob. 1
When locking is desired, turn the M/O knob 90° clockwise while 3
pushing completely down, and align the a mark on the cap with the '
‘WON mark on the M/O knob. The correct position is confirmed by a |
clicking sound. ;
Failure to click it into place properly can cause the lock to disengage. !

./

Locked state

4. When pressure is supplied in the head side, lock piston will be pushed
up to release the lock.

Back pressure

Exhaust ﬁ o

it
I

- w I | Pressure

Locked state Unlocked state

Unlocked state g

5. When the lock is released, the cylinder will move forward.




	Air Cylinder: CG1 Series
	Features
	Pg. 2
	Pg. 3
	Pg. 4

	How to Order CG1, Double Acting, Single Rod, Standard
	Specifications, Standard Strokes
	Rod Boot Material, Mounting Brackets, Accessories
	Weights, Built-in One-touch Fittings, Clean Series
	Air-hydro, Water Resistant
	Stable Lubrication
	Construction
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8
	Pg. 9
	Pg. 10

	Dimensions of Accessories
	Pg. 2


	How to Order CG1W, Double Acting, Double Rod, Standard
	Specifications, Accessories, Standard Strokes
	Weights, Mounting Brackets, Air-hydro
	Construction
	Dimensions
	Pg. 2
	Pg 3
	Pg. 4


	How to Order CG1, Single Acting, Spring Return/Extend, Standard
	Specifications, Accessories, Standard Strokes
	Weights
	Construction
	Dimensions
	Pg. 2
	Pg. 3


	How to Order CG1K, Double Acting, Non-rotating Rod
	Specifications, Accessories, Standard Strokes
	Weights, Mounting Brackets/Part No.
	Construction
	Dimensions

	How to Order CG1KW, Double Acting, Double Rod, Non-rotating Rod
	Specifications, Accessories, Standard Strokes
	Construction
	Dimensions

	How to Order CG1R, Double Acting, Direct Mount
	Specifications, Standard Strokes
	Weights, Accessories
	Construction
	Dimensions

	How to Order CG1KR, Direct Mount, Non-rotating Rod
	Specifications, Weights, Standard Strokes, Accessories
	Construction
	Dimensions

	How to Order CBG1, w/End Lock
	Specifications, Standard Stroke
	Construction
	Pg. 2

	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5


	How to Order CG1*Q, Double Acting, Single Rod, Low Friction
	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7

	Made to Order
	Specific Product Precautions 1
	Specific Product Precautions 2
	Specific Product Precautions 3




